TS Register No: 51/2020-2021 AS Register No:60/2020-2021

## UP GRADATION OF GOVT ITI KATTAPPANA ON PAR WITH INTERNATIONAL STANDARDS- PHASE 1-REV 3

**Detailed Estimate** 

(Dsor year: 2016,Cost Index Applied for this estimate is 48.71%)

SI No	Description	No	L	В	D	CF	Quantity	Remark
		1 ACAI	DEMIC BLO	CK PILING	WORKS			
1	od266001/2019_2020 Boring, providing and specified diameter and excluding the cost of stemporary casing of ap be embedded in the pill chisel technique by trip earth with all its lifts ar 700 mm dia piles.	d length bel steel reinfo opropriate le le cap etc. b ood and me	ow the pile rcement bu ength for se by percussic chanical Wi	cap, to carr t including t tting out and on drilling us nch Machine	y a safe wo he cost of I I removal of ing Direct me all comple	orking load opering with same and nud circulationte, including	not less that bentonite so the length of on (DMC) or g removal of	n specified plution and f the pile to Bailer and excavate
	P1	67	12.700		13	ķ.,	850.900	
	P2	8	12.700	3575			101.600	
			The Con-	on of 1	Tota	al Quantity	952.500 m	etre
		th on En		To	tal Deducte	d Quantity	0.000 met	re
		tner Er	<del>igineen</del>	n <del>g Orga</del>	Net Tota	al Quantity	952.500 m	netre
		D	Say 952	.500 metre (	@ Rs 4748.6	60 / metre	Rs 452	3041.50
2	od8684/2020_2021  Vertical load testing of and preparation of pile as per specification & tonne capacity, Initial t	head or cor the directio	nstruction of n of engine	test cap and er -in-Charg	d dismantlin e. Single pi	g of test cap le above 10	o after test et 00 tonne and	c.complet
		1					1.000	
					Tota	al Quantity	1.000 per	test
				To	tal Deducte	<u> </u>	0.000 per	
						al Quantity	1.000 per	
			Sav 1.000	per test @ F		•		608.85
3	od8688/2020_2021 Vertical load testing of platformand preparation etc.complete as per spandup to 153 tonne content to the content of the cont	on of pile ho	accordance ead or cons & the direc	with IS 29 struction of t	11( Part IV est cap and neer -in-Ch	) including d dismantlin arge. Single	installation ag of test ca e pile above	of loadir p after te 100 tonr

		1					1.000	
					Tota	al Quantity	1.000 per	test
				То	tal Deducte	d Quantity	0.000 per	test
					Net Tota	al Quantity	1.000 per	test
			Say 1.000	per test @ F	Rs 39727.13	3 / per test	Rs 39	727.13
4	20.9 Integrity testing of pile with IS 14893 including concrete lumps etc. and test & submission of retail the above item in the skeeping in view the quantum control to the skeeping in view the	ng surface point and use of contesting the second s	oreparation nputerised e mplete as p work shall be	of pile top equipment are er direction e judiciously	by removin nd high skill of Enginee decided by	g soil, mud trained pers r-in-charge. the technic	I, dust & ch sonal for cor Note:- The	ipping lead inducting the inclusion o
		1	110	MJ			1.000	
			43 8	8	Tota	al Quantity	1.000 per	test
		61"	Y 1/2	То	tal Deducte	d Quantity	0.000 per	test
					Net Tota	al Quantity	1.000 per	test
5	5.22.6		Say 1.000	) per test @	Rs 1116.74	/ per test	Rs 1	116.74
5	5.22.6 Steel reinforcement for binding all complete to P1		ork including	g straighten	ing, cutting	, bending,	placing in p	osition and
5	Steel reinforcement for binding all complete to	ipto plinth le	ork including evelThermo	g straighten - Mechanio	ing, cutting	, bending, d bars of g	placing in p	osition and
5	Steel reinforcement for binding all complete to P1	opto plinth le 67/4	ork including evelThermo	g straighten - Mechanio .7*.7	ing, cutting cally Treate 3.140	, bending, d bars of g	placing in p rade Fe-500 25856.597	osition and
5	Steel reinforcement for binding all complete to P1	opto plinth le 67/4	ork including evelThermo	g straighten - Mechanio .7*.7	ing, cutting cally Treate 3.140	, bending, d bars of g 79.0 97.0 al Quantity	placing in p rade Fe-500 25856.597 3790.803	osition and DD or more kilogram
5	Steel reinforcement for binding all complete to P1	opto plinth le 67/4	ork including evelThermo	g straighten - Mechanio .7*.7	ing, cutting cally Treate 3.140 3.140 Total	, bending, d bars of g 79.0 97.0 al Quantity	placing in p rade Fe-500 25856.597 3790.803 29647.400	osition and DD or more kilogram gram
5	Steel reinforcement for binding all complete to P1	67/4 8/4	evelThermo 12.700 12.700	g straighten - Mechanio .7*.7	ing, cutting cally Treate 3.140 3.140 Total Deducte Net Total	, bending, d bars of g 79.0 97.0 al Quantity d Quantity al Quantity	placing in p rade Fe-500 25856.597 3790.803 29647.400 0.000 kilo	osition and DD or more kilogram gram
5 SI No	Steel reinforcement for binding all complete to P1	67/4 8/4	evelThermo 12.700 12.700	g straighten - Mechanic .7*.7 .7*.7	ing, cutting cally Treate 3.140 3.140 Total Deducte Net Total	, bending, d bars of g 79.0 97.0 al Quantity d Quantity al Quantity	placing in p rade Fe-500 25856.597 3790.803 29647.400 0.000 kilo	osition and DD or more kilogram gram kilogram
	Steel reinforcement for binding all complete to P1 P2	8/4 Sa	ay 29647.40	g straighten - Mechanic .7*.7 .7*.7	ing, cutting cally Treate 3.140 3.140 Total Deducte Net Total Rs 84.17	, bending, d bars of g 79.0 97.0 al Quantity d Quantity kilogram	placing in p rade Fe-500 25856.597 3790.803 29647.400 0.000 kilon 29647.400 Rs 249	osition and DD or more kilogram kilogram 5421.66
	Description  2.8.1 Earth work in excavar trenches or drains (no ramming of bottoms,	Sa No 2 ACA tion by mechat exceeding lift up to 1.5	ay 29647.40  DEMIC BLC  chanical me	g straighten - Mechanic7*.7  .7*.7  To  O kilogram © B  OCK CIVIL V  ans (Hydraividth or 10 sing getting o	ing, cutting cally Treate 3.140 3.140 Total Deducte Net Total Deducte Deducte Net Total Deducte Deduct	, bending, d bars of g 79.0 97.0 al Quantity d Quantity / kilogram CF  tor) /manua	placing in prade Fe-500 25856.597 3790.803 29647.400 0.000 kilon 29647.400 Rs 249 Quantity all means in dressing of	kilogram kilogram kilogram s421.66 Remark
SI No	Steel reinforcement for binding all complete to P1 P2  Description  2.8.1 Earth work in excavaratrenches or drains (not be binding all complete to p. 1.2.  Description	Sa No 2 ACA tion by mechat exceeding lift up to 1.5	ay 29647.40  DEMIC BLC  chanical me	g straighten - Mechanic7*.7  .7*.7  To  O kilogram © B  OCK CIVIL V  ans (Hydraividth or 10 sing getting of m.All kind	ing, cutting cally Treate 3.140 3.140 Total Deducte Net Total Deducte Deducte Net Total Deducte Deduct	, bending, d bars of g 79.0 97.0 al Quantity d Quantity / kilogram CF  tor) /manua	placing in prade Fe-500 25856.597 3790.803 29647.400 0.000 kilon 29647.400 Rs 249 Quantity all means in dressing of	kilogram kilogram kilogram s421.66 Remark
SI No	Description  2.8.1 Earth work in excavar trenches or drains (no ramming of bottoms,	Sa No 2 ACA tion by mechat exceeding lift up to 1.5	ay 29647.40  DEMIC BLC  chanical me	g straighten - Mechanic7*.7  .7*.7  To  O kilogram © B  OCK CIVIL V  ans (Hydraividth or 10 sing getting o	ing, cutting cally Treate 3.140 3.140 Total Deducte Net Total Deducte Deducte Net Total Deducte Deduct	, bending, d bars of g 79.0 97.0 al Quantity d Quantity / kilogram CF  tor) /manua	placing in prade Fe-500 25856.597 3790.803 29647.400 0.000 kilon 29647.400 Rs 249 Quantity all means in dressing of	kilogram kilogram kilogram s421.66 Remark
SI No	Description  2.8.1 Earth work in excavaratrenches or drains (no ramming of bottoms, excavated soil as direction)	Sa No 2 ACA tion by med of exceeding lift up to 1.5 ected, within	ay 29647.40  DEMIC BLC  chanical me g 1.5 m in w is m, includir a lead of 5	g straighten - Mechanic - 7*.7  - 7*.7  To  O kilogram © B  OCK CIVIL V  ans (Hydraividth or 10 sing getting of m.All kind) PILE CAP	ing, cutting cally Treate 3.140 3.140 Total Deducte Net Total Rs 84.17 D VORKS  ulic excava agm on plar ut the excauds of soil	, bending, d bars of g 79.0 97.0 al Quantity d Quantity / kilogram CF  tor) /manua	placing in prade Fe-500 25856.597 3790.803 29647.400 0.000 kilo 29647.400 Rs 249 Quantity  all means in grand disposa	kilogram kilogram kilogram s421.66 Remark

	PC4	1	3.100	1.700	1.150		6.061	
		1						
	Grade beam B5	ı	9.500	0.700	0.300	 al Quantity	1.995 217.417 c	um
				To	otal Deducte		0.000 cum	
						al Quantity	217.417 c	
			Sav	217.417 cu	m @ Rs 247	<u> </u>		799.84
2	15.3  Demolishing R.C.C. wo of unserviceable mater	•			J	ū		nd disposa
			PI	LE CHIPPIN	NG			
		75/4	3.140	.7*.7	0.725		20.916	
			_//W	W.	Tota	al Quantity	20.916 cu	m
		-	43 6	To	otal Deducte	d Quantity	0.000 cum	1
		11	DA II	31/1	Net Tota	al Quantity	20.916 cu	m
		14	Say	20.916 cum	@ Rs 2163	3.06 / cum	Rs 45	242.56
		75/4	3.140	LE CHIPPIN	0.725		20.916	
				_		al Quantity	20.916 cu	
				10	otal Deducte		0.000 cum	
			Sa	v 20 016 cu	m @ Rs 179	al Quantity	20.916 cu	''' '49.61
1	od8689/2020_2021		Sa	y 20.910 Cui	III @ K5 178	5.27 / Culli	K5 37	45.01
4	Providing 10cm to 20cmaterial, to stabilize exmaterials, labour, mach	cavated so	il and prepa	re the exca	vated surfactive surfactions of the contraction of	ce for laying	PCC comp	
		41		UNDER P			14 000	
	DC1	44.1	1.200	1.200	0.200		11.808	
	PC1		2.400		0.200		7 /100	
	PC2	13	2.400	1.200	0.200		7.488	
	PC2 PC3	13 6	1.300	1.200	0.200		1.873	
	PC2	13		1.200				

					Total C	uantity	16.103 cum	l
				To	otal Deducted Q	uantity	0.000 cum	
					Net Total Q	uantity	16.103 cum	l
			Say	16.103 cum	@ Rs 2529.06	/ cum	Rs 4072	25.45
5	2.25 Filling available exceeding 20 cm in and lift up to 1.5 m.	,	•	•	•			•
			EXCAVA	TION FOR I	PILE CAP		T	
	PC1	41	1.600	1.600	1.150		120.705	
	PC2	13	2.800	1.600	1.200		69.888	
	PC3	6	1.700	1.600	1.150		18.768	
	PC4	1	3.100	1.700	1.150		6.061	
	Grade beam B5	1	9.500	0.700	0.300		1.995	
		12	DEDUCE F	CC UNDEF	R PILE CAP			
	PC1	41	1.200	1.200	0.150	1	-8.856	
	PC2	13	2.400	1.200	0.150		-5.616	
	PC3	6	1.300	1.200	0.150		-1.404	
	PC4	Other En	gi <u>2.70</u> 611	ng.306g	anisstions	5	-0.526	
			DEC	UCE PILE	CAP			
	PC1	41	1.000	1.000	0.800		-32.800	
	PC2	13	2.200	1.000	0.850		-24.310	
	PC3	6	1.100	1.000	0.800		-5.280	
	PC4	1	2.500	1.100	0.800		-2.200	
			DEDUCE SC	LING UND	ER PILE CAP			
	PC1	41	1.200	1.200	0.200		-11.808	
	PC2	13	2.400	1.200	0.200		-7.488	
	PC3	6	1.300	1.200	0.200		-1.872	
	PC4	1	2.700	1.300	0.200		-0.702	
		PI	LINTH FILLIN	NG BELOW	GRADE SLAB			
		2	4.350	5.300	0.300		13.833	
		3	4.900	5.300	0.300		23.373	
		1	6.500	5.300	0.300		10.335	
		1	2.100	5.300	0.300		3.339	

	0.700			
1	2.500	2.300	0.300	1.725
1	2.500	2.700	0.300	2.025
1	2.200	2.400	0.300	1.584
1	2.800	2.400	0.300	2.016
1	4.350	5.000	0.300	6.525
1	4.900	5.000	0.300	7.350
1	6.500	5.000	0.300	9.750
1	5.450	5.000	0.300	8.175
1	5.700	5.000	0.300	8.550
3	0.900	1.300	0.300	1.054
1	2.300	3.400	0.300	2.346
1	1.200	2.600	0.300	0.936
2	1.100	2.400	0.300	1.584
1	3.900	3.000	0.300	3.510
1	4.350	3.000	0.300	3.915
1	7.450	3.000	0.300	6.705
1	7.000	3.000	0.300	6.300
Other En	gi6.60011	ng.000g	ano.30010	ns 5.940
1 1	9.000	3.000	0.300	8.100
1	6.700	3.000	0.300	6.030
1	6.100	5.600	0.300	10.248
1	5.700	5.600	0.300	9.576
1	2.600	5.600	0.300	4.368
1	3.000	5.600	0.300	5.040
2	4.800	5.600	0.300	16.128
1	1.500	5.600	0.300	2.520
1	5.000	5.600	0.300	8.400
1	3.700	5.600	0.300	6.216
4	2.400	1.420	0.300	4.090
1	1.200	5.600	0.300	2.016
1	6.100	5.700	0.300	10.431
1	5.700	5.700	0.300	9.747
	1			<del>                                     </del>

		1	3.000	5.700	0.300		5.130	
		1	4.800	5.700	0.300		8.208	
		1	1.500	5.700	0.300		2.565	
		1	5.000	5.700	0.300		8.550	
		2	2.250	1.300	0.300		1.756	
		1	2.300	3.000	0.300		2.070	
		1	2.900	3.850	0.300		3.350	
		2	1.600	2.400	0.300		2.304	
		2	1.800	2.400	0.300		2.592	
		1	3.300	3.850	0.300		3.812	
		1	2.300	5.550	0.300		3.830	
		4	1.300	1.000	0.300		1.560	
		1	1.600	3.550	0.300		1.704	
	RAMP	1	4.000	4.800	0.300		5.760	
		1/51		15	Tota	al Quantity	513.280 c	um
		400		To	tal Deducte	d Quantity	-102.862	cum
		400		To		d Quantity al Quantity	-102.862 410.418 c	
		Other Er	nginesay	m or 12/	Net Tota	al Quantity	410.418 c	
6	4.1.8 Providing and laying is shuttering - All work in nominal size)	n position ce	ement concr	410.418 cu	Net Tota	al Quantity 1.00 / cum excluding th	410.418 c Rs 76	rum 748.17 ntering and
6	4.1.8 Providing and laying i	n position ce	ement concr level:1:4:8 (*	410.418 cu	Net Tota m @ Rs 187 fied grade e 4 coarse sa	al Quantity 1.00 / cum excluding th	410.418 c Rs 76	rum 748.17 ntering and
6	4.1.8 Providing and laying i	n position ce	ement concr level:1:4:8 (*	410.418 curete of special cement :	Net Tota m @ Rs 187 fied grade e 4 coarse sa	al Quantity 1.00 / cum excluding th	410.418 c Rs 76	rum 748.17 ntering and
6	4.1.8 Providing and laying is shuttering - All work in nominal size)	n position coup to plinth	ement concr level:1:4:8 (* PCC UN	410.418 curete of special cement :	Net Tota m @ Rs 187 fied grade e 4 coarse sa	al Quantity 1.00 / cum excluding th	Rs 76 e cost of ceed stone ag	rum 748.17 ntering and
6	4.1.8 Providing and laying is shuttering - All work in nominal size)  B1(GRID 1-K)	n position coup to plinth	ement concr level:1:4:8 (* PCC UN 36.600	ete of speci 1 cement : DER GRAD	Net Tota m @ Rs 187 fied grade e 4 coarse sa DE BEAM 0.100	al Quantity 1.00 / cum excluding th	e cost of ce ed stone ag	rum 748.17 ntering and
6	4.1.8 Providing and laying is shuttering - All work in nominal size)  B1(GRID 1-K) B2(GRID 3-3)	n position coup to plinth	PCC UN 36.600 33.600	ete of speci 1 cement : DER GRAD 0.500 0.500	Net Tota m @ Rs 187 fied grade e 4 coarse sa DE BEAM 0.100 0.100	al Quantity 1.00 / cum excluding th	410.418 of Rs 76 e cost of ce ed stone ag 1.830 1.681	rum 748.17 ntering and
6	4.1.8 Providing and laying is shuttering - All work in nominal size)  B1(GRID 1-K) B2(GRID 3-3) B2(GRID 4-4)	n position coup to plinth  1  1	PCC UN  36.600  39.050	410.418 curete of special cement :  DER GRAD  0.500  0.500	Net Total m @ Rs 187 fied grade et 4 coarse sa DE BEAM 0.100 0.100 0.100	al Quantity 1.00 / cum excluding th	410.418 of Rs 76 e cost of ceed stone age 1.830 1.681 1.953	rum 748.17 ntering and
6	4.1.8 Providing and laying is shuttering - All work in nominal size)  B1(GRID 1-K) B2(GRID 3-3) B2(GRID 4-4) B3(GRID 1-K)	n position coup to plinth  1  1  1	PCC UN  36.600  39.050  70.970	410.418 curete of special cement :  DER GRAD  0.500  0.500  0.500	Net Total m@ Rs 187 fied grade et 4 coarse sa DE BEAM 0.100 0.100 0.100	al Quantity 1.00 / cum excluding th	410.418 of Rs 76 e cost of ceed stone age 1.830 1.681 1.953 3.549	rum 748.17 ntering and
6	4.1.8 Providing and laying is shuttering - All work in nominal size)  B1(GRID 1-K) B2(GRID 3-3) B2(GRID 4-4) B3(GRID 1-K) B4(GRID 1-1)	n position coup to plinth  1  1  1  1	PCC UN  36.600  39.050  70.970  42.650	410.418 curete of special cement :  DER GRAD  0.500  0.500  0.500  0.500  0.500	Net Total m @ Rs 187 fied grade et 4 coarse sa DE BEAM 0.100 0.100 0.100 0.100 0.100	al Quantity 1.00 / cum excluding th	1.830 1.681 1.953 2.133	rum 748.17 ntering and
6	4.1.8 Providing and laying is shuttering - All work in nominal size)  B1(GRID 1-K) B2(GRID 3-3) B2(GRID 4-4) B3(GRID 1-K) B4(GRID 1-1) B4(GRID 2-2)	n position coup to plinth  1 1 1 1 1 1	PCC UN  36.600  39.050  70.970  42.650  51.560	410.418 curete of special cement : 410.500 0.500 0.500 0.500 0.500 0.500 0.500	Net Total m @ Rs 187 fied grade e 4 coarse sa DE BEAM 0.100 0.100 0.100 0.100 0.100	al Quantity 1.00 / cum excluding th	1.830 1.681 1.953 2.133 2.579	rum 748.17 ntering and
6	4.1.8 Providing and laying is shuttering - All work in nominal size)  B1(GRID 1-K) B2(GRID 3-3) B2(GRID 4-4) B3(GRID 1-K) B4(GRID 1-1) B4(GRID 2-2) B4(GRID 5-5)	n position coup to plinth  1 1 1 1 1 1 1	PCC UN  36.600  33.600  39.050  70.970  42.650  51.560  33.240	410.418 curete of special cement : 410.500 0.500 0.500 0.500 0.500 0.500 0.500 0.500	Net Total m @ Rs 187 fied grade 6 4 coarse sa DE BEAM 0.100 0.100 0.100 0.100 0.100 0.100	al Quantity 1.00 / cum excluding th	1.830 1.681 1.953 2.133 2.579 1.663	rum 748.17 ntering and
6	4.1.8 Providing and laying is shuttering - All work in nominal size)  B1(GRID 1-K) B2(GRID 3-3) B2(GRID 4-4) B3(GRID 1-K) B4(GRID 1-1) B4(GRID 2-2) B4(GRID 5-5) B4(GRID 6-6)	n position coup to plinth  1 1 1 1 1 1 1 1 1	PCC UN  36.600  33.600  39.050  70.970  42.650  51.560  33.240  42.350	410.418 curete of special cement : 40.500 0.500 0.500 0.500 0.500 0.500 0.500 0.500	Net Total m @ Rs 187 fied grade 6 4 coarse sa DE BEAM 0.100 0.100 0.100 0.100 0.100 0.100 0.100	al Quantity 1.00 / cum excluding th	1.830 1.681 1.953 3.549 2.133 2.579 1.663 2.118	rum 748.17 ntering and

B4(GRID B-B)	1	20.110	0.500	0.100	1.006
B4(GRID C-C)	1	21.640	0.500	0.100	1.082
B4(GRID D-D)	1	9.200	0.500	0.100	0.460
B4(GRID E-E)	1	20.750	0.500	0.100	1.038
B4(GRID F-F)	1	30.990	0.500	0.100	1.550
B4(GRID G-G)	1	10.310	0.500	0.100	0.516
B4(GRID H-H)	1	20.830	0.500	0.100	1.042
B4(GRID I-I)	1	21.390	0.500	0.100	1.070
B4(GRID J-J)	1	24.110	0.500	0.100	1.206
B4(GRID K-K)	1	8.000	0.500	0.100	0.400
B4(GRID 7-8)	1	23.220	0.500	0.100	1.161
B5(GRID G-G)	1	9.500	0.500	0.100	0.476
B6(GRID 5-5)	1	11.610	0.500	0.100	0.581
		PCC BE	LOW GRAD	DE SLAB	
	2	4.350	5.300	0.100	4.611
	3	4.900	5.300	0.100	7.792
	1	6.500	5.300	0.100	3.445
	Other E	gi2110011i	ngs.300g	ano 300 ions	1.114
	1	2.500	2.300	0.100	0.576
	1	2.500	2.700	0.100	0.675
	1	2.200	2.400	0.100	0.528
	1	2.800	2.400	0.100	0.672
	1	4.350	5.000	0.100	2.176
	1	4.900	5.000	0.100	2.450
	1	6.500	5.000	0.100	3.250
	1	5.450	5.000	0.100	2.725
	1	5.700	5.000	0.100	2.850
	3	0.900	1.300	0.100	0.352
	1	2.300	3.400	0.100	0.782
	1	1.200	2.600	0.100	0.313
	2	1.100	2.400	0.100	0.528
	1	3.900	3.000	0.100	1.170
	1	4.350	3.000	0.100	1.305

	1	7.450	3.000	0.100		2.236	
	1	7.000	3.000	0.100		2.100	
	1	6.600	3.000	0.100		1.980	
	1	9.000	3.000	0.100		2.700	
	1	6.700	3.000	0.100		2.011	
	1	6.100	5.600	0.100		3.416	
	1	5.700	5.600	0.100		3.192	
	1	2.600	5.600	0.100		1.456	
	1	3.000	5.600	0.100		1.680	
	2	4.800	5.600	0.100		5.376	
	1	1.500	5.600	0.100		0.840	
	1	5.000	5.600	0.100		2.801	
	1	3.700	5.600	0.100		2.072	
	4	2.400	1.420	0.100		1.364	
	1	1.200	5.600	0.100	L	0.672	
	1	6.100	5.700	0.100		3.477	
	1	5.700	5.700	0.100		3.250	
	ther En	gi5.2001i	ngs.700°g	anosocio	ns	2.965	
-	1	3.000	5.700	0.100	7	1.711	
	1	4.800	5.700	0.100	1	2.736	
	1	1.500	5.700	0.100		0.856	
	1	5.000	5.700	0.100		2.850	
	2	2.250	1.300	0.100		0.586	
	1	2.300	3.000	0.100		0.690	
	1	2.900	3.850	0.100		1.117	
	2	1.600	2.400	0.100		0.768	
	2	1.800	2.400	0.100		0.865	
	1	3.300	3.850	0.100		1.271	
	1	2.300	5.550	0.100		1.277	
	4	1.300	1.000	0.100		0.520	
	1	1.600	3.550	0.100		0.568	
RAMP	1	4.000	4.800	0.150		2.880	
		PCC l	JNDER PILI	E CAP			

	DC4	4.4	4.000	4 000	0.450		0.050	
	PC1	41	1.200	1.200	0.150		8.856	
	PC2	13	2.400	1.200	0.150		5.616	
	PC3	6	1.300	1.200	0.150		1.404	
	PC4	1	2.700	1.300	0.150		0.527	
	DEDUCE PILE AREA	-75/4	3.140	.7*.7	0.150		-4.327	
				C FOR RAI				
	WORKSHOP	1	5.430	3.950	0.200		4.290	
	FRONT	1	4.530	0.400	0.200		0.363	
					Tota	al Quantity	146.989 c	um
			R	To	tal Deducte	d Quantity	0.000 cum	า
			1933	199	Net Tota	al Quantity	146.989 c	um
			Say 1	46.989 cum	@ Rs 6659	9.46 / cum	Rs 978	3867.37
						. 1 aradad	etana aggrad	
	shuttering - All work up nominal size)	to plinth lev	vel:1:2:4 )1 c	cement : 2 c	oarse sand	. 4 graded s	storie aggre	gate 40 mm
	•	to plinth lev	LKQ.	CC FOR RAI	عرافي و	. 4 graded s	storie aggreț	gate 40 mm
	•	to plinth lev	LKQ.		عرافي و	. 4 graded s	4.538	gate 40 mm
	nominal size) WORKSHOP		PC 6.050	C FOR RAI	MP 0.150		T	gate 40 mm
	nominal size)  WORKSHOP	1	PC 6.050	5.000	0.150		4.538	
	nominal size)  WORKSHOP	1	PC 6.050	5.000	0.150	ns al Quantity	4.538 0.771	1
	nominal size)  WORKSHOP	1	PC 6.050	5.000	0.150 0.150 Tota	ns al Quantity	4.538 0.771 5.309 cum	1
	nominal size)  WORKSHOP	1	6.050 gis.14011	5.000	0.150 Total Deducte Net Total	ns al Quantity d Quantity al Quantity	4.538 0.771 5.309 cum 0.000 cum 5.309 cum	1
8	nominal size)  WORKSHOP	ther Er	6.050 9 <sup>1</sup> 5.140 <sup>11</sup>	5.000 1 1.000 g	MP  0.150  Total Deducte  Net Tota  @ Rs 8016	ns al Quantity d Quantity al Quantity 3.14 / cum	4.538 0.771 5.309 cum 0.000 cum 5.309 cum Rs 42	n n n 557.69
8	nominal size)  WORKSHOP  FRONT  4.3.1  Centering and shutteri	ther Er	90 6.050 g 15.14011 Say	5.000 1 1.000 g	MP  0.150  Tota  tal Deducte  Net Tota  @ Rs 8016  c. and remo	ns al Quantity d Quantity al Quantity 3.14 / cum	4.538 0.771 5.309 cum 0.000 cum 5.309 cum Rs 42	n n n 557.69
8	nominal size)  WORKSHOP  FRONT  4.3.1  Centering and shutteri	ther Er	90 6.050 g 15.14011 Say	5.000 To 7 5.309 cum	MP  0.150  Tota  tal Deducte  Net Tota  @ Rs 8016  c. and remo	ns al Quantity d Quantity al Quantity 3.14 / cum	4.538 0.771 5.309 cum 0.000 cum 5.309 cum Rs 42	n n n 557.69
8	nominal size)  WORKSHOP  FRONT  4.3.1  Centering and shutteri footings, bases for col	1 the Er	Say g strutting,	5.000 To 7 5.309 cum	MP  0.150  Tota  tal Deducte  Net Tota  @ Rs 8016  c. and remo	ns al Quantity d Quantity al Quantity 3.14 / cum	4.538 0.771 5.309 cum 0.000 cum 5.309 cum Rs 42	n n n 557.69
8	nominal size)  WORKSHOP  FRONT  4.3.1  Centering and shutteri footings, bases for col  B1(GRID 1-K)	1 ther En	Say g strutting, PCC UN	5.000 To 7 5.309 cum	MP  0.150  Tota  tal Deducte  Net Tota  @ Rs 8016  c. and remo	ns al Quantity d Quantity al Quantity 3.14 / cum	4.538 0.771 5.309 cum 0.000 cum 5.309 cum Rs 42 work for:Fe	n n n 557.69
8	nominal size)  WORKSHOP  FRONT  4.3.1  Centering and shutteri footings, bases for col  B1(GRID 1-K)  B2(GRID 3-3)	ng includin umns  1*2 1*2	9 Say g strutting, PCC UN 36.600 33.600	5.000 To 7 5.309 cum	MP  0.150  Total Deducte  Net Total  @ Rs 8016  c. and remove  E BEAM  0.100  0.100	ns al Quantity d Quantity al Quantity 3.14 / cum	4.538 0.771 5.309 cum 0.000 cum 5.309 cum Rs 42 work for:Fe	n n n 557.69
8	nominal size)  WORKSHOP  FRONT  4.3.1  Centering and shutteri footings, bases for col  B1(GRID 1-K)  B2(GRID 3-3)  B2(GRID 4-4)	ng includin umns  1*2  1*2  1*2	9 Say g strutting, PCC UN 36.600 39.050	5.000 To 7 5.309 cum	MP  0.150  Total Deducte  Net Total  @ Rs 8016  c. and remove  E BEAM  0.100  0.100  0.100	ns al Quantity d Quantity al Quantity 3.14 / cum	4.538 0.771 5.309 cum 0.000 cum 5.309 cum Rs 42 work for:Fe	n n n 557.69
8	nominal size)  WORKSHOP  FRONT  4.3.1  Centering and shutteri footings, bases for col  B1(GRID 1-K)  B2(GRID 3-3)  B2(GRID 4-4)  B3(GRID 1-K)	ng includin umns  1*2 1*2 1*2 1*2 1*2	9 Say g strutting, PCC UN 36.600 33.600 39.050 70.970	5.000 To 7 5.309 cum	0.150 Total Deducte Net Total @ Rs 8016 c. and remo E BEAM 0.100 0.100 0.100 0.100	ns al Quantity d Quantity al Quantity 3.14 / cum	4.538 0.771 5.309 cum 0.000 cum 5.309 cum Rs 42 work for:Fo	n n n 557.69

	D4/OBID 0 0'	440	40.070		0.465		0.470	
	B4(GRID 6-6)	1*2	42.350		0.100		8.470	
	B4(GRID 3-3)	1*2	5.700		0.100		1.141	
	B4(GRID 4-4)	1*2	5.700		0.100		1.141	
	B4(GRID A-A)	1*2	19.930		0.100		3.986	
	B4(GRID B-B)	1*2	20.110		0.100		4.023	
	B4(GRID C-C)	1*2	21.640		0.100		4.328	
	B4(GRID D-D)	1*2	9.200		0.100		1.840	
	B4(GRID E-E)	1*2	20.750		0.100		4.150	
	B4(GRID F-F)	1*2	30.990		0.100		6.198	
	B4(GRID G-G)	1*2	10.310	6	0.100		2.063	
	B4(GRID H-H)	1*2	20.830		0.100		4.166	
	B4(GRID I-I)	1*2	21.390		0.100		4.279	
	B4(GRID J-J)	1*2	24.110	35. W	0.100		4.822	
	B4(GRID K-K)	1*2	8.000		0.100		1.600	
	B4(GRID 7-8)	1*2	23.220		0.100	S.	4.644	
	B5(GRID G-G)	1*2	9.500		0.100		1.901	
	B6(GRID 5-5)	1*2	11.610	101 01 P2()	0.100		2.322	
		Other <b>Side</b>	FORMWO	RK PCC U	NDER PLLE	CAP		
	PC1	41	4.800		0.150	7	29.520	
	PC2	13	7.200		0.150	1	14.041	
	PC3	6	5.000		0.150		4.500	
	PC4	1	8.000		0.150		1.200	
					Tota	al Quantity	171.872 s	qm
				To	otal Deducte	d Quantity	0.000 sqn	١
					Net Tota	al Quantity	171.872 s	qm
			Say	171.872 sq	m @ Rs 288	3.42 / sqm	Rs 49	571.32
9	5.33.1  Providing and laying concrete for reinforcincluding pumping or and reinforcement, i retard setting of concenting engineer - in-charge cement used as per	ced cement of f concrete to including admorete, improve . Note:- Ceme	concrete wo site of laying nixtures in r workability ent content	ork, using or g but exclude ecommend without impa considered	ement con ding the cos ed proportion airing streng in this item	tent as per of centering ons as per ofth and dura is @ 330 k	approved ong, shuttering IS: 9103 to bility as per g/ cum. Exc	design mix, ag, finishing accelerate, direction of eess or less
			G	RADE BEA	M			

P1(CDID 1 K)	1	26 600	0.200	0.100	1 000	
B1(GRID 1-K)	1	36.600	0.300	0.100	1.098	
B2(GRID 3-3)	1	33.600	0.300	0.250	2.520	
B2(GRID 4-4)	1	39.050	0.300	0.250	2.929	
B3(GRID 1-K)	1	70.970	0.300	0.250	5.323	
B4(GRID 1-1)	1	42.650	0.300	0.400	5.118	
B4(GRID 2-2)	1	51.560	0.300	0.400	6.188	
 B4(GRID 5-5)	1	33.240	0.300	0.400	3.989	
B4(GRID 6-6)	1	42.350	0.300	0.400	5.083	
B4(GRID 3-3)	1	5.700	0.300	0.400	0.684	
B4(GRID 4-4)	1	5.700	0.300	0.400	0.684	
B4(GRID A-A)	1	19.930	0.300	0.400	2.392	
B4(GRID B-B)	1	20.110	0.300	0.400	2.414	
B4(GRID C-C)	1	21.640	0.300	0.400	2.597	
B4(GRID D-D)	1	9.200	0.300	0.400	1.104	
B4(GRID E-E)	1	20.750	0.300	0.400	2.490	
B4(GRID F-F)	1	30.990	0.300	0.400	3.719	
B4(GRID G-G)	1	10.310	0.300	0.400	1.238	
B4(GRID H-H)	ther En	g 20.830°i	ngo.300g	ano.40010	ns 2.500	
B4(GRID I-I)	1	21.390	0.300	0.400	2.567	
B4(GRID J-J)	1	24.110	0.300	0.400	2.894	
B4(GRID K-K)	1	8.000	0.300	0.400	0.960	
B4(GRID 7-8)	1	23.220	0.300	0.400	2.787	
B5(GRID G-G)	1	9.500	0.300	0.600	1.710	
B6(GRID 5-5)	1	11.610	0.300	0.400	1.394	
	1	·	RADE SLA	В	1	
S1	1	5.700	27.300	0.200	31.123	
	1	5.600	7.100	0.200	7.952	
	1	5.600	2.900	0.200	3.248	
	1	42.800	5.600	0.200	47.936	
	1	6.000	9.000	0.200	10.800	
	1	9.200	3.000	0.200	5.520	
	1	5.900	12.400	0.200	14.633	
	1	5.900	20.600	0.200	24.309	

	1	3.500	4.000	0.200	2.801
	1	6.300	26.300	0.200	33.138
	1	5.100	4.400	0.200	4.488
	1	5.300	6.300	0.200	6.679
	1	4.000	3.900	0.200	3.120
S2	1	2.800	5.600	0.200	3.136
	1	2.700	5.600	0.200	3.024
	1	4.200	6.900	0.200	5.797
	1	4.200	6.500	0.200	5.461
	1	1.900	5.700	0.200	2.166
	1	4.000	4.800	0.200	3.840
	1	8.000	1.900	0.200	3.040
	1	5.100	1.900	0.200	1.938
		2.100	6.300	0.200	2.647
	1	2.600	5.900	0.200	3.069
S3	1	37.900	3.000	0.200	22.740
	1	3.200	5.900	0.200	3.777
	Other Er	gi2:3001i	ngs.600g	an <b>o.200</b> 10	ns 2.576
	DI		PILE CAP	7 T	
PC1	41	1.000	1.000	0.800	32.801
PC2	13	2.200	1.000	0.850	24.311
PC3	6	1.100	1.000	0.800	5.281
PC4	1	2.500	1.100	0.800	2.200
		S	TUB COLUN	<b>IN</b>	
C1	8	0.300	0.500	0.600	0.720
C2	6	0.300	0.500	0.600	0.540
C3	12	0.300	0.600	0.600	1.296
C4	5	0.300	0.600	0.600	0.540
C5	3	0.300	0.600	0.600	0.324
C6	15	0.400	0.600	0.600	2.160
C7	3	0.400	0.600	0.600	0.432
C8	1	0.400	0.600	0.600	0.144
C9	2	0.400	0.600	0.600	0.288

	C10	6	0.400	0.600	0.600		0.864						
					Tota	al Quantity	395.241 c	um					
				То	tal Deducte	d Quantity	0.000 cum	ı					
					Net Tota	al Quantity	395.241 c	um					
			Say 3	95.241 cum	@ Rs 9586	5.59 / cum	Rs 3789013.42						
10	5.33.2  Providing and laying in position machine batched and machine mixed design mix M-25 grade cemer concrete for reinforced cement concrete work, using cement content as per approved design mi including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishin and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate retard setting of concrete, improve workability without impairing strength and durability as per direction of Engineer - in-charge. Note:- Cement content considered in this item is @ 330 kg/ cum. Excess or less cement used as per design mix is payable or recoverable separately. All work above plinth level upto flow V level												
	GROUND FLOOR COLUMNS												
	C1	8	0.300	0.500	4.500		5.400						
	C2	6	0.300	0.500	4.500	1	4.050						
	C3	12	0.300	0.600	4.500		9.720						
	C4	5	0.300	0.600	4.500		4.050						
	C5	the <sup>3</sup> En	0.300	0.600	4.500	nc	2.430						
	C6	15	0.400	0.600	4.500		16.201						
	C7	3	0.400	0.600	4.500	1	3.240						
	C8	1	0.400	0.600	4.500		1.080						
	C9	2	0.400	0.600	4.500		2.160						
	C10	6	0.400	0.600	4.500		6.480						
			GROUND I	FLOOR RO	OF BEAMS								
	B1(GRID 1-1)	1	3.700	0.300	0.300		0.333						
		1	3.900	0.300	0.300		0.351						
		1	3.980	0.300	0.300		0.359						
		1	4.670	0.300	0.300		0.421						
	B2(GRID 1-1)	3	4.600	0.300	0.300		1.242						
	B3(GRID 1-1)	1	6.420	0.300	0.300		0.578						
		1	4.700	0.300	0.300		0.423						
	B4(GRID 2-2)	1	3.900	0.300	0.450		0.527						
	B5(GRID 2-2)	1	8.800	0.300	0.450		1.189						

	1	10.000	0.300	0.450	1.350	
	1	10.120	0.300	0.450	1.367	
B6(GRID 2-2)	1	12.100	0.300	0.300	1.089	
B7(GRID 3-3)	1	3.800	0.300	0.300	0.342	
	1	4.030	0.300	0.300	0.363	
	1	4.150	0.300	0.300	0.374	
	1	4.700	0.300	0.300	0.423	
B8(GRID 3-3)	1	4.700	0.300	0.300	0.423	
	1	4.680	0.300	0.300	0.422	
	1	4.720	0.300	0.300	0.425	
B9(GRID 3-3)	1	6.280	0.300	0.300	0.566	
	1	5.220	0.300	0.300	0.470	
B10(GRID 4-4)	1	3.700	0.300	0.300	0.333	
	1	5.880	0.300	0.300	0.530	
	1	5.520	0.300	0.300	0.497	
	1	5.100	0.300	0.300	0.459	
B11(GRID 4-4)	1	2.890	0.300	0.300	0.261	
B12(GRID 4-4)	Other Er	gi4.62011	ngo.300g	ano.30010	ns 0.416	
	1	6.270	0.300	0.300	0.565	
	1	4.540	0.300	0.300	0.409	
	1	3.660	0.300	0.300	0.330	
B13(GRID 4-5)	1	5.200	0.300	0.300	0.468	
B14(GRID 4-5)	1	21.010	0.300	0.300	1.891	
B15(GRID 5-5)	1	12.000	0.300	0.450	1.620	
	1	5.200	0.300	0.450	0.703	
B16(GRID 5-5)	1	3.000	0.300	0.300	0.270	
	1	11.700	0.300	0.300	1.053	
B17(GRID 5-5)	1	8.800	0.300	0.450	1.189	
B18(GRID 6-6)	1	3.700	0.300	0.300	0.333	
	1	5.580	0.300	0.300	0.503	
	1	5.320	0.300	0.300	0.479	
	1	5.050	0.300	0.300	0.455	
B19(GRID 6-6)	1	2.950	0.300	0.450	0.399	

B20(GRID 6-6)	1	6.400	0.300	0.300	0.576
	1	4.600	0.300	0.300	0.414
	1	3.700	0.300	0.300	0.333
B21(GRID 7-7)	1	7.400	0.300	0.300	0.666
B22(GRID 8-8)	1	3.100	0.300	0.300	0.279
	1	3.100	0.300	0.300	0.279
B23(GRID 1-2)	5	1.310	0.300	0.150	0.295
B24(GRID 2-2)	1	3.900	0.300	0.300	0.351
B25(GRID 5-6)	2	1.300	0.300	0.150	0.117
B26(GRID 6-6)	1	3.800	0.300	0.450	0.513
B27(GRID 5-6)	1	3.800	0.300	0.450	0.513
B28(GRID 4-4)	1	5.700	0.300	0.300	0.513
B29(GRID 3-3)	1	5.700	0.300	0.300	0.513
B30(GRID 2-2)	1	5.700	0.300	0.300	0.513
B31(GRID 4-1)	1	3.000	0.300	0.300	0.270
	1	4.700	0.300	0.300	0.423
	1	5.100	0.300	0.300	0.459
B32(GRID 4-6)	Other Er	gi5.000ri	ngo.300g	an <b>o.306</b> 10	ns 0.450
	1 1	5.500	0.300	0.300	0.495
B33(GRID 1-2)	1	6.220	0.300	0.300	0.560
B34(GRID 2-3)	1	3.780	0.300	0.300	0.341
B35(GRID 4-5)	1	5.420	0.300	0.300	0.488
B36(GRID 5-6)	1	5.580	0.300	0.150	0.252
B37(GRID 4-1)	1	5.000	0.300	0.300	0.450
	1	4.700	0.300	0.450	0.635
	1	3.000	0.300	0.450	0.405
B38(GRID 4-6)	1	4.800	0.300	0.450	0.648
	1	5.700	0.300	0.450	0.770
B39(GRID C-C)	1	10.200	0.300	0.300	0.918
	1	3.000	0.300	0.300	0.270
B40(GRID C-C)	1	5.500	0.300	0.300	0.495
B41(GRID 5-6)	1	5.700	0.300	0.300	0.513
B42(GRID D-D)	1	4.700	0.300	0.300	0.423

	1	5.000	0.300	0.300	0.450
B43(GRID E-E)	1	10.200	0.300	0.300	0.918
B44(GRID 4-6)	1	5.700	0.300	0.450	0.770
	1	5.100	0.300	0.450	0.689
B45(GRID 4-6)	1	5.700	0.300	0.450	0.770
	1	5.100	0.300	0.450	0.689
B46(GRID 4-1)	1	3.000	0.300	0.300	0.270
	1	4.700	0.300	0.300	0.423
	1	4.800	0.300	0.300	0.432
B47(GRID 5-6)	1	5.700	0.300	0.300	0.513
B48(GRID 1-3)	1	10.300	0.300	0.300	0.927
B49(GRID 3-6)	1	10.800	0.300	0.450	1.459
B50(GRID 1-3)	1	4.800	0.300	0.300	0.432
	1	4.700	0.300	0.300	0.423
B51(GRID 6-4)	1	5.400	0.300	0.300	0.486
B52(GRID I-I)	1	10.300	0.300	0.450	1.391
B53(GRID 6-6)	1	4.700	0.300	0.300	0.423
B54(GRID 5-6)	Other E	ngi5110011i	ngo.300g	an <b>o.306</b> 101	ns 0.459
	1	5.400	0.300	0.300	0.486
B55(GRID 2-4)	1	4.750	0.300	0.300	0.428
	1	2.900	0.300	0.300	0.261
B56(GRID 2-4)	1	4.750	0.300	0.300	0.428
	1	2.700	0.300	0.300	0.243
B57(GRID 6-8)	1	1.580	0.300	0.300	0.143
	1	4.510	0.300	0.300	0.406
B58(GRID 6-8)	1	6.400	0.300	0.300	0.576
B59(GRID 6-8)	1	1.580	0.300	0.450	0.214
	1	4.510	0.300	0.450	0.609
B60(GRID 4-5)	1	5.100	0.300	0.450	0.689
B61(GRID 4-5)	1	4.500	0.300	0.450	0.608
B62(GRID 4-6)	1	11.000	0.300	0.300	0.990
B63(GRID 4-3)	1	3.000	0.300	0.300	0.270
B64(GRID 4-3)	1	3.000	0.300	0.300	0.270

B65(GRID 4-3)	1	3.000	0.300	0.300	0.270
		GROUND	FLOOR RO	OOF SLAB	
S1	1	42.800	11.190	0.150	71.840
	1	6.000	3.490	0.150	3.141
	1	5.600	9.600	0.150	8.064
	1	6.290	21.600	0.150	20.380
	1	5.300	5.600	0.150	4.452
	1	12.700	11.900	0.150	22.670
	1	5.720	2.600	0.150	2.231
	1	8.850	3.300	0.150	4.381
	1	3.000	4.370	0.150	1.967
PORCH S1	1	8.000	5.410	0.150	6.492
	-1	7.700	6.000	0.150	-6.930
S2	1	7.700	6.000	0.150	6.931
	1	2.300	1.120	0.150	0.387
S4	1	1.910	5.660	0.150	1.622
	1	1.200	4.380	0.150	0.789
	Other E	nginaoori	ngs.700g	anogsoions	1.368
	1	4.200	6.180	0.150	3.894
	1	5.200	5.900	0.150	4.602
	1	3.300	6.290	0.150	3.114
	1	8.000	1.590	0.150	1.908
S3	1	2.290	5.760	0.150	1.979
	1	3.000	5.600	0.150	2.520
	1	5.900	6.700	0.150	5.930
	1	3.290	38.150	0.150	18.828
		TERRAC	E FLOOR C	OLUMNS	
C1	4	0.300	0.500	2.100	1.260
C2	6	0.300	0.500	2.100	1.891
C3	2	0.300	0.600	2.100	0.756
		GROU	ND FLOOR	STAIR	
IST FLIGHT	1	3.870	2.000	0.150	1.161
2ND FLIGHT	1	2.380	2.000	0.150	0.714

	T .							
	3RD FLIGHT	1	3.700	2.000	0.150		1.110	
	LANDING	2	2.000	2.000	0.150		1.200	
	STEPS	0.5*28	2.000	0.300	0.150		1.260	
	Z BEAM	1	5.150	0.300	0.550		0.850	
	FIRE STAIR FLIGHT	1	3.870	2.000	0.150		1.161	
	2ND FLIGHT	1	2.380	2.000	0.150		0.714	
	3RD FLIGHT	1	3.700	2.000	0.150		1.110	
	LANDING	2	2.000	2.000	0.150		1.200	
		0.5*28	2.000	0.300	0.150		1.260	
	Z BEAM	1	5.750	0.300	0.550		0.949	
		324.122 c	um					
		0.000 cum	1					
		324.122 cum						
		Rs 349	4537.55					
			Value and	- mail				
		ther En	395.241 gineeri		otal Deducte	,	3161.928 3161.928 0.000 kg	
		ther En		To	Total Deducte  Net Total	d Quantity	3161.928 0.000 kg 3161.928	kg
12	5.9.1 Centering and shuttering columns, etc for mass	ther En	gineeri	Say 3161.9	ntal Deducte Net Total  Net Total  228 kg @ Rs	d Quantity al Quantity s 1.41 / kg	3161.928 0.000 kg 3161.928 Rs 44	kg <b>458.32</b>
12	Centering and shuttering	ther En	gineeri	Say 3161.9	ntal Deducte Net Total  Net Total  228 kg @ Rs	d Quantity al Quantity s 1.41 / kg	3161.928 0.000 kg 3161.928 Rs 44	kg <b>458.32</b>
12	Centering and shuttering	ther En	gineeri	Say 3161.9	ntal Deducte Net Total  Net Total  228 kg @ Rs	d Quantity al Quantity s 1.41 / kg	3161.928 0.000 kg 3161.928 Rs 44	kg <b>458.32</b>
12	Centering and shuttering columns, etc for mass	ng including concrete	strutting, et	Say 3161.9	Net Total  228 kg @ Rs	d Quantity al Quantity s 1.41 / kg	3161.928 0.000 kg 3161.928 Rs 44	kg <b>458.32</b>
12	Centering and shuttering columns, etc for mass	ng including concrete	strutting, et	Say 3161.9	Net Total  228 kg @ Rs  20val of form  0.800	d Quantity al Quantity s 1.41 / kg	3161.928 0.000 kg 3161.928 Rs 44 tions, footing	kg <b>458.32</b>
12	Centering and shuttering columns, etc for mass  PC1 PC2	ng including concrete  41  13	strutting, et	Say 3161.9	Net Total  228 kg @ Rs  20val of form  0.800  0.850	d Quantity al Quantity s 1.41 / kg	3161.928 0.000 kg 3161.928 Rs 42 tions, footing 131.201 70.720	kg <b>458.32</b>
12	Centering and shuttering columns, etc for mass  PC1 PC2 PC3	ng including concrete  41  13  6	strutting, et 4.000 6.400 4.200	Say 3161.9	O.800  0.800  0.800  0.800	d Quantity al Quantity s 1.41 / kg	3161.928 0.000 kg 3161.928 Rs 42 tions, footing 131.201 70.720 20.161	kg <b>458.32</b> gs, base
12	Centering and shuttering columns, etc for mass  PC1 PC2 PC3	ng including concrete  41  13  6	strutting, et 4.000 6.400 4.200	Say 3161.9	O.800  0.800  0.800  0.800	d Quantity al Quantity 5 1.41 / kg for:Foundat	3161.928 0.000 kg 3161.928 Rs 42 sions, footing 131.201 70.720 20.161 5.761	kg <b>458.32</b> gs, base
12	Centering and shuttering columns, etc for mass  PC1 PC2 PC3	ng including concrete  41  13  6	strutting, et 4.000 6.400 4.200	Say 3161.9	Deducted Net Total	d Quantity al Quantity 5 1.41 / kg for:Foundat	3161.928 0.000 kg 3161.928 Rs 44 sions, footing 131.201 70.720 20.161 5.761 227.843 s	kg 458.32 gs, base qm

13	_	=		, etc. and remov	al of form fo	r:Suspended floors,
	landings, balco	onies and access				
			GROUND	FLOOR ROOF S	LAB	
	S1	1	42.800	11.190		478.932
		1	6.000	8.950		53.700
		1	5.600	9.600		53.760
		1	6.290	21.600		135.864
		1	5.300	6.000		31.800
		1	5.200	6.000		31.201
		1	12.700	11.900		151.130
		1	5.200	2.600		13.521
		1	8.850	3.300		29.205
		1	3.000	1.370	k 1	4.110
		-1	7.700	6.000	8	-46.200
		-1	5.700	5.200		-29.640
		-1	5.700	5.450		-31.065
	S2	1 1	7.700	6.000	, •	46.200
		Other E	2.300	ng Organis 6.000	ations	13.800
	S4	1	1.910	5.660		10.811
		1 -	1.200	1.380		1.656
		1	1.600	5.700		9.121
		1	4.200	6.180		25.956
		1	5.200	5.900		30.681
		1	3.300	6.290		20.757
		1	8.000	1.590		12.720
	S3	1	2.290	5.760		13.191
		1	3.000	5.600		16.800
		1	5.900	6.700		39.530
		1	3.290	38.150		125.514
			EDUCE GR	OUND FLOOR CO	DLUMNS	,
	C1	8	0.300	0.500		-1.200
	C2	6	0.300	0.500		-0.899

C3	12	0.300	0.600		-2.160	
C4	5	0.300	0.600		-0.899	
C5	3	0.300	0.600		-0.540	
C6	15	0.400	0.600		-3.599	
C7	3	0.400	0.600		-0.720	
C8	1	0.400	0.600		-0.240	
C9	2	0.400	0.600		-0.480	
C10	6	0.400	0.600		-1.440	
	DEI	DUCE GROU	JND FLOO	R ROOF BEAM	MS	
B1(GRID 1-1)	1	3.700	0.300		-1.110	
	1	3.900	0.300		-1.170	
	1	3.980	0.300		-1.194	
	1	4.670	0.300	7 13	-1.401	
B2(GRID 1-1)	3	4.600	0.300	1-21	-4.140	
B3(GRID 1-1)	1	6.420	0.300		-1.926	
	1	4.700	0.300		-1.410	
B4(GRID 2-2)	1	3.900	0.300		-1.170	
B5(GRID 2-2)	Other Er	gi <b>8.800</b> 1i	ngo.300 g	anisation	S -2.640	
	1 1	10.000	0.300	7	-3.000	
	1	10.120	0.300		-3.035	
B6(GRID 2-2)	1	12.100	0.300		-3.630	
B7(GRID 3-3)	1	3.800	0.300		-1.140	
	1	4.030	0.300		-1.209	
	1	4.150	0.300		-1.245	
	1	4.700	0.300		-1.410	
B8(GRID 3-3)	1	4.700	0.300		-1.410	
	1	4.680	0.300		-1.404	
	1	4.720	0.300		-1.416	
B9(GRID 3-3)	1	6.280	0.300		-1.884	
	1	5.220	0.300		-1.565	
B10(GRID 4-4)	1	3.700	0.300		-1.110	
	1	5.880	0.300		-1.764	
	1	5.520	0.300		-1.656	

	1	5.100	0.300			-1.529	
B11(GRID 4-4)	1	2.890	0.300			-0.867	
B12(GRID 4-4)	1	4.620	0.300			-1.386	
	1	6.270	0.300			-1.880	
	1	4.540	0.300			-1.361	
	1	3.660	0.300			-1.098	
B13(GRID 4-5)	1	5.200	0.300			-1.560	
B14(GRID 4-5)	1	21.010	0.300			-6.303	
B15(GRID 5-5)	1	12.000	0.300			-3.599	
	1	5.200	0.300			-1.560	
B16(GRID 5-5)	1	3.000	0.300			-0.899	
	1	11.700	0.300	-		-3.510	
B17(GRID 5-5)	1	8.800	0.300	7 13		-2.640	
B18(GRID 6-6)	1	3.700	0.300	1-21		-1.110	
	1	5.580	0.300		L	-1.674	
	1	5.320	0.300		2	-1.596	
	1	5.050	0.300			-1.515	
B19(GRID 6-6)	Other E	gi2.9501i	ngo.300 g	anisatio	ns	-0.885	
B20(GRID 6-6)	1	6.400	0.300	7 T	7	-1.920	
	1	4.600	0.300		1	-1.380	
	1	3.700	0.300			-1.110	
B21(GRID 7-7)	1	7.400	0.300			-2.220	
B22(GRID 8-8)	1	3.100	0.300			-0.929	
	1	3.100	0.300			-0.929	
B23(GRID 1-2)	5	1.310	0.300			-1.965	
B24(GRID 2-2)	1	3.900	0.300			-1.170	
B25(GRID 5-6)	2	1.300	0.300			-0.780	
B26(GRID 6-6)	1	3.800	0.300			-1.140	
B27(GRID 5-6)	1	3.800	0.300			-1.140	
B28(GRID 4-4)	1	5.700	0.300			-1.710	
B29(GRID 3-3)	1	5.700	0.300			-1.710	
B30(GRID 2-2)	1	5.700	0.300			-1.710	
B31(GRID 4-1)	1	3.000	0.300			-0.899	

	1	4.700	0.300		-1.410
	1	5.100	0.300		-1.529
B32(GRID 4-6)	1	5.000	0.300		-1.500
	1	5.500	0.300		-1.650
B33(GRID 1-2)	1	6.220	0.300		-1.865
B34(GRID 2-3)	1	3.780	0.300		-1.134
B35(GRID 4-5)	1	5.420	0.300		-1.626
B36(GRID 5-6)	1	5.580	0.300		-1.674
B37(GRID 4-1)	1	5.000	0.300		-1.500
	1	4.700	0.300		-1.410
	1	3.000	0.300		-0.899
B38(GRID 4-6)	1	4.800	0.300	1	-1.440
	1	5.700	0.300	7 13	-1.710
B39(GRID C-C)	1	10.200	0.300	1-21	-3.059
	1	3.000	0.300		-0.899
B40(GRID C-C)	1	5.500	0.300		-1.650
B41(GRID 5-6)	1	5.700	0.300		-1.710
B42(GRID D-D)	Other E	gi4.700ri	ngo.300g	anisation	S -1.410
	1	5.000	0.300	7	-1.500
B43(GRID E-E)	1	10.200	0.300		-3.059
B44(GRID 4-6)	1	5.700	0.300		-1.710
	1	5.100	0.300		-1.529
B45(GRID 4-6)	1	5.700	0.300		-1.710
	1	5.100	0.300		-1.529
B46(GRID 4-1)	1	3.000	0.300		-0.899
	1	4.700	0.300		-1.410
	1	4.800	0.300		-1.440
B47(GRID 5-6)	1	5.700	0.300		-1.710
B48(GRID 1-3)	1	10.300	0.300		-3.090
B49(GRID 3-6)	1	10.800	0.300		-3.240
B50(GRID 1-3)	1	4.800	0.300		-1.440
	1	4.700	0.300		-1.410
B51(GRID 6-4)	1	5.400	0.300		-1.620

	B52(GRID I-I)	1	10.300	0.300			-3.090				
	B53(GRID 6-6)	1	4.700	0.300			-1.410				
	B54(GRID 5-6)	1	5.100	0.300			-1.529				
		1	5.400	0.300			-1.620				
	B55(GRID 2-4)	1	4.750	0.300			-1.425				
		1	2.900	0.300			-0.870				
	B56(GRID 2-4)	1	4.750	0.300			-1.425				
		1	2.700	0.300			-0.810				
	B57(GRID 6-8)	1	1.580	0.300			-0.474				
		1	4.510	0.300			-1.353				
	B58(GRID 6-8)	1	6.400	0.300			-1.920				
	B59(GRID 6-8)	1	1.580	0.300	-		-0.474				
		1	4.510	0.300	7 13		-1.353				
	B60(GRID 4-5)	1	5.100	0.300	1-21		-1.529				
	B61(GRID 4-5)	1	4.500	0.300		I	-1.349				
	B62(GRID 4-6)	1	11.000	0.300			-3.300				
	B63(GRID 4-3)	1	3.000	0.300			-0.899				
	B64(GRID 4-3)	Other En	gi3.0001i	ngo.300 g	anisatio	ns	-0.899				
	B65(GRID 4-3)	1	3.000	0.300	T		-0.899				
					Tota	al Quantity	1243.055	sqm			
		Total Deducted Quantity									
		1050.156 sqm									
			Say 1	050.156 sq	m @ Rs 628	.00 / sqm	Rs 659	497.97			
14	5.9.5 Centering and shuttering including strutting, etc. and removal of form for:Lintels, beams, plinth beams girders bressumers and cantilevers										
			G	RADE BEA	M						
	B1(GRID 1-K)	1	36.600		0.200		7.320				
	B2(GRID 3-3)	1	33.600		0.500		16.800				
	B2(GRID 4-4)	1	39.050		0.500		19.525				
	B3(GRID 1-K)	1	70.970		0.500		35.485				
	B4(GRID 1-1)	1	42.650		0.800		34.120				
	B4(GRID 2-2)	1	51.560		0.800		41.249				

B4(GRID 5-5)	1	33.240		0.800		26.593	
B4(GRID 6-6)	1	42.350		0.800		33.880	
B4(GRID 3-3)	1	5.700		0.800		4.561	
B4(GRID 4-4)	1	5.700		0.800		4.561	
B4(GRID A-A)	1	19.930		0.800		15.944	
B4(GRID B-B)	1	20.110		0.800		16.089	
B4(GRID C-C)	1	21.640		0.800		17.312	
B4(GRID D-D)	1	9.200		0.800		7.360	
B4(GRID E-E)	1	20.750		0.800		16.600	
B4(GRID F-F)	1	30.990	0	0.800		24.792	
B4(GRID G-G)	1	10.310	16	0.800		8.249	
B4(GRID H-H)	1	20.830		0.800		16.664	
B4(GRID I-I)	1 4	21.390	K Z	0.800		17.113	
B4(GRID J-J)	1	24.110		0.800		19.288	
B4(GRID K-K)	1	8.000		0.800	L	6.400	
B4(GRID 7-8)	1	23.220		0.800		18.576	
B5(GRID G-G)	1	9.500	10 DE 12/	1.200		11.400	
B6(GRID 5-5)	ther Er	gin.610ri	ng Orga	ano.80010	ns	9.288	
	10	OCM WIDE R	C LINTELS	AND BANI	os.		
MMV WORKSHOP	2	4.000		0.150	2.0	2.400	
	2	3.800		0.150	2.0	2.280	
STORE	2*2	5.700		0.150	2.0	6.840	
	4*2	2.780		0.150	2.0	6.672	
TOILET AND CHANGE	1*2	3.570		0.150	2.0	2.142	
	2*2	1.600		0.150	2.0	1.920	
	2*2	2.660		0.150	2.0	3.192	
	1*2	3.000		0.150	2.0	1.800	
TOILET AND CHANGE	3*2	2.690		0.150	2.0	4.842	
	2*2	5.300		0.150	2.0	6.360	
	4*2	1.640		0.150	2.0	3.936	
STORE	1*2	5.800		0.150	2.0	3.480	

	1*2	2.600		0.150	2.0	1.560	
DUCT	2*2	1.200		0.150	2.0	1.440	
DEDUCE D3	-11	0.800		0.150	2.0	-2.639	
	20	CM WIDE F	RC LINTELS	S AND BANE	os		
MMV WORKSHOP	2	41.400		0.150	2.0	24.840	
	2	9.900		0.150	2.0	5.940	
	2	38.800		0.150	2.0	23.280	
	2	5.650		0.150	2.0	3.390	
	2	9.700		0.150	2.0	5.820	
LEFT SIDE WALL	2	23.100		0.150	2.0	13.861	
TOILET AND CHANGE	2	2.690		0.150	2.0	1.614	
P L U M B E R W O R K S H O P	2	16.600	SX	0.150	2.0	9.960	
	2	10.500		0.150	2.0	6.300	
	2	10.800	FOY.	0.150	2.0	6.480	
STORE	2*2	5.200	0.0	0.150	2.0	6.240	
	2*2	5.200	a (a)(6)	0.150	2.0	6.240	
FRONT		42.200	ng Orga	0.150	2.0	25.320	
STAFFROOM	2	18.200		0.150	2.0	10.920	
	2	10.400		0.150	2.0	6.240	
	2	11.700		0.150	2.0	7.020	
	2	10.000		0.150	2.0	6.000	
	2	10.500		0.150	2.0	6.300	
DINING	2	10.050		0.150	2.0	6.030	
	2	5.000		0.150	2.0	3.000	
TOILET	2	5.200		0.150	2.0	3.120	
	2*2	1.700		0.150	2.0	2.040	
	2	5.320		0.150	2.0	3.192	
	2*2	1.980		0.150	2.0	2.376	
	2	8.800		0.150	2.0	5.280	
STAFFROOM	2	7.350		0.150	2.0	4.410	
	2*2	5.700		0.150	2.0	6.840	

MD	-1	0.300		0.150	2.0	-0.090	
D	-1	1.800		0.150	2.0	-0.540	
D1	-11	1.000		0.150	2.0	-3.300	
D2	-8	1.200		2.100	2.0	-40.320	
D3	-4	0.800		0.150	2.0	-0.960	
RS	-1	4.000		0.150	2.0	-1.200	
RS1	-2	2.400		0.150	2.0	-1.440	
		GROUND	FLOOR RO	OF BEAMS		,	
B1(GRID 1-1)	1	3.700		0.900		3.330	
	1	3.900		0.900		3.510	
	1	3.980		0.900		3.582	
	1	4.670		0.900		4.203	
B2(GRID 1-1)	3	4.600	3. 7	0.900		12.420	
B3(GRID 1-1)	1	6.420		0.900		5.779	
	1	4.700	15	0.900	S	4.230	
B4(GRID 2-2)	1	3.900		1.200		4.680	
B5(GRID 2-2)	1	8.800	10 01 2 C	1.200		10.560	
	Other Er	g 10.000 i	ng Org	ani. <b>200</b> 10	ns	12.000	
	1	10.120		1.200	7	12.144	
B6(GRID 2-2)	1	12.100		0.900		10.890	
B7(GRID 3-3)	1	3.800		0.900		3.420	
	1	4.030		0.900		3.627	
	1	4.150		0.900		3.736	
	1	4.700		0.900		4.230	
B8(GRID 3-3)	1	4.700		0.900		4.230	
	1	4.680		0.900		4.212	
	1	4.720		0.900		4.248	
B9(GRID 3-3)	1	6.280		0.900		5.652	
	1	5.220		0.900		4.698	
B10(GRID 4-4)	1	3.700		0.900		3.330	
	1	5.880		0.900		5.292	
	1	5.520		0.900		4.968	
	1	5.100		0.900		4.590	

B11(GRID 4-4)	1	2.890	0.900	2.601
B12(GRID 4-4)	1	4.620	0.900	4.158
	1	6.270	0.900	5.643
	1	4.540	0.900	4.087
	1	3.660	0.900	3.294
B13(GRID 4-5)	1	5.200	0.900	4.681
B14(GRID 4-5)	1	21.010	0.900	18.910
B15(GRID 5-5)	1	12.000	1.200	14.400
	1	5.200	1.200	6.240
B16(GRID 5-5)	1	3.000	0.900	2.700
	1	11.700	0.900	10.530
B17(GRID 5-5)	1	8.800	1.200	10.560
B18(GRID 6-6)	1	3.700	0.900	3.330
	1	5.580	0.900	5.022
	1	5.320	0.900	4.788
	1	5.050	0.900	4.545
B19(GRID 6-6)	1	2.950	1.200	3.540
B20(GRID 6-6)	Other E	ngie 400 ring Or	gano.900ions	5.761
	1	4.600	0.900	4.140
	1	3.700	0.900	3.330
B21(GRID 7-7)	1	7.400	0.900	6.660
B22(GRID 8-8)	1	3.100	0.900	2.790
	1	3.100	0.900	2.790
B23(GRID 1-2)	5	1.310	0.600	3.930
B24(GRID 2-2)	1	3.900	0.900	3.510
B25(GRID 5-6)	2	1.300	0.600	1.560
B26(GRID 6-6)	1	3.800	1.200	4.560
B27(GRID 5-6)	1	3.800	1.200	4.560
B28(GRID 4-4)	1	5.700	0.900	5.130
B29(GRID 3-3)	1	5.700	0.900	5.130
B30(GRID 2-2)	1	5.700	0.900	5.130
B31(GRID 4-1)	1	3.000	0.900	2.700
	1	4.700	0.900	4.230

		5.400		2.000		4.500	
	1	5.100		0.900		4.590	
B32(GRID 4-6)	1	5.000		0.900		4.500	
	1	5.500		0.900		4.950	
B33(GRID 1-2)	1	6.220		0.900		5.598	
B34(GRID 2-3)	1	3.780		0.900		3.402	
B35(GRID 4-5)	1	5.420		0.900		4.878	
B36(GRID 5-6)	1	5.580		0.600		3.348	
B37(GRID 4-1)	1	5.000		0.900		4.500	
	1	4.700		1.200		5.640	
	1	3.000		1.200		3.600	
B38(GRID 4-6)	1	4.800		1.200		5.760	
	1	5.700		1.200		6.840	
B39(GRID C-C)	1	10.200	5. 7d	0.900		9.180	
	1	3.000		0.900		2.700	
B40(GRID C-C)	1	5.500		0.900	L	4.950	
B41(GRID 5-6)	1	5.700		0.900		5.130	
B42(GRID D-D)	1	4.700	10 DE 220	0.900		4.230	
	Other En	gi5.000ri	ng Orgar	10.90010	ns	4.500	
B43(GRID E-E)	1	10.200		0.900	7	9.180	
B44(GRID 4-6)	1	5.700		1.200	1	6.840	
	1	5.100		1.200		6.120	
B45(GRID 4-6)	1	5.700		1.200		6.840	
	1	5.100		1.200		6.120	
B46(GRID 4-1)	1	3.000		0.900		2.700	
	1	4.700		0.900		4.230	
	1	4.800		0.900		4.320	
B47(GRID 5-6)	1	5.700		0.900		5.130	
B48(GRID 1-3)	1	10.300		0.900		9.271	
B49(GRID 3-6)	1	10.800		1.200		12.960	
B50(GRID 1-3)	1	4.800		0.900		4.320	
	1	4.700		0.900		4.230	
B51(GRID 6-4)	1	5.400		0.900		4.860	
B52(GRID I-I)	1	10.300		1.200		12.361	

	B53(GRID 6-6)	1	4.700		0.900		4.230				
	B54(GRID 5-6)	1	5.100		0.900		4.590				
	B34(GKID 3-0)	1	5.400		0.900		4.860				
	DEE/CRID 2.4)	1	4.750		0.900		4.275				
	B55(GRID 2-4)				0.900						
	DEG(CDID 2.4)	1	2.900				2.610				
	B56(GRID 2-4)	1	4.750 2.700		0.900		4.275 2.430				
	B57(GRID 6-8)	1	1.580		0.900		1.423				
	B37 (GRID 6-6)	1	4.510		0.900		4.059				
	DEG(CDID C 0)										
	B58(GRID 6-8)	1	6.400	6	0.900		5.761				
	B59(GRID 6-8)	1	1.580		0.900		1.423				
	D00(ODID 4.5)	1	4.510		1.200		5.412				
	B60(GRID 4-5)	1	5.100	2014	1.200		6.120				
	B61(GRID 4-5)	1	4.500		1.200	+	5.400				
	B62(GRID 4-6)	1	11.000		0.900	and the second	9.900				
	B63(GRID 4-3)	1	3.000	In 91.2-2.7	0.900		2.700				
	B64(GRID 4-3)	1	3.000		0.900		2.700				
	B65(GRID 4-3)	ther En	g13.00011	ng Orga	2110.90010		2.700				
		D				al Quantity	1220.744	<u> </u>			
	Total Deducted Quantity 0.000 sqm										
	Net Total Quantity 1220.744 sqm										
	Say 1220.744 sqm @ Rs 509.93 / sqm										
15	5.9.6 Centering and shuttering including strutting, etc. and removal of form for:Columns, Pillars, Piers Abutments, Posts and Struts										
			GROUNI	D FLOOR C	OLUMNS						
	C1	8	1.600		4.050		51.840				
	C2	6	1.500		4.050		36.450				
	C3	12	1.800		4.050		87.480				
	C4	5	1.800		4.050		36.450				
	C5	3	1.800		4.050		21.870				
	C6	15	2.000		4.050		121.500				
	C7	3	2.000		4.050		24.300				

				1		1	1	1
	C8	1	2.000		4.050		8.100	
	C9	2	2.000		4.050		16.200	
	C10	6	2.000		4.050		48.600	
			TERRAC	E FLOOR C	COLUMNS			
	C1	4	1.600		2.100		13.441	
	C2	6	1.600		2.100		20.161	
	С3	2	1.800		2.100		7.561	
					Tota	al Quantity	493.953 s	qm
				To	otal Deducte	d Quantity	0.000 sqm	1
				0	Net Tota	al Quantity	493.953 s	qm
			Say	493.953 sq	m @ Rs 695	5.74 / sqm	Rs 343	3662.86
16	5.9.7 Centering and shutteri except spiral - staircas	7	RE		44	m for:Stairs	s, (excluding	g landings
		18	GROU	ND FLOOR	R STAIR	3	1	
	IST FLIGHT BOTTOM & SIDE		3.870	2.600			10.063	
	2ND FLIGHT ,,	1	2.380	2.600			6.188	
	3RD FLIGHT,,	ther En	gi <u>a.</u> 70011	ng2.600g	anisatio	ns	9.621	
	LANDING	2	2.000	2.000	T	7	8.000	
	STEPS	31	2.000		0.150		9.300	
	Z BEAM BOTTOM AND SIDE	1	5.150		1.400		7.210	
	SLAB EDGES	1	7.100		0.150		1.065	
	FIRE STAIR IST FLIGHT BOTTOM & SIDE	1	3.870	2.600			10.063	
	2ND FLIGHT ,,	1	2.380	2.600			6.188	
	3RD FLIGHT ,,	1	3.700	2.600			9.621	
	LANDING	2	2.000	2.000			8.000	
	STEPS	31	2.000		0.150		9.300	
	Z BEAM	1	5.750		1.400		8.050	
	SLAB EDGES	1	7.250		0.150		1.088	
					Tota	al Quantity	103.757 s	qm
				To	otal Deducte	d Quantity	0.000 sqn	1
	<u> </u>						<del></del>	

					Net Tota	al Quantity	103.757 s	qm			
			Say	103.757 sq	m @ Rs 623	3.62 / sqm	Rs 64	704.94			
17	5.9.19 Centering and shuttering etc., including edges	ng including	strutting, etc	c. and remo	val of form f	or:Weather	shade, Chaj	jas, corbel			
			RO	SUNSHA	DE						
		1	46.200	0.700			32.341				
					Tota	al Quantity	32.341 sq	m			
				To	otal Deducte	d Quantity	0.000 sqm	า			
					Net Tota	al Quantity	32.341 sq	m			
		Rs 25	093.06								
18	5.22.6 Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position an binding all complete upto plinth levelThermo - Mechanically Treated bars of grade Fe-500D or mor GRADE BEAM										
	B1(GRID 1-K)	1	36.600	0.300	0.100	93.0	102.114				
	B2(GRID 3-3)	1	33.600	0.300	0.250	135.0	340.200				
	B2(GRID 4-4)	1	39.050	0.300	0.250	135.0	395.382				
	B3(GRID 1-K)	thet En	70.970ri	0.300	an0.250io	n s87.0	463.080				
	B4(GRID 1-1)		42.650	0.300	0.400	91.0	465.739				
	B4(GRID 2-2)	P <sub>1</sub>	51.560	0.300	0.400	91.0	563.036				
	B4(GRID 5-5)	1	33.240	0.300	0.400	91.0	362.981				
	B4(GRID 6-6)	1	42.350	0.300	0.400	91.0	462.463				
	B4(GRID 3-3)	1	5.700	0.300	0.400	91.0	62.245				
	B4(GRID 4-4)	1	5.700	0.300	0.400	91.0	62.245				
	B4(GRID A-A)	1	19.930	0.300	0.400	91.0	217.636				
	B4(GRID B-B)	1	20.110	0.300	0.400	91.0	219.602				
	B4(GRID C-C)	1	21.640	0.300	0.400	91.0	236.309				
	B4(GRID D-D)	1	9.200	0.300	0.400	91.0	100.464				
	B4(GRID E-E)	1	20.750	0.300	0.400	91.0	226.591				
	B4(GRID F-F)	1	30.990	0.300	0.400	91.0	338.411				
	B4(GRID G-G)	1	10.310	0.300	0.400	91.0	112.586				
	B4(GRID H-H)	1	20.830	0.300	0.400	91.0	227.464				
	B4(GRID I-I)	1	21.390	0.300	0.400	91.0	233.579				

B4(GRID J-J)	1	24.110	0.300	0.400	91.0	263.282
B4(GRID K-K)	1	8.000	0.300	0.400	91.0	87.360
		23.220				
B4(GRID 7-8)	1		0.300	0.400	91.0	253.563
B5(GRID G-G)	1	9.500	0.300	0.600	116.0	198.360
B6(GRID 5-5)	1	11.610	0.300	0.400	163.0	227.092
			SRADE SLA			
S1	1	5.700	27.300	0.200	43.0	1338.246
	1	5.600	7.100	0.200	43.0	341.936
	1	5.600	2.900	0.200	43.0	139.664
	1	42.800	5.600	0.200	43.0	2061.248
	1	6.000	9.000	0.200	43.0	464.401
	1	9.200	3.000	0.200	43.0	237.360
	1	5.900	12.400	0.200	43.0	629.177
	1	5.900	20.600	0.200	43.0	1045.245
	1	3.500	4.000	0.200	43.0	120.400
	1	6.300	26.300	0.200	43.0	1424.934
	1	5.100	4.400	0.200	43.0	192.984
(	Other En	gi5.3001i	ng6.300g	an <b>o.2001</b> 0	<b>NS43.0</b>	287.155
	1 1	4.000	3.900	0.200	43.0	134.160
S2	1	2.800	5.600	0.200	47.0	147.392
	1	2.700	5.600	0.200	47.0	142.128
	1	4.200	6.900	0.200	47.0	272.413
	1	4.200	6.500	0.200	47.0	256.621
	1	1.900	5.700	0.200	47.0	101.802
	1	4.000	4.800	0.200	47.0	180.480
	1	8.000	1.900	0.200	47.0	142.880
	1	5.100	1.900	0.200	47.0	91.086
	1	2.100	6.300	0.200	47.0	124.363
	1	2.600	5.900	0.200	47.0	144.197
S3	1	37.900	3.000	0.200	43.0	977.820
	1	3.200	5.900	0.200	43.0	162.369
	1	2.300	5.600	0.200	43.0	110.768
			PILE CAP	1	1	1
			0/11			

PC1	41	1.000	1.000	0.800	204.0	6691.201				
PC2	13	2.200	1.000	0.850	196.0	4764.760				
PC3	6	1.100	1.000	0.800	216.0	1140.481				
PC4	1	2.500	1.100	0.800	191.0	420.201				
	1	S1	TUB COLUN	<b>IN</b>		1				
C1	8	0.300	0.500	0.600	219.0	157.680				
C2	6	0.300	0.500	0.600	263.0	142.020				
C3	12	0.300	0.600	0.600	191.0	247.536				
C4	5	0.300	0.600	0.600	222.0	119.881				
C5	3	0.300	0.600	0.600	250.0	81.000				
C6	15	0.400	0.600	0.600	180.0	388.800				
C7	3	0.400	0.600	0.600	198.0	85.536				
C8	1	0.400	0.600	0.600	237.0	34.128				
C9	2	0.400	0.600	0.600	270.0	77.760				
C10	6	0.400	0.600	0.600	198.0	171.072				
	400			Tota	al Quantity	32015.069	kilogram			
	Total Deducted Quantity 0.000 kilog									
Other Engineering Organ Net Total Quantity 32015.069 kilogram										
Say 32015.069 kilogram @ Rs 84.17 / kilogram Rs 2694708.36										
5.22A.6 Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete above plinth level. Thermo - Mechanically Treated bars of grade Fe-500D or more GROUND FLOOR COLUMNS										
Steel reinforcement for		level.Therm	o - Mechan	ically Treate						
Steel reinforcement for binding all complete a	bove plinth	GROUNE	o - Mechan O FLOOR C	ically Treate	ed bars of g	grade Fe-50				
Steel reinforcement for binding all complete a	bove plinth	GROUNE 0.300	o - Mechan O FLOOR Co 0.500	OLUMNS 4.500	ed bars of c	1182.600				
Steel reinforcement for binding all complete a C1	8 6	GROUNE 0.300 0.300	0 - Mechan  O FLOOR Co  0.500  0.500	OLUMNS 4.500 4.500	219.0 263.0	1182.600 1065.150				
Steel reinforcement for binding all complete a C1 C2 C3	8 6 12	0.300 0.300 0.300	0 - Mechan 0 FLOOR C 0.500 0.500 0.600	OLUMNS  4.500  4.500  4.500	219.0 263.0 191.0	1182.600 1065.150 1856.520				
Steel reinforcement for binding all complete at C1 C2 C3 C4	8 6 12 5	0.300 0.300 0.300 0.300	0 - Mechan 0 FLOOR C 0.500 0.500 0.600	OLUMNS 4.500 4.500 4.500 4.500	219.0 263.0 191.0 222.0	1182.600 1065.150 1856.520 899.100				
Steel reinforcement for binding all complete and C1 C2 C3 C4 C5	8 6 12 5	0.300 0.300 0.300 0.300 0.300	0 - Mechan 0 FLOOR C 0.500 0.500 0.600 0.600 0.600	0LUMNS 4.500 4.500 4.500 4.500 4.500	219.0 263.0 191.0 222.0 250.0	1182.600 1065.150 1856.520 899.100 607.500				
Steel reinforcement for binding all complete and C1 C2 C3 C4 C5 C6	8 6 12 5 3	0.300 0.300 0.300 0.300 0.300 0.300 0.400	0 - Mechan 0 FLOOR C 0.500 0.500 0.600 0.600 0.600	4.500 4.500 4.500 4.500 4.500 4.500 4.500	219.0 263.0 191.0 222.0 250.0 180.0	1182.600 1065.150 1856.520 899.100 607.500 2916.001				
Steel reinforcement for binding all complete and C1 C2 C3 C4 C5 C6 C7	8 6 12 5 3 15	0.300 0.300 0.300 0.300 0.300 0.300 0.400	0 - Mechan 0 FLOOR C 0.500 0.500 0.600 0.600 0.600 0.600	0LUMNS 4.500 4.500 4.500 4.500 4.500 4.500 4.500 4.500	219.0 263.0 191.0 222.0 250.0 180.0	1182.600 1065.150 1856.520 899.100 607.500 2916.001 641.521				
Steel reinforcement for binding all complete and C1 C2 C3 C4 C5 C6	8 6 12 5 3	0.300 0.300 0.300 0.300 0.300 0.300 0.400	0 - Mechan 0 FLOOR C 0.500 0.500 0.600 0.600 0.600	4.500 4.500 4.500 4.500 4.500 4.500 4.500	219.0 263.0 191.0 222.0 250.0 180.0	1182.600 1065.150 1856.520 899.100 607.500 2916.001				
	PC2 PC3 PC4  C1 C2 C3 C4 C5 C6 C7 C8 C9 C10	PC2 13 PC3 6 PC4 1  C1 8 C2 6 C3 12 C4 5 C5 3 C6 15 C7 3 C8 1 C9 2 C10 6  Other En	PC2 13 2.200 PC3 6 1.100 PC4 1 2.500  C1 8 0.300 C2 6 0.300 C3 12 0.300 C4 5 0.300 C5 3 0.300 C6 15 0.400 C7 3 0.400 C8 1 0.400 C9 2 0.400 C10 6 0.400  C10 6 0.400  C10 6 0.400  C10 6 0.400	PC2 13 2.200 1.000 PC3 6 1.100 1.000 PC4 1 2.500 1.100  STUB COLUN C1 8 0.300 0.500 C2 6 0.300 0.500 C3 12 0.300 0.600 C4 5 0.300 0.600 C5 3 0.300 0.600 C6 15 0.400 0.600 C7 3 0.400 0.600 C8 1 0.400 0.600 C9 2 0.400 0.600 C10 6 0.400 0.600  To  Other Engineering Organ Say 32015.069 kilogram 6	PC2 13 2.200 1.000 0.850 PC3 6 1.100 1.000 0.800 PC4 1 2.500 1.100 0.800  STUB COLUMN C1 8 0.300 0.500 0.600 C2 6 0.300 0.500 0.600 C3 12 0.300 0.600 0.600 C4 5 0.300 0.600 0.600 C5 3 0.300 0.600 0.600 C6 15 0.400 0.600 0.600 C7 3 0.400 0.600 0.600 C8 1 0.400 0.600 0.600 C9 2 0.400 0.600 0.600 C10 6 0.400 0.600 0.600  Total Total Deducte  Other Engineering Organ Net Total Say 32015.069 kilogram @ Rs 84.17 / 5.22A.6	PC2         13         2.200         1.000         0.850         196.0           PC3         6         1.100         1.000         0.800         216.0           PC4         1         2.500         1.100         0.800         191.0           STUB COLUMN           C1         8         0.300         0.500         0.600         219.0           C2         6         0.300         0.500         0.600         263.0           C3         12         0.300         0.600         0.600         191.0           C4         5         0.300         0.600         0.600         222.0           C5         3         0.300         0.600         0.600         250.0           C6         15         0.400         0.600         0.600         180.0           C7         3         0.400         0.600         0.600         198.0           C8         1         0.400         0.600         0.600         270.0           C9         2         0.400         0.600         0.600         198.0           Total Quantity           Total Deducted Quantity           One on the	PC2         13         2.200         1.000         0.850         196.0         4764.760           PC3         6         1.100         1.000         0.800         216.0         1140.481           PC4         1         2.500         1.100         0.800         191.0         420.201           STUB COLUMN           C1         8         0.300         0.500         0.600         219.0         157.680           C2         6         0.300         0.500         0.600         263.0         142.020           C3         12         0.300         0.600         0.600         191.0         247.536           C4         5         0.300         0.600         0.600         222.0         119.881           C5         3         0.300         0.600         0.600         250.0         81.000           C6         15         0.400         0.600         0.600         180.0         388.800           C7         3         0.400         0.600         0.600         198.0         85.536           C8         1         0.400         0.600         0.600         237.0         34.128           C9         2			

B1(GRID 1-1)   1   3.700   0.300   0.300   184.0   61.273     1   3.700   0.300   0.300   184.0   61.273     1   3.900   0.300   0.300   184.0   64.584     1   3.980   0.300   0.300   184.0   65.909     1   4.670   0.300   0.300   184.0   65.909     1   4.670   0.300   0.300   184.0   77.336     B2(GRID 1-1)   3   4.600   0.300   0.300   184.0   228.528     B3(GRID 1-1)   1   6.420   0.300   0.300   184.0   106.316     1   4.700   0.300   0.300   184.0   77.832     B4(GRID 2-2)   1   3.900   0.300   0.450   164.0   86.346     B5(GRID 2-2)   1   8.800   0.300   0.450   164.0   221.400     1   10.120   0.300   0.450   164.0   221.400     B6(GRID 2-2)   1   12.100   0.300   0.300   184.0   200.376     B7(GRID 3-3)   1   3.800   0.300   0.300   184.0   62.928     3.800   0.300   0.300   184.0   62.928     3.800   0.300   0.300   184.0   62.928     3.800   0.300   0.300   184.0   62.928     3.800   0.300   0.300   0.300   184.0   62.928     3.800   0.300   0.300   0.300   184.0   62.928     3.800   0.300   0.300   0.300   184.0   62.928     3.800   0.300   0.300   0.300   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800   3.800	
1 3.700 0.300 0.300 184.0 61.273  1 3.900 0.300 0.300 184.0 64.584  1 3.980 0.300 0.300 184.0 65.909  1 4.670 0.300 0.300 184.0 77.336  B2(GRID 1-1) 3 4.600 0.300 0.300 184.0 228.528  B3(GRID 1-1) 1 6.420 0.300 0.300 184.0 106.316  1 4.700 0.300 0.300 184.0 77.832  B4(GRID 2-2) 1 3.900 0.300 0.450 164.0 86.346  B5(GRID 2-2) 1 8.800 0.300 0.450 164.0 194.833  1 10.000 0.300 0.450 164.0 221.400  1 10.120 0.300 0.450 164.0 224.057  B6(GRID 2-2) 1 12.100 0.300 0.300 184.0 200.376  B7(GRID 3-3) 1 3.800 0.300 0.300 184.0 62.928	
1       3.900       0.300       0.300       184.0       64.584         1       3.980       0.300       0.300       184.0       65.909         1       4.670       0.300       0.300       184.0       77.336         B2(GRID 1-1)       3       4.600       0.300       0.300       184.0       228.528         B3(GRID 1-1)       1       6.420       0.300       0.300       184.0       106.316         1       4.700       0.300       0.300       184.0       77.832         B4(GRID 2-2)       1       3.900       0.300       0.450       164.0       86.346         B5(GRID 2-2)       1       8.800       0.300       0.450       164.0       194.833         1       10.000       0.300       0.450       164.0       221.400         1       10.120       0.300       0.450       164.0       224.057         B6(GRID 2-2)       1       12.100       0.300       0.300       184.0       200.376         B7(GRID 3-3)       1       3.800       0.300       0.300       184.0       62.928	
1 3.980 0.300 0.300 184.0 65.909  1 4.670 0.300 0.300 184.0 77.336  B2(GRID 1-1) 3 4.600 0.300 0.300 184.0 228.528  B3(GRID 1-1) 1 6.420 0.300 0.300 184.0 106.316  1 4.700 0.300 0.300 184.0 77.832  B4(GRID 2-2) 1 3.900 0.300 0.450 164.0 86.346  B5(GRID 2-2) 1 8.800 0.300 0.450 164.0 194.833  1 10.000 0.300 0.450 164.0 221.400  1 10.120 0.300 0.450 164.0 224.057  B6(GRID 2-2) 1 12.100 0.300 0.300 184.0 200.376  B7(GRID 3-3) 1 3.800 0.300 0.300 184.0 62.928	
1       4.670       0.300       0.300       184.0       77.336         B2(GRID 1-1)       3       4.600       0.300       0.300       184.0       228.528         B3(GRID 1-1)       1       6.420       0.300       0.300       184.0       106.316         1       4.700       0.300       0.300       184.0       77.832         B4(GRID 2-2)       1       3.900       0.300       0.450       164.0       86.346         B5(GRID 2-2)       1       8.800       0.300       0.450       164.0       194.833         1       10.000       0.300       0.450       164.0       221.400         1       10.120       0.300       0.450       164.0       224.057         B6(GRID 2-2)       1       12.100       0.300       0.300       184.0       200.376         B7(GRID 3-3)       1       3.800       0.300       0.300       184.0       62.928	
B2(GRID 1-1)       3       4.600       0.300       0.300       184.0       228.528         B3(GRID 1-1)       1       6.420       0.300       0.300       184.0       106.316         1       4.700       0.300       0.300       184.0       77.832         B4(GRID 2-2)       1       3.900       0.300       0.450       164.0       86.346         B5(GRID 2-2)       1       8.800       0.300       0.450       164.0       194.833         1       10.000       0.300       0.450       164.0       221.400         1       10.120       0.300       0.450       164.0       224.057         B6(GRID 2-2)       1       12.100       0.300       0.300       184.0       200.376         B7(GRID 3-3)       1       3.800       0.300       0.300       184.0       62.928	
B3(GRID 1-1)       1       6.420       0.300       0.300       184.0       106.316         1       4.700       0.300       0.300       184.0       77.832         B4(GRID 2-2)       1       3.900       0.300       0.450       164.0       86.346         B5(GRID 2-2)       1       8.800       0.300       0.450       164.0       194.833         1       10.000       0.300       0.450       164.0       221.400         1       10.120       0.300       0.450       164.0       224.057         B6(GRID 2-2)       1       12.100       0.300       0.300       184.0       200.376         B7(GRID 3-3)       1       3.800       0.300       0.300       184.0       62.928	
1       4.700       0.300       0.300       184.0       77.832         B4(GRID 2-2)       1       3.900       0.300       0.450       164.0       86.346         B5(GRID 2-2)       1       8.800       0.300       0.450       164.0       194.833         1       10.000       0.300       0.450       164.0       221.400         1       10.120       0.300       0.450       164.0       224.057         B6(GRID 2-2)       1       12.100       0.300       0.300       184.0       200.376         B7(GRID 3-3)       1       3.800       0.300       0.300       184.0       62.928	
B4(GRID 2-2)       1       3.900       0.300       0.450       164.0       86.346         B5(GRID 2-2)       1       8.800       0.300       0.450       164.0       194.833         1       10.000       0.300       0.450       164.0       221.400         1       10.120       0.300       0.450       164.0       224.057         B6(GRID 2-2)       1       12.100       0.300       0.300       184.0       200.376         B7(GRID 3-3)       1       3.800       0.300       0.300       184.0       62.928	
B5(GRID 2-2)       1       8.800       0.300       0.450       164.0       194.833         1       10.000       0.300       0.450       164.0       221.400         1       10.120       0.300       0.450       164.0       224.057         B6(GRID 2-2)       1       12.100       0.300       0.300       184.0       200.376         B7(GRID 3-3)       1       3.800       0.300       0.300       184.0       62.928	
1 10.000 0.300 0.450 164.0 221.400 1 10.120 0.300 0.450 164.0 224.057  B6(GRID 2-2) 1 12.100 0.300 0.300 184.0 200.376  B7(GRID 3-3) 1 3.800 0.300 0.300 184.0 62.928	
1 10.120 0.300 0.450 164.0 224.057  B6(GRID 2-2) 1 12.100 0.300 0.300 184.0 200.376  B7(GRID 3-3) 1 3.800 0.300 0.300 184.0 62.928	
B6(GRID 2-2)     1     12.100     0.300     0.300     184.0     200.376       B7(GRID 3-3)     1     3.800     0.300     0.300     184.0     62.928	
B7(GRID 3-3) 1 3.800 0.300 0.300 184.0 62.928	
1   4.030   0.300   0.300   184.0   66.737	
1 4.150 0.300 0.300 184.0 68.724	
Other Engi4.700 rin 50.300 gano.300 ion 3184.0 77.832	
B8(GRID 3-3) 1 4.700 0.300 0.300 184.0 77.832	
1 4.680 0.300 0.300 184.0 77.501	
1 4.720 0.300 0.300 184.0 78.164	
B9(GRID 3-3) 1 6.280 0.300 0.300 184.0 103.997	
1 5.220 0.300 0.300 184.0 86.444	
B10(GRID 4-4) 1 3.700 0.300 0.300 184.0 61.273	
1 5.880 0.300 0.300 184.0 97.373	
1 5.520 0.300 0.300 184.0 91.412	
1 5.100 0.300 0.300 184.0 84.456	
B11(GRID 4-4) 1 2.890 0.300 0.300 184.0 47.859	
B12(GRID 4-4) 1 4.620 0.300 0.300 184.0 76.508	
1 6.270 0.300 0.300 184.0 103.832	
1 4.540 0.300 0.300 184.0 75.183	
1 3.660 0.300 0.300 184.0 60.610	
B13(GRID 4-5) 1 5.200 0.300 0.300 184.0 86.112	

		1		ı		İ		
B14(0	GRID 4-5)	1	21.010	0.300	0.300	184.0	347.926	
B15(0	GRID 5-5)	1	12.000	0.300	0.450	164.0	265.680	
		1	5.200	0.300	0.450	164.0	115.129	
B16(0	GRID 5-5)	1	3.000	0.300	0.300	184.0	49.680	
		1	11.700	0.300	0.300	184.0	193.752	
B17(0	GRID 5-5)	1	8.800	0.300	0.450	184.0	218.593	
B18(0	GRID 6-6)	1	3.700	0.300	0.300	184.0	61.273	
		1	5.580	0.300	0.300	184.0	92.405	
		1	5.320	0.300	0.300	184.0	88.100	
		1	5.050	0.300	0.300	184.0	83.628	
B19(0	GRID 6-6)	1	2.950	0.300	0.450	164.0	65.313	
B20(0	GRID 6-6)	1	6.400	0.300	0.300	184.0	105.984	
		1	4.600	0.300	0.300	184.0	76.176	
		1	3.700	0.300	0.300	184.0	61.273	
B21(0	GRID 7-7)	1	7.400	0.300	0.300	184.0	122.545	
B22(0	GRID 8-8)	1	3.100	0.300	0.300	184.0	51.336	
		1	3.100	0.300	0.300	184.0	51.336	
B23(0	GRID 1-2)	thes En	ginatori	ngo.300g	an <b>o</b> 95010	11\$260.0	76.635	
B24(0	GRID 2-2)	1	3.900	0.300	0.300	184.0	64.584	
B25(0	GRID 5-6)	2	1.300	0.300	0.150	260.0	30.420	
B26(0	GRID 6-6)	1	3.800	0.300	0.450	164.0	84.132	
B27(0	GRID 5-6)	1	3.800	0.300	0.450	164.0	84.132	
B28(0	GRID 4-4)	1	5.700	0.300	0.300	184.0	94.392	
B29(0	GRID 3-3)	1	5.700	0.300	0.300	184.0	94.392	
B30(0	GRID 2-2)	1	5.700	0.300	0.300	184.0	94.392	
B31(0	GRID 4-1)	1	3.000	0.300	0.300	184.0	49.680	
		1	4.700	0.300	0.300	184.0	77.832	
		1	5.100	0.300	0.300	184.0	84.456	
B32(0	GRID 4-6)	1	5.000	0.300	0.300	184.0	82.800	
		1	5.500	0.300	0.300	184.0	91.080	
B33(0	GRID 1-2)	1	6.220	0.300	0.300	184.0	103.004	
B34(0	GRID 2-3)	1	3.780	0.300	0.300	184.0	62.597	
B35(0	GRID 4-5)	1	5.420	0.300	0.300	184.0	89.756	

B36(GRID 5-6)	1	5.580	0.300	0.150	260.0	65.286	
B37(GRID 4-1)	1	5.000	0.300	0.300	184.0	82.800	
	1	4.700	0.300	0.450	164.0	104.058	
	1	3.000	0.300	0.450	164.0	66.420	
B38(GRID 4-6)	1	4.800	0.300	0.450	164.0	106.272	
	1	5.700	0.300	0.450	164.0	126.198	
B39(GRID C-C)	1	10.200	0.300	0.300	184.0	168.912	
	1	3.000	0.300	0.300	184.0	49.680	
B40(GRID C-C)	1	5.500	0.300	0.300	184.0	91.080	
B41(GRID 5-6)	1	5.700	0.300	0.300	184.0	94.392	
B42(GRID D-D)	1	4.700	0.300	0.300	184.0	77.832	
	1	5.000	0.300	0.300	184.0	82.800	
B43(GRID E-E)	1 4	10.200	0.300	0.300	184.0	168.912	
B44(GRID 4-6)	1	5.700	0.300	0.450	164.0	126.198	
	(/1)	5.100	0.300	0.450	164.0	112.914	
B45(GRID 4-6)	1	5.700	0.300	0.450	164.0	126.198	
	1	5.100	0.300	0.450	164.0	112.914	
B46(GRID 4-1)	other Er	gi3.0001i	ngo.300 g	ano.30010	NS184.0	49.680	
	1	4.700	0.300	0.300	184.0	77.832	
	1	4.800	0.300	0.300	184.0	79.488	
B47(GRID 5-6)	1	5.700	0.300	0.300	184.0	94.392	
B48(GRID 1-3)	1	10.300	0.300	0.300	184.0	170.568	
B49(GRID 3-6)	1	10.800	0.300	0.450	164.0	239.113	
B50(GRID 1-3)	1	4.800	0.300	0.300	184.0	79.488	
	1	4.700	0.300	0.300	184.0	77.832	
B51(GRID 6-4)	1	5.400	0.300	0.300	184.0	89.424	
B52(GRID I-I)	1	10.300	0.300	0.450	164.0	228.042	
B53(GRID 6-6)	1	4.700	0.300	0.300	184.0	77.832	
B54(GRID 5-6)	1	5.100	0.300	0.300	184.0	84.456	
	1	5.400	0.300	0.300	184.0	89.424	
B55(GRID 2-4)	1	4.750	0.300	0.300	184.0	78.660	
	1	2.900	0.300	0.300	184.0	48.024	
B56(GRID 2-4)	1	4.750	0.300	0.300	184.0	78.660	

	1	2.700	0.300	0.300	184.0	44.712	
B57(GRID 6-8)	1	1.580	0.300	0.300	184.0	26.165	
	1	4.510	0.300	0.300	184.0	74.686	
B58(GRID 6-8)	1	6.400	0.300	0.300	184.0	105.984	
B59(GRID 6-8)	1	1.580	0.300	0.450	164.0	34.982	
	1	4.510	0.300	0.450	164.0	99.852	
B60(GRID 4-5)	1	5.100	0.300	0.450	164.0	112.914	
B61(GRID 4-5)	1	4.500	0.300	0.450	164.0	99.630	
B62(GRID 4-6)	1	11.000	0.300	0.300	184.0	182.160	
B63(GRID 4-3)	1	3.000	0.300	0.300	184.0	49.680	
B64(GRID 4-3)	1	3.000	0.300	0.300	184.0	49.680	
B65(GRID 4-3)	1	3.000	0.300	0.300	184.0	49.680	
	6	GROUND	FLOOR RO	OF SLAB			
S1	1	42.800	11.190	0.150	57.0	4094.869	
	1	6.000	3.490	0.150	57.0	179.037	
	1	5.600	9.600	0.150	57.0	459.648	
	1	6.290	21.600	0.150	57.0	1161.638	
(	Other En	gi5.3001i	n 25.600 g	anos 5010	<b>11</b> S57.0	253.764	
	1	12.700	11.900	0.150	57.0	1292.162	
	1	5.720	2.600	0.150	57.0	127.156	
	1	8.850	3.300	0.150	57.0	249.703	
	1	3.000	4.370	0.150	57.0	112.091	
PORCH S1	1	8.000	5.410	0.150	57.0	370.044	
	-1	7.700	6.000	0.150	57.0	-395.010	
S2	1	7.700	6.000	0.150	60.0	415.800	
	1	2.300	1.120	0.150	60.0	23.184	
S4	1	1.910	5.660	0.150	62.0	100.539	
	1	1.200	4.380	0.150	62.0	48.881	
	1	1.600	5.700	0.150	62.0	84.816	
	1	4.200	6.180	0.150	62.0	241.391	
	1	5.200	5.900	0.150	62.0	285.324	
	1	3.300	6.290	0.150	62.0	193.041	
	1	8.000	1.590	0.150	62.0	118.296	

S3	1	2.290	5.760	0.150	58.0	114.757	
	 1	3.000	5.600	0.150	58.0	146.160	
	<u>'</u> 1	5.900	6.700	0.150	58.0	343.911	
		3.290	38.150	0.150	58.0	1091.968	
	1		E FLOOR C		56.0	1091.900	
C4	4				240.0	275.040	
C1 C2	4	0.300	0.500	2.100	219.0	275.940	
	6	0.300	0.500	2.100	263.0	497.071	
C3	2	0.300	0.600	2.100	191.0	144.397	
IOT FLIGHT			ND FLOOR		1.10.0	400.000	
IST FLIGHT	1	3.870	2.000	0.150	143.0	166.023	
2ND FLIGHT	1	2.380	2.000	0.150	143.0	102.102	
3RD FLIGHT	1	3.700	2.000	0.150	143.0	158.731	
LANDING	2	2.000	2.000	0.150	143.0	171.600	
STEPS	0.5*28	2.000	0.300	0.150	143.0	180.180	
Z BEAM	1	5.150	0.300	0.550	143.0	121.515	
FIRE STAIR FLIGHT	1	3.870	2.000	0.150	143.0	166.023	
2ND FLIGHT	1	2.380	2.000	0.150	143.0	102.102	
3RD FLIGHT	ther En	gi3.70011	ng.000g	an <b>o</b> 95010	NS143.0	158.731	
LANDING	2	2.000	2.000	0.150	143.0	171.600	
STEPS	0.5*28	2.000	0.300	0.150	143.0	180.180	
Z BEAM	1	5.750	0.300	0.550	143.0	135.672	
	10	CM WIDE F	RC LINTELS	AND BAND	os		
MMV WORKSHOP	2	4.000	0.100	0.150	168.0	20.160	
	2	3.800	0.100	0.150	168.0	19.152	
STORE	2*2	5.700	0.100	0.150	168.0	57.456	
	4*2	2.780	0.100	0.150	168.0	56.045	
TOILET AND CHANGE	1*2	3.570	0.100	0.150	168.0	17.993	
	2*2	1.600	0.100	0.150	168.0	16.129	
	2*2	2.660	0.100	0.150	168.0	26.813	
	1*2	3.000	0.100	0.150	168.0	15.121	
TOILET AND CHANGE	3*2	2.690	0.100	0.150	168.0	40.673	

	2*2	5.300	0.100	0.150	168.0	53.424
	4*2					
OTODE		1.640	0.100	0.150	168.0	33.063
STORE	1*2	5.800	0.100	0.150	168.0	29.232
	1*2	2.600	0.100	0.150	168.0	13.104
DUCT	2*2	1.200	0.100	0.150	168.0	12.096
DEDUCE D3	-11	0.800	0.100	0.150	168.0	-22.176
	20	OCM WIDE F	RC LINTELS	AND BAND	DS .	
MMV WORKSHOP	2	41.400	0.200	0.150	180.0	447.120
	2	9.900	0.200	0.150	180.0	106.921
	2	38.800	0.200	0.150	180.0	419.040
	2	5.650	0.200	0.150	180.0	61.020
	2	9.700	0.200	0.150	180.0	104.760
LEFT SIDE WALL	2	23.100	0.200	0.150	180.0	249.480
TOILET AND	2	2.690	0.200	0.150	180.0	29.053
P L U M B E R W O R K S H O P	2	16.600	0.200	0.150	180.0	179.280
	2	10.500	0.200	0.150	180.0	113.400
	ther Er	191neen 10.800	ng Orga 0.200	anisatio 0.150	NS 180.0	116.640
STORE	2*2	5.200	0.200	0.150	180.0	112.320
	2*2	5.200	0.200	0.150	180.0	112.320
FRONT	2	42.200	0.200	0.150	180.0	455.761
STAFFROOM	2	18.200	0.200	0.150	180.0	196.560
	2	10.400	0.200	0.150	180.0	112.320
	2	11.700	0.200	0.150	180.0	126.360
	2	10.000	0.200	0.150	180.0	108.000
	2	10.500	0.200	0.150	180.0	113.400
DINING	2	10.050	0.200	0.150	180.0	108.541
	2	5.000	0.200	0.150	180.0	54.000
TOILET	2	5.200	0.200	0.150	180.0	56.160
I OILL I	2*2	1.700	0.200	0.150	180.0	36.721
	2	5.320	0.200	0.150	180.0	57.456
	2*2	1.980	0.200	0.150	180.0	42.768

			1					
		2	8.800	0.200	0.150	180.0	95.040	
	STAFFROOM	2	7.350	0.200	0.150	180.0	79.380	
		2*2	5.700	0.200	0.150	180.0	123.120	
	MD	-1	0.300	0.200	0.150	180.0	-1.619	
	D	-1	1.800	0.200	0.150	180.0	-9.720	
	D1	-11	1.000	0.200	0.150	180.0	-59.399	
	D2	-8	1.200	0.200	2.100	180.0	-725.760	
	D3	-4	0.800	0.200	0.150	180.0	-17.280	
	RS	-1	4.000	0.200	0.150	180.0	-21.599	
	RS1	-2	2.400	0.200	0.150	180.0	-25.919	
			RO	SUNSHA	DE			
		1	46.200	0.600	0.100	72.0	199.584	
		6	J. Z	S. N	Tota	al Quantity	39484.303	kg
		16		To	otal Deducte	d Quantity	0.000 kg	
						7	20404 202	ادم
		1/32	Line		Net Tota	al Quantity	39484.303	kg
20	5.34.1	ner mixes at	PA TO HER	a 310	03 kg @ Rs	84.17 / kg	Rs 332	3393.78
20	5.34.1 Extra for providing rich content used is payab BMC/RMC. (Note:- Ce	le/ recovera	all floor lev	els, Note:- I	03 kg @ Rs Excess/less g M-30 grad	84.17 / kg cement ove	Rs 332	3393.78
20	Extra for providing rich content used is payab	le/ recovera	all floor levelble separate	els, Note:- I	Excess/less g M-30 grad s @ 340 kg	84.17 / kg cement ove	Rs 332	3393.78
20	Extra for providing rich content used is payab	le/ recovera	all floor levelble separate	els, Note:- l ely.Providin ed in M-30 i	Excess/less g M-30 grad s @ 340 kg	84.17 / kg cement ove	Rs 332	3393.78
20	Extra for providing rich content used is payab BMC/RMC. (Note:- Ce	ement conte	all floor levelble separate on the considered G	els. Note:- lely.Providined in M-30 i	Excess/less g M-30 grad s @ 340 kg	84.17 / kg cement ove	Rs 332 er the specif	3393.78
20	Extra for providing rich content used is payab BMC/RMC. (Note:- Ce	le/ recovera	all floor levelship separate on sidere G	els. Note:- I ely.Providin ed in M-30 i RADE BEA 0.300	23 kg @ Rs 2 Excess/less g M-30 grad s @ 340 kg M	84.17 / kg cement ove	er the specific instead of 1	3393.78
20	Extra for providing rich content used is payab BMC/RMC. (Note:- Ce	le/ recoveragement conte	all floor level ble separate nt considere G 36.600 33.600	els. Note:- I ely.Providin ed in M-30 i RADE BEA 0.300 0.300	Excess/less g M-30 grad s @ 340 kg M 0.100 0.250	84.17 / kg cement ove	er the specific instead of 1.098	3393.78
20	Extra for providing rich content used is payab BMC/RMC. (Note:- Ce B1(GRID 1-K) B2(GRID 3-3) B2(GRID 4-4)	1 1 1	all floor level ble separate nt considere G 36.600 33.600 39.050	els. Note:- I ely.Providin ed in M-30 i RADE BEA 0.300 0.300	03 kg @ Rs a  Excess/less g M-30 grad s @ 340 kg M 0.100 0.250 0.250	84.17 / kg cement ove	1.098 2.520 2.929	3393.78
20	Extra for providing rich content used is payab BMC/RMC. (Note:- Ce B1(GRID 1-K) B2(GRID 3-3) B2(GRID 4-4) B3(GRID 1-K)	1 1 1	all floor level ble separate nt considere G 36.600 33.600 39.050 70.970	els. Note:- I ely.Providin ed in M-30 i RADE BEA 0.300 0.300 0.300	03 kg @ Rs a  Excess/less g M-30 grad s @ 340 kg M 0.100 0.250 0.250 0.250	84.17 / kg cement ove	1.098 2.520 2.929 5.323	3393.78
20	Extra for providing rich content used is payab BMC/RMC. (Note:- Ce B1(GRID 1-K) B2(GRID 3-3) B2(GRID 4-4) B3(GRID 1-K) B4(GRID 1-1)	1 1 1 1	all floor level ble separate nt considere 36.600 33.600 39.050 70.970 42.650	els. Note:- I ely.Providin ed in M-30 i RADE BEA 0.300 0.300 0.300 0.300	03 kg @ Rs a  Excess/less g M-30 grad s @ 340 kg M 0.100 0.250 0.250 0.250 0.400	84.17 / kg cement ove	1.098 2.520 2.929 5.323 5.118	3393.78
20	Extra for providing rich content used is payab BMC/RMC. (Note:- Cell B1(GRID 1-K) B2(GRID 3-3) B2(GRID 4-4) B3(GRID 1-K) B4(GRID 1-1) B4(GRID 2-2)	1 1 1 1 1 1	all floor level ble separate nt considere 36.600 33.600 39.050 70.970 42.650 51.560	els. Note:- I ely.Providin ed in M-30 i RADE BEA 0.300 0.300 0.300 0.300 0.300	03 kg @ Rs a  Excess/less g M-30 grad s @ 340 kg M 0.100 0.250 0.250 0.250 0.400 0.400	84.17 / kg cement ove	1.098 2.520 2.929 5.323 5.118 6.188	3393.78
20	Extra for providing rich content used is payab BMC/RMC. (Note:- Cell B1(GRID 1-K) B2(GRID 3-3) B2(GRID 4-4) B3(GRID 1-K) B4(GRID 1-1) B4(GRID 2-2) B4(GRID 5-5)	1 1 1 1 1 1 1 1	all floor level ble separate nt considere 36.600 33.600 70.970 42.650 51.560 33.240	els. Note:- I ely.Providin ed in M-30 i RADE BEA 0.300 0.300 0.300 0.300 0.300 0.300	03 kg @ Rs a  Excess/less g M-30 grad s @ 340 kg M 0.100 0.250 0.250 0.250 0.400 0.400 0.400	84.17 / kg cement ove	1.098 2.520 2.929 5.323 5.118 6.188 3.989	3393.78
20	Extra for providing rich content used is payab BMC/RMC. (Note:- Cell B1(GRID 1-K) B2(GRID 3-3) B2(GRID 4-4) B3(GRID 1-K) B4(GRID 1-1) B4(GRID 2-2) B4(GRID 5-5) B4(GRID 6-6)	1 1 1 1 1 1 1 1 1 1 1	all floor level ble separate nt considere 36.600 33.600 39.050 70.970 42.650 51.560 33.240 42.350	els. Note:- I ely.Providin ed in M-30 i RADE BEA 0.300 0.300 0.300 0.300 0.300 0.300 0.300	03 kg @ Rs a  Excess/less g M-30 grad s @ 340 kg M 0.100 0.250 0.250 0.250 0.400 0.400 0.400 0.400	84.17 / kg cement ove	1.098 2.520 2.929 5.323 5.118 6.188 3.989 5.083	3393.78
20	Extra for providing rich content used is payab BMC/RMC. (Note:- Cell B1(GRID 1-K) B2(GRID 3-3) B2(GRID 4-4) B3(GRID 1-K) B4(GRID 1-1) B4(GRID 2-2) B4(GRID 5-5) B4(GRID 6-6) B4(GRID 3-3)	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	all floor level ble separate nt considere 36.600 33.600 39.050 70.970 42.650 51.560 33.240 42.350 5.700	els. Note:- I ely.Providin ed in M-30 i RADE BEA 0.300 0.300 0.300 0.300 0.300 0.300 0.300	03 kg @ Rs a  Excess/less g M-30 grad s @ 340 kg M 0.100 0.250 0.250 0.250 0.400 0.400 0.400 0.400 0.400	84.17 / kg cement ove	1.098 2.520 2.929 5.323 5.118 6.188 3.989 5.083 0.684	3393.78
20	Extra for providing rich content used is payab BMC/RMC. (Note:- Cell B1(GRID 1-K) B2(GRID 3-3) B2(GRID 4-4) B3(GRID 1-K) B4(GRID 1-1) B4(GRID 2-2) B4(GRID 5-5) B4(GRID 6-6) B4(GRID 3-3) B4(GRID 4-4)	1 1 1 1 1 1 1 1 1 1 1 1 1	all floor level ble separate nt considere 36.600 33.600 39.050 70.970 42.650 51.560 33.240 42.350 5.700	els. Note:- I ely.Providin ed in M-30 i RADE BEA 0.300 0.300 0.300 0.300 0.300 0.300 0.300 0.300	03 kg @ Rs a  Excess/less g M-30 grad s @ 340 kg M 0.100 0.250 0.250 0.250 0.400 0.400 0.400 0.400 0.400 0.400	84.17 / kg cement ove	1.098 2.520 2.929 5.323 5.118 6.188 3.989 5.083 0.684 0.684	3393.78

B4(GRID D-D)	1	9.200	0.300	0.400		1.104	
B4(GRID E-E)	1	20.750	0.300	0.400		2.490	
B4(GRID F-F)	1	30.990	0.300	0.400		3.719	
B4(GRID G-G)	1	10.310	0.300	0.400		1.238	
B4(GRID H-H)	1	20.830	0.300	0.400		2.500	
B4(GRID I-I)	1	21.390	0.300	0.400		2.567	
B4(GRID J-J)	1	24.110	0.300	0.400		2.894	
B4(GRID K-K)	1	8.000	0.300	0.400		0.960	
B4(GRID 7-8)	1	23.220	0.300	0.400		2.787	
B5(GRID G-G)	1	9.500	0.300	0.600		1.710	
B6(GRID 5-5)	1	11.610	0.300	0.400		1.394	
		G	RADE SLA	В			
S1	1 4	5.700	27.300	0.200		31.123	
	1	5.600	7.100	0.200		7.952	
	1	5.600	2.900	0.200	L	3.248	
1	1	42.800	5.600	0.200		47.936	
	1	6.000	9.000	0.200		10.800	
0	ther En	g 19.20011	ng.000g	an <b>o.2001</b> 0	ns	5.520	
	1	5.900	12.400	0.200	7	14.633	
	1	5.900	20.600	0.200	1	24.309	
	1	3.500	4.000	0.200		2.801	
	1	6.300	26.300	0.200		33.138	
	1	5.100	4.400	0.200		4.488	
	1	5.300	6.300	0.200		6.679	
	1	4.000	3.900	0.200		3.120	
S2	1	2.800	5.600	0.200		3.136	
	1	2.700	5.600	0.200		3.024	
	1	4.200	6.900	0.200		5.797	
	1	4.200	6.500	0.200		5.461	
	1	1.900	5.700	0.200		2.166	
	1	4.000	4.800	0.200		3.840	
	1	8.000	1.900	0.200		3.040	
	1	5.100	1.900	0.200		1.938	

		1	2.100	6.300	0.200	2.647
		1	2.600	5.900	0.200	3.069
S3		1	37.900	3.000	0.200	22.740
		1	3.200	5.900	0.200	3.777
		1	2.300	5.600	0.200	2.576
		l		PILE CAP		
PC1		41	1.000	1.000	0.800	32.801
PC2		13	2.200	1.000	0.850	24.311
PC3		6	1.100	1.000	0.800	5.281
PC4		1	2.500	1.100	0.800	2.200
			GROUNE	FLOOR C	OLUMNS	
C1		8	0.300	0.500	4.500	5.400
C2		6	0.300	0.500	4.500	4.050
СЗ		12	0.300	0.600	4.500	9.720
C4		5	0.300	0.600	4.500	4.050
C5		3	0.300	0.600	4.500	2.430
C6		15	0.400	0.600	4.500	16.201
C7	0	the <b>s</b> En	gi0.4001i	ngo.600g	an <b>i.500</b> 10	ns 3.240
C8		1	0.400	0.600	4.500	1.080
C9		2	0.400	0.600	4.500	2.160
C10		6	0.400	0.600	4.500	6.480
			GROUND F	LOOR RO	OF BEAMS	
B1(0	GRID 1-1)	1	3.700	0.300	0.300	0.333
		1	3.900	0.300	0.300	0.351
		1	3.980	0.300	0.300	0.359
		1	4.670	0.300	0.300	0.421
B2(0	GRID 1-1)	3	4.600	0.300	0.300	1.242
B3(0	GRID 1-1)	1	6.420	0.300	0.300	0.578
		1	4.700	0.300	0.300	0.423
B4(0	GRID 2-2)	1	3.900	0.300	0.450	0.527
B5(0	GRID 2-2)	1	8.800	0.300	0.450	1.189
		1	10.000	0.300	0.450	1.350
		1	10.120	0.300	0.450	1.367

B6(GRID 2-2)	1	12.100	0.300	0.300	1.089
B7(GRID 3-3)	1	3.800	0.300	0.300	0.342
	1	4.030	0.300	0.300	0.363
	1	4.150	0.300	0.300	0.374
	1	4.700	0.300	0.300	0.423
B8(GRID 3-3)	1	4.700	0.300	0.300	0.423
	1	4.680	0.300	0.300	0.422
	1	4.720	0.300	0.300	0.425
B9(GRID 3-3)	1	6.280	0.300	0.300	0.566
	1	5.220	0.300	0.300	0.470
B10(GRID 4-4)	1	3.700	0.300	0.300	0.333
	1	5.880	0.300	0.300	0.530
	1	5.520	0.300	0.300	0.497
	1	5.100	0.300	0.300	0.459
B11(GRID 4-4)	1	2.890	0.300	0.300	0.261
B12(GRID 4-4)	1	4.620	0.300	0.300	0.416
	1	6.270	0.300	0.300	0.565
	Other En	gi4.54011	ngo.300g	an <b>o.306</b> 10	ns 0.409
	1 1	3.660	0.300	0.300	0.330
B13(GRID 4-5)	1	5.200	0.300	0.300	0.468
B14(GRID 4-5)	1	21.010	0.300	0.300	1.891
B15(GRID 5-5)	1	12.000	0.300	0.450	1.620
	1	5.200	0.300	0.450	0.703
B16(GRID 5-5)	1	3.000	0.300	0.300	0.270
	1	11.700	0.300	0.300	1.053
B17(GRID 5-5)	1	8.800	0.300	0.450	1.189
B18(GRID 6-6)	1	3.700	0.300	0.300	0.333
	1	5.580	0.300	0.300	0.503
	1	5.320	0.300	0.300	0.479
	1	5.050	0.300	0.300	0.455
B19(GRID 6-6)	1	2.950	0.300	0.450	0.399
B20(GRID 6-6)	1	6.400	0.300	0.300	0.576
	1	4.600	0.300	0.300	0.414

	1	3.700	0.300	0.300	0.333
B21(GRID	7-7) 1	7.400	0.300	0.300	0.666
B22(GRID	9 8-8) 1	3.100	0.300	0.300	0.279
	1	3.100	0.300	0.300	0.279
B23(GRID	) 1-2) 5	1.310	0.300	0.150	0.295
B24(GRID	2-2) 1	3.900	0.300	0.300	0.351
B25(GRID	2 (5-6)	1.300	0.300	0.150	0.117
B26(GRID	0 6-6) 1	3.800	0.300	0.450	0.513
B27(GRID	5-6) 1	3.800	0.300	0.450	0.513
B28(GRID	1 1	5.700	0.300	0.300	0.513
B29(GRID	3-3) 1	5.700	0.300	0.300	0.513
B30(GRID	2-2) 1	5.700	0.300	0.300	0.513
B31(GRID	1 (1-1)	3.000	0.300	0.300	0.270
	1	4.700	0.300	0.300	0.423
	(/1)	5.100	0.300	0.300	0.459
B32(GRID	0 4-6) 1	5.000	0.300	0.300	0.450
	1	5.500	0.300	0.300	0.495
B33(GRID	o 1-2) Other E	Engi6.2201i	ngo.300g	ano.30010	ns 0.560
B34(GRID	2-3)	3.780	0.300	0.300	0.341
B35(GRID	0 4-5) 1	5.420	0.300	0.300	0.488
B36(GRID	5-6) 1	5.580	0.300	0.150	0.252
B37(GRID	0 4-1) 1	5.000	0.300	0.300	0.450
	1	4.700	0.300	0.450	0.635
	1	3.000	0.300	0.450	0.405
B38(GRID	0 4-6) 1	4.800	0.300	0.450	0.648
	1	5.700	0.300	0.450	0.770
B39(GRID	) C-C) 1	10.200	0.300	0.300	0.918
	1	3.000	0.300	0.300	0.270
B40(GRID	) C-C) 1	5.500	0.300	0.300	0.495
B41(GRID	0 5-6) 1	5.700	0.300	0.300	0.513
B42(GRID	D-D) 1	4.700	0.300	0.300	0.423
	1	5.000	0.300	0.300	0.450
B43(GRID	) E-E) 1	10.200	0.300	0.300	0.918

B44(GRID 4-6)	1	5.700	0.300	0.450	0.770
	1	5.100	0.300	0.450	0.689
B45(GRID 4-6)	1	5.700	0.300	0.450	0.770
	1	5.100	0.300	0.450	0.689
B46(GRID 4-1)	1	3.000	0.300	0.300	0.270
	1	4.700	0.300	0.300	0.423
	1	4.800	0.300	0.300	0.432
B47(GRID 5-6)	1	5.700	0.300	0.300	0.513
B48(GRID 1-3)	1	10.300	0.300	0.300	0.927
B49(GRID 3-6)	1	10.800	0.300	0.450	1.459
B50(GRID 1-3)	1	4.800	0.300	0.300	0.432
	1	4.700	0.300	0.300	0.423
B51(GRID 6-4)	1	5.400	0.300	0.300	0.486
B52(GRID I-I)	1	10.300	0.300	0.450	1.391
B53(GRID 6-6)	1	4.700	0.300	0.300	0.423
B54(GRID 5-6)	1	5.100	0.300	0.300	0.459
	1	5.400	0.300	0.300	0.486
B55(GRID 2-4)	Other En	gi4.7501i	ngo.300g	ano.300ior	1S 0.428
	1	2.900	0.300	0.300	0.261
B56(GRID 2-4)	1	4.750	0.300	0.300	0.428
	1	2.700	0.300	0.300	0.243
B57(GRID 6-8)	1	1.580	0.300	0.300	0.143
	1	4.510	0.300	0.300	0.406
B58(GRID 6-8)	1	6.400	0.300	0.300	0.576
B59(GRID 6-8)	1	1.580	0.300	0.450	0.214
	1	4.510	0.300	0.450	0.609
B60(GRID 4-5)	1	5.100	0.300	0.450	0.689
B61(GRID 4-5)	1	4.500	0.300	0.450	0.608
B62(GRID 4-6)	1	11.000	0.300	0.300	0.990
B63(GRID 4-3)	1	3.000	0.300	0.300	0.270
B64(GRID 4-3)	1	3.000	0.300	0.300	0.270
B65(GRID 4-3)	1	3.000	0.300	0.300	0.270
		GROUND	FLOOR RO	OOF SLAB	

S1	1	42.800	11.190	0.150	71.840
	1	6.000	3.490	0.150	3.141
	1	5.600	9.600	0.150	8.064
	1	6.290	21.600	0.150	20.380
	1	5.300	5.600	0.150	4.452
	1	12.700	11.900	0.150	22.670
	1	5.720	2.600	0.150	2.231
	1	8.850	3.300	0.150	4.381
	1	3.000	4.370	0.150	1.967
PORCH S1	1	8.000	5.410	0.150	6.492
	-1	7.700	6.000	0.150	-6.930
S2	1	7.700	6.000	0.150	6.931
	1	2.300	1.120	0.150	0.387
S4	(1)	1.910	5.660	0.150	1.622
	(/1)	1.200	4.380	0.150	0.789
	1	1.600	5.700	0.150	1.368
	1	4.200	6.180	0.150	3.894
	Other Er	gi5.2001i	ngs.900g	anog <b>s</b> óions	4.602
	1 1	3.300	6.290	0.150	3.114
	1	8.000	1.590	0.150	1.908
S3	1	2.290	5.760	0.150	1.979
	1	3.000	5.600	0.150	2.520
	1	5.900	6.700	0.150	5.930
	1	3.290	38.150	0.150	18.828
		TERRAC	E FLOOR C	OLUMNS	
C1	4	0.300	0.500	2.100	1.260
C2	6	0.300	0.500	2.100	1.891
C3	2	0.300	0.600	2.100	0.756
		GROU	ND FLOOR	STAIR	
IST FLIGHT	1	3.870	2.000	0.150	1.161
2ND FLIGHT	1	2.380	2.000	0.150	0.714
3RD FLIGHT	1	3.700	2.000	0.150	1.110
LANDING	2	2.000	2.000	0.150	1.200

	STEPS	0.5*28	2.000	0.300	0.150	1.260
	Z BEAM	1	5.150	0.300	0.550	0.850
	FIRE STAIR FLIGHT	1	3.870	2.000	0.150	1.161
	2ND FLIGHT	1	2.380	2.000	0.150	0.714
	3RD FLIGHT	1	3.700	2.000	0.150	1.110
	LANDING	2	2.000	2.000	0.150	1.200
		0.5*28	2.000	0.300	0.150	1.260
	Z BEAM	1	5.750	0.300	0.550	0.949
			ST	UB COLUN	ИN	
	C1	8	0.300	0.500	0.600	0.720
	C2	6	0.300	0.500	0.600	0.540
	C3	12	0.300	0.600	0.600	1.296
	C4	5	0.300	0.600	0.600	0.540
	C5	3	0.300	0.600	0.600	0.324
	C6	15	0.400	0.600	0.600	2.160
	C7	3	0.400	0.600	0.600	0.432
	C8	1	0.400	0.600	0.600	0.144
	C9 O	thez En	g 10:400 m	ngo.600g	ano.coóions	0.288
	C10	6	0.400	0.600	0.600	0.864
					Total Quantity	719.363 cum
				To	otal Deducted Quantity	0.000 cum
					Net Total Quantity	719.363 cum
			Say	719.363 cu	m @ Rs 103.35 / cum	Rs 74346.17
21	structure above plinth l	evel up to fl	oor V level i	n cement m	nortar 1:4 (1 cement : 4	ick AAC blocks in super coarse sand ). The rate hird course of masonry
	MMV WORKSHOP	1	4.000	0.100	3.750	1.500
		1	3.800	0.100	3.750	1.425
	STORE	2	5.700	0.100	3.750	4.275
		4	2.780	0.100	3.750	4.170
	TOILET AND CHANGE	1	3.570	0.100	3.750	1.339

				i				
		2	1.600	0.100	4.050		1.297	
		2	2.660	0.100	4.050		2.155	
		1	3.000	0.100	3.750		1.126	
	TOILET AND CHANGE	3	2.690	0.100	3.750		3.027	
		2	5.300	0.100	3.750		3.975	
		4	1.640	0.100	3.750		2.460	
	STORE	1	5.800	0.100	3.750		2.175	
		1	2.600	0.100	3.750		0.976	
	DUCT	2	1.200	0.100	3.750		0.900	
	PLANTER BOX	9	2.200	0.100	0.750		1.486	
		4	3.100	0.100	0.750		0.931	
	DEDUCE D3	-11	0.800	0.100	2.100		-1.848	
		11		2014	Tota	al Quantity	31.369 cu	m
		DAT	100	To	otal Deducte	d Quantity	0.000 cum	1
					Net Tota	al Quantity	31.369 cu	m
22	od304921/2019_2020	ther Er	66:33	the section	@ Rs 10139	.97 / cum	Rs 318	3080.72
22	od304921/2019_2020 Providing and laying austructure above plinth block laying polymer mayment of RCC band	level up to odified adh	erated ceme floor V level esive morta	nt blocks m with RCC I	@ Rs 10139 anisatio asonry with band at sill I	.97 / cum 200 mm thi evel and linection of Er	Rs 318	3080.72 cks in supe
22	structure above plinth l block laying polymer m	level up to odified adh	erated ceme floor V level esive mortal cement shal	nt blocks m with RCC I	@ Rs 10139 anisation asonry with band at sill I te as per dire or separately	.97 / cum 200 mm thi evel and linection of Er	Rs 318	3080.72 Eks in supe
22	structure above plinth l block laying polymer m	level up to odified adh	erated ceme floor V level esive mortal cement shal	nt blocks m with RCC I all complet be made for	@ Rs 10139 anisation asonry with band at sill I te as per dire or separately	.97 / cum 200 mm thi evel and linection of Er	Rs 318	3080.72 Eks in supe
22	structure above plinth l block laying polymer m payment of RCC band	level up to odified adh and reinfor	erated ceme floor V level esive mortal cement shal	nt blocks m with RCC I all complet be made for	@ Rs 10139 anisation asonry with band at sill I te as per dire or separately OR	.97 / cum 200 mm thi evel and linection of Er	Rs 318	3080.72 Eks in supe
22	structure above plinth l block laying polymer m payment of RCC band	level up to odified adh and reinfor 1	erated ceme floor V level esive mortal cement shal GR 41.400	nt blocks m with RCC I all complet be made for OUND FLO 0.200	@ Rs 10139 anisation asonry with band at sill I te as per dire or separately OR 3.750	.97 / cum 200 mm thi evel and linection of Er	Rs 318 ck AAC block tel level with agineer-in-Cl	3080.72 Eks in supe
22	structure above plinth l block laying polymer m payment of RCC band	level up to odified adh and reinfor 1	erated ceme floor V level esive mortal cement shal GR 41.400 9.900	nt blocks m with RCC I r all complet I be made for OUND FLO 0.200 0.200	@ Rs 10139 anisation asonry with band at sill I te as per dire or separately OR 3.750 3.750	.97 / cum 200 mm thi evel and linection of Er	Rs 318 ck AAC block tel level with agineer-in-Cl 31.050 7.426	3080.72 Eks in supe
22	structure above plinth l block laying polymer m payment of RCC band	level up to odified adh and reinfor 1 1	erated ceme floor V level esive mortal cement shal GR 41.400 9.900 38.800	nt blocks m with RCC I all complet be made for 0.200 0.200 0.200	@ Rs 10139 asonry with pand at sill I te as per director separately OR 3.750 3.750 3.750	.97 / cum 200 mm thi evel and linection of Er	Rs 318 ck AAC block tel level with agineer-in-Character 31.050 7.426 29.100	3080.72 Eks in supe
22	structure above plinth l block laying polymer m payment of RCC band	level up to odified adh and reinfor 1 1 1	erated ceme floor V level esive mortal cement shal  GR 41.400 9.900 38.800 5.650	nt blocks m with RCC I all complet be made for 0.200 0.200 0.200 0.200	@ Rs 10139 asonry with pand at sill I te as per director separately OR 3.750 3.750 3.750 3.750	.97 / cum 200 mm thi evel and linection of Er	Rs 318 ck AAC block tel level with agineer-in-Character 31.050 7.426 29.100 4.238	3080.72 Eks in supe
22	structure above plinth I block laying polymer m payment of RCC band  MMV WORKSHOP	level up to odified adh and reinford 1 1 1 1 1	erated ceme floor V level esive mortal cement shal  GR 41.400 9.900 38.800 5.650 9.700	nt blocks m with RCC I all complet be made for 0.200 0.200 0.200 0.200 0.200	@ Rs 10139 anisation asonry with band at sill I te as per direct or separately OR 3.750 3.750 3.750 3.750 3.750	.97 / cum 200 mm thi evel and linection of Er	Rs 318 ck AAC block tel level with agineer-in-Cl 31.050 7.426 29.100 4.238 7.275	3080.72 Eks in supe
22	structure above plinth block laying polymer m payment of RCC band  MMV WORKSHOP  LEFT SIDE WALL  TOILET AND	level up to odified adh and reinfor 1 1 1 1 1 1 1 1 1	erated ceme floor V level esive mortal cement shal  GR 41.400 9.900 38.800 5.650 9.700 23.100	nt blocks m with RCC I r all complet be made for 0.200 0.200 0.200 0.200 0.200 0.200	@ Rs 10139 anisation asonry with band at sill I te as per direct or separately OR 3.750 3.750 3.750 3.750 3.750 3.750 3.750	.97 / cum 200 mm thi evel and linection of Er	Rs 318  ck AAC block tel level with agineer-in-Classian and the second and the se	3080.72 cks in supe
22	structure above plinth block laying polymer m payment of RCC band  MMV WORKSHOP  LEFT SIDE WALL  TOILET AND CHANGE  PLUMBER	level up to odified adh and reinford 1 1 1 1 1 1 1 1 1	erated ceme floor V level esive mortal cement shal  GR 41.400 9.900 38.800 5.650 9.700 23.100 2.690	nt blocks m with RCC I all complet be made for 0.200 0.200 0.200 0.200 0.200 0.200	@ Rs 10139 anisation asonry with band at sill I te as per direct or separately OR 3.750 3.750 3.750 3.750 3.750 3.750 3.750	.97 / cum 200 mm thi evel and linection of Er	Rs 318  ck AAC block tel level with agineer-in-Class  31.050  7.426  29.100  4.238  7.275  17.325  2.018	3080.72 eks in supe

	1	11.700	0.200	3.750		8.775	
	1	10.000	0.200	3.750		7.500	
	1	10.500	0.200	3.750		7.875	
DINING	1	10.050	0.200	3.750		7.538	
	1	5.000	0.200	3.750		3.750	
TOILET	1	5.200	0.200	3.750		3.901	
	2	1.700	0.200	3.750		2.551	
	1	5.320	0.200	3.750		3.990	
	2	1.980	0.200	3.750		2.970	
	(/1)	8.800	0.200	3.750	Ĭ.	6.601	
STAFFROOM	1	7.350	0.200	3.750	5	5.513	
	2	5.700	0.200	3.750		8.550	
DESIGN SIDE	ther Er	gineeri 0.600	ng Org	anisatio	ns	12.636	
MD	<b>1</b> -1	0.300	0.200	2.100	1	-0.126	
D -	-1	1.800	0.200	2.100		-0.756	
D1	-11	1.000	0.200	2.100		-4.620	
D2	-8	1.200	0.200	2.100		-4.032	
D3	-4	0.800	0.200	2.100		-1.344	
W2	-8	1.000	0.200	1.500		-2.400	
W4	-24	2.000	0.200	1.500		-14.400	
V	-14	1.000	0.200	0.500		-1.400	
RS	-1	4.000	0.200	2.400		-1.920	
RS1	-2	2.400	0.200	2.400		-2.304	
				Tota	l Quantity	244.411 cur	m
			To	otal Deducted	d Quantity	0.000 cum	
				Net Tota	I Quantity	244.411 cur	m
		Sav 2	44.411 cum	n @ Rs 8457	.25 / cum	Rs 20670	044.93

7.1.1 Random rubble masor concrete 1:6:12 (1 cemelevel with:Cement mortal	ent : 6 coar	se sand : 12	2 graded sto	•	•			
		F	OR RAMP	S				
WORKSHOP RAMP	1	5.000	0.600	0.600		1.800		
,,	2	4.800	0.600	.5*(.6+1.2)		5.184		
 FRONT RAMP	1	1.000	0.600	0.600		0.360		
	1	5.000	0.600	.5*(.6+1.2)		2.700		
				Tota	al Quantity	10.044 cu	m	
		n.	To	otal Deducte	d Quantity	0.000 cum	n	
		1100		Net Tota	al Quantity	10.044 cu	m	
	-	Say	10.044 cum	n @ Rs 5897	.62 / cum	Rs 59	235.70	
balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to flour five level excluding the cost of centering, shuttering, finishing and reinforcement, with 1:1.5:3 (1 cemer 1.5 coarse sand (Zone III): 3 graded stone aggregate 20 mm nominal size).  10CM WIDE RC LINTELS AND BANDS								
	10	CM WIDE F	RC LINTELS	S AND BANE	os			
MMV WORKSHOP	ther Er			S AND BAND		0.120		
MMV WORKSHOP						0.120 0.114		
MMV WORKSHOP O	ther Er	gi4:0001i	ngo.100g	anos5010	ns 2.0			
1	ther En	g14.00011 3.800	0.100 g	ano35010 0.150	ns 2.0	0.114		
1	ther En	3,800 5.700	0.100 g 0.100 0.100	0.150 0.150	2.0 2.0 2.0	0.114		
STORE TOILET AND	ther En	3,800 5.700 2.780	0.100 g 0.100 0.100 0.100	0.150 0.150 0.150	2.0 2.0 2.0 2.0	0.114 0.342 0.334		
STORE TOILET AND	ther Er	3,800 5.700 2.780 3.570	0.100 0.100 0.100 0.100	0.150 0.150 0.150 0.150	2.0 2.0 2.0 2.0 2.0	0.114 0.342 0.334 0.108		
STORE TOILET AND	ther Er	3,800 5.700 2.780 3.570 1.600	0.100 g 0.100 0.100 0.100 0.100	0.150 0.150 0.150 0.150 0.150	2.0 2.0 2.0 2.0 2.0 2.0	0.114 0.342 0.334 0.108 0.097		
STORE TOILET AND	ther Er	3,800 5.700 2.780 3.570 1.600 2.660	0.100 g 0.100 g 0.100 0.100 0.100 0.100 0.100	0.150 0.150 0.150 0.150 0.150 0.150	2.0 2.0 2.0 2.0 2.0 2.0 2.0	0.114 0.342 0.334 0.108 0.097 0.160		
STORE  TOILET AND CHANGE  TOILET AND	ther Er  2  4  1  2  2  1	3,800 5,700 2,780 3,570 1,600 2,660 3,000	0.100 g 0.100 g 0.100 0.100 0.100 0.100 0.100 0.100	0.150 0.150 0.150 0.150 0.150 0.150 0.150	2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0	0.114 0.342 0.334 0.108 0.097 0.160 0.091		
STORE  TOILET AND CHANGE  TOILET AND	ther En  2  4  1  2  2  1  3	3.800 5.700 2.780 3.570 1.600 2.660 3.000 2.690	0.100 g 0.100 g 0.100 0.100 0.100 0.100 0.100 0.100 0.100	0.150 0.150 0.150 0.150 0.150 0.150 0.150 0.150	2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0	0.114 0.342 0.334 0.108 0.097 0.160 0.091 0.243		
STORE  TOILET AND CHANGE  TOILET AND	ther Er  2  4  1  2  1  3  2	3,800 5,700 2,780 3,570 1,600 2,660 3,000 2,690 5,300	0.100 g 0.100 g 0.100 0.100 0.100 0.100 0.100 0.100 0.100 0.100	0.150 0.150 0.150 0.150 0.150 0.150 0.150 0.150 0.150	2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0	0.114 0.342 0.334 0.108 0.097 0.160 0.091 0.243 0.318		
STORE  TOILET AND CHANGE  TOILET AND CHANGE	ther Er  2  4  1  2  1  3  2  4	3,800 5,700 2,780 3,570 1,600 2,660 3,000 2,690 5,300 1,640	0.100 g 0.100 g 0.100 g 0.100 0.100 0.100 0.100 0.100 0.100 0.100 0.100	0.150 0.150 0.150 0.150 0.150 0.150 0.150 0.150 0.150 0.150	2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0	0.114 0.342 0.334 0.108 0.097 0.160 0.091 0.243 0.318 0.197		

DEDUCE D3	-11	0.800	0.100	0.150		-0.132	
	20	CM WIDE F	RC LINTELS	AND BANI	os		
MMV WORKSHOP	1	41.400	0.200	0.150	2.0	2.484	
	1	9.900	0.200	0.150	2.0	0.595	
	1	38.800	0.200	0.150	2.0	2.328	
	1	5.650	0.200	0.150	2.0	0.339	
	1	9.700	0.200	0.150	2.0	0.582	
LEFT SIDE WALL	1	23.100	0.200	0.150	2.0	1.386	
TOILET AND CHANGE	1	2.690	0.200	0.150	2.0	0.162	
P L U M B E R W O R K S H O P	1	16.600	0.200	0.150	2.0	0.996	
	1	10.500	0.200	0.150	2.0	0.630	
	1	10.800	0.200	0.150	2.0	0.648	
STORE	2	5.200	0.200	0.150	2.0	0.624	
	2	5.200	0.200	0.150	2.0	0.624	
FRONT	1	42.200	0.200	0.150	2.0	2.533	
STAFFROOM	1	18.200	0.200	0.150	2.0	1.092	
0		10.400	0.200	0.150	2.0	0.624	
	1	11.700	0.200	0.150	2.0	0.702	
	1	10.000	0.200	0.150	2.0	0.600	
	1	10.500	0.200	0.150	2.0	0.630	
DINING	1	10.050	0.200	0.150	2.0	0.604	
	1	5.000	0.200	0.150	2.0	0.300	
TOILET	1	5.200	0.200	0.150	2.0	0.312	
	2	1.700	0.200	0.150	2.0	0.205	
	1	5.320	0.200	0.150	2.0	0.320	
	2	1.980	0.200	0.150	2.0	0.238	
	1	8.800	0.200	0.150	2.0	0.528	
STAFFROOM	1	7.350	0.200	0.150	2.0	0.441	
	2	5.700	0.200	0.150	2.0	0.684	
MD	-1	0.300	0.200	0.150		-0.009	
D	-1	1.800	0.200	0.150		-0.054	

	D1	-11	1.000	0.200	0.150		-0.329	
	D2	-8	1.200	0.200	0.150		-0.288	
	D3	-4	0.800	0.200	0.150		-0.096	
	RS	-1	4.000	0.200	0.150		-0.120	
	RS1	-2	2.400	0.200	0.150		-0.144	
			R	C SUNSHAI	DE			
		1	46.200	0.600	0.100		2.773	
					Tota	al Quantity	25.260 cu	m
				To	otal Deducte	d Quantity	0.000 cum	า
			-	0	Net Tota	al Quantity	25.260 cu	m
			Say 2	5.260 cum	@ Rs 10990	).86 / cum	Rs 277	7629.12
25	13.4.1 12 mm cement plaste	0 1	1 cement : 4	11 00	(1 ) 1	RING		
	WALLS	1	172.600		5.250	8	906.150	
	STEP	3	5.500		0.300		4.950	
		3	5.500	and by	0.150		2.475	
		the 12 Er	0.150	ng Org	0.300	nc	0.540	
	FRONT	1	8.030		4.500		36.135	
		-2	1.580		4.050	1	-12.798	
		-2	4.510		4.650		-41.943	
		-2	3.100		4.650		-28.830	
	W4	-8.5	2.000	1.500			-25.500	
	D2	-0.5	1.200	2.100			-1.260	
	V	-7	1.000	0.500			-3.500	
	RS	-1	4.000	2.400			-9.600	
	MD	-1	3.000	2.100			-6.300	
	SUNSHADES, W4	32	2.300	0.600			44.160	
	V	2	6.300	0.600			7.560	
		2	4.200	0.600			5.040	
		2	4.900	0.600			5.880	
	PLANTER BOX	9	2.200	0.750			14.851	
		4	3.100	0.750			9.300	

	DESIGN SIDE WINDOW	36	0.600	5.850			126.360	
		8	0.700	5.850			32.760	
			TERRACE	FLOOR-E	XTERNAL			
	STAIR ROOM 1	1	29.600		2.100		62.161	
	STAIR ROOM 2	1	29.320		2.100		61.572	
	DUCT ROOM	1	6.400		2.100		13.441	
	PARAPET	1	127.600		0.600		76.560	
	D2	-1	1.200		2.100		-2.520	
			1.2		Tota	al Quantity	1277.644	sqm
			/Ge	To	otal Deducte	d Quantity	0.000 sqm	1
			-10 M		Net Tota	al Quantity	1277.644	sqm
		1	Say 1	277.644 sq	m @ Rs 268	.94 / sqm	Rs 343	609.58
26	13.4.2 12 mm cement plaster	of mix:1:6 (	1 cement : 6	i coarse sar	nd)			
		GRO	OUND FLOO	R-INTERNA	AL PLASTER	RING		
	MMV WORKSHOP	1	93.600	10 D	4.500		421.200	
	CABIN	1 1	10.600	a ante	4.500		47.700	
	STORE	tner Er	11.590	ng Org	anisatio 4.500	ns —	52.155	
	W I R E M A N W O R K S H O P		46.400		4.500		208.800	
	G I CABIN	1	10.420		4.500		46.890	
	STORE	1	11.400		4.500		51.301	
	PRINCIPAL ROOM	1	29.790		4.500		134.055	
	VICE PRINCIPAL	1	30.600		4.500		137.701	
	TOILET	2	8.800		4.500		79.200	
	STAFF ROOM	1	33.900		4.500		152.550	
	RECORD ROOM	1	16.140		4.500		72.630	
	STAFF DINING ROOM	1	23.620		4.500		106.290	
	TOILET	2	7.800		4.500		70.200	
_	P L U M B E R W O R K S H O P	1	49.220		4.500		221.490	

27	13.16.1 6 mm cement plaster of	mix:1:3 ( 1	cement : 3 f	fine sand)				
			Say 3	433.272 sq	m @ Rs 250	).20 / sqm	Rs 859	9004.65
					Net Tota	al Quantity	3433.272	sqm
				To	otal Deducte	d Quantity	-101.900	sqm
					Tota	al Quantity	3535.172	sqm
	D2	-1	1.200		2.100		-2.520	
	PARAPET	1	127.600		0.600		76.560	
	DUCT ROOM	1	7.200		2.100		15.121	
	STAIR ROOM 2	1	28.520		2.100		59.892	
	STAIR ROOM 1	1	28.800		2.100		60.481	
			TERRACE	E FLOOR-II	NTERNAL			
	RS	<b>-</b> 1	4.000	2.400		1	-9.600	
	V	<del>-7</del>	1.000	0.500			-3.500	
	MD	th-0.5pr	3.000	2.100	anisatio	ns	-3.150	
	RS1	-1	2.400	2.400	Del.		-5.760	
	D3	-7	0.800	2.100			-11.760	
	D1	-5.5	1.000	2.100	1 50	8	-11.550	
	D2	-4	1.200	2.100	44		-10.080	
	W4	-15.5	2.000	1.500	1		-46.500	
	COLUMNS	2	1.800	116	4.500		16.200	
	PORCH	1	20.000	183	0.450		9.000	
	FIRE STAIR ROOM	1	26.000		4.500		117.000	
	PASSAGE	1	85.000		4.500		382.500	
	STAFF ROOM PASSAGE	1	25.700		4.500		115.650	
	FRONT PASSAGE	1	38.000		4.500		171.000	
	TOILET PASSAGE	1	59.950		4.500		269.776	
	TOILET	6	2.800		4.500		75.600	
	CHANGE ROOM	5	8.600		4.500		193.500	
	STORE	1	17.400		4.500		78.300	

MMV WORKSHOP	1	4.150	4.150		17.223
	1	27.100	10.850		294.035
	1	2.900	5.100		14.790
W I R E M A N W O R K S H O P	1	6.500	10.850		70.525
	1	5.700	8.000		45.600
PASSAGE	1	52.600	3.000		157.800
PRINCIPAL ROOM	1	7.000	5.600		39.200
VICE PRINCIPAL	1	7.000	5.600		39.200
PASSAGE	1	1.500	12.000		18.000
STAFF ROOM	1	10.100	6.600		66.660
RECORD ROOM	1	3.100	4.980		15.439
STAFF DINING	1	6.800	3.300	4 1	22.440
	1	1.600	1.650	441	2.640
PASSAGE	1	3.000	12.130	1 500	36.390
P L U M B E R W O R K S H O P		12.200	11.800		143.960
GI CABIN	1 _	2.800	2.500	. , .	7.000
	ther E	2.500	ng Orga 2.700	anisation	6.750
	1	2.400	2.500		6.000
STORE	1	2.400	3.200		7.680
	1	2.900	5.800		16.820
	1	2.800	3.000		8.400
	1	3.000	2.700		8.101
MAIN STAIR FLIGHT	2	9.520	2.000		38.080
LANDING	2	2.000	2.000		8.000
FIRE STAIR FLIGHT	2	9.520	2.000		38.080
LANDING	2	2.000	2.000		8.000
TOILET	6	1.200	1.600		11.520
	5	2.700	1.400		18.900
	1	3.570	2.300		8.211
	1	1.000	1.700		1.700
	1	1.200	3.180		3.816

		1	1.200	5.300			6.360	
		1	4.000	1.400			5.600	
		1	5.300	2.300			12.190	
	ISOLATED BEAMS	2	10.200	0.300			6.120	
		2	11.800	0.300			7.080	
		2	25.400	0.300			15.240	
		2	7.500	0.450			6.750	
		2	11.700	0.300			7.020	
		2	11.300	0.300			6.780	
		2	4.000	0.300			2.400	
		2	5.300	0.300			3.180	
		2	6.700	0.450			6.030	
		2	5.700	0.300	7 13		3.420	
		4	5.200	0.300	1-2		6.240	
		4	11.400	0.300	الزارية	S	13.680	
		400			Tota	al Quantity	1289.050	sqm
				To	tal Daduata	d ()	0.000 000	
			- Altro	a willo It	nai Deducie	d Quantity	0.000 sqm	1
		ther Er	igineeri				1289.050	
	-	other En		ng Orga		al Quantity	1289.050	
28	22.5 Providing and laying cement slurry mixed w of cement @ 0.488 kg be allowed to air cure proofing cement comp with water curing for	water proofi vith water pro /sqm mixed for 4 hours. bound @ 0.1 48 hours. T	Say 1 Ing treatmer pofing cemer with water p b) Second la 26 kg/ sqm. he rate inclu	ng Organic 289.050 square in sunker on compound roofing cemayer of slurry. This layer audes prepared	n @ Rs 213 n portion of d consisting tent compouration of cement will be allow ration of su	WCs, bath of applying and @ 0.253 @ 0.242 kg wed to air curface, treating	room etc., h : a) First lay 8 kg/sqm. Th y/sqm mixedure for 4 hou	sqm 5650.45  by applying yer of slurry his layer will d with water ars followed
28	22.5 Providing and laying cement slurry mixed w of cement @ 0.488 kg be allowed to air cure proofing cement comp	water proofi vith water pro /sqm mixed for 4 hours. bound @ 0.1 48 hours. T	Say 1 Ing treatmer pofing cemer with water p b) Second la 26 kg/ sqm. he rate inclu-	ng Organic 289.050 square in sunker on compound roofing cemayer of slurry. This layer audes prepared	n Portion of d consisting ent compour of cement will be allow ration of surprise of the control	WCs, bath of applying and @ 0.253 @ 0.242 kg wed to air curface, treating	room etc., h : a) First lay 8 kg/sqm. Th y/sqm mixedure for 4 hou	sqm  5650.45  by applying yer of slurry his layer will d with water ars followed
28	22.5 Providing and laying cement slurry mixed w of cement @ 0.488 kg be allowed to air cure proofing cement comp with water curing for	water proofi vith water pro /sqm mixed for 4 hours. bound @ 0.1 48 hours. T	Say 1 Ing treatmer pofing cemer with water p b) Second la 26 kg/ sqm. he rate inclu-	289.050 square of slurry with poly	n Portion of d consisting ent compour of cement will be allow ration of surprise of the control	WCs, bath of applying and @ 0.253 @ 0.242 kg wed to air curface, treating	room etc., h : a) First lay 8 kg/sqm. Th y/sqm mixedure for 4 hou	sqm  5650.45  by applying yer of slurry his layer will d with water ars followed
28	22.5 Providing and laying cement slurry mixed wo of cement @ 0.488 kg be allowed to air cure proofing cement compositing cement compositing corners, junction	water prooficith water proofice /sqm mixed for 4 hours. bound @ 0.148 hours. Tons of pipes	Say 1 Ing treatmer pofing cemer with water p b) Second la 26 kg/ sqm. he rate inclu- and mason WATER	289.050 square of slurry ayer of slurry udes preparently with polyproofing proofing certains are with polyproofing proofing.	m @ Rs 213  n portion of d consisting tent compout y of cement will be allow ration of surprise distribution of surprise distribution.	WCs, bath of applying and @ 0.253 @ 0.242 kg wed to air curface, treating	room etc., ke : a) First lay 3 kg/sqm. The y/sqm mixed ure for 4 houment and se	sqm  5650.45  by applying yer of slurry his layer will d with water ars followed
28	22.5 Providing and laying cement slurry mixed wo of cement @ 0.488 kg be allowed to air cure proofing cement compositing cement compositing corners, junction	water proofi yith water pro /sqm mixed for 4 hours. bound @ 0.1 48 hours. Tons of pipes	Say 1 ing treatmer pofing cemer with water p b) Second la 26 kg/ sqm. he rate inclu- and mason WATER 1.200	289.050 square of slurry ayer of slurry udes preparently with polyproofing proofing certains are with polyproofing proofing.	m @ Rs 213  n portion of d consisting tent compout y of cement will be allow the ration of surprise mixed at the ration of sur	WCs, bath of applying and @ 0.253 @ 0.242 kg wed to air curface, treating	room etc., ke : a) First lay 3 kg/sqm. The sure for 4 houment and se	sqm  5650.45  by applying yer of slurry his layer will d with water ars followed
28	22.5 Providing and laying cement slurry mixed w of cement @ 0.488 kg be allowed to air cure proofing cement comp with water curing for joints, corners, junction TOILET	water prooficith water proofs /sqm mixed for 4 hours. bound @ 0.1 48 hours. Tons of pipes 6 6	Say 1 Ing treatmer pofing cemer with water p b) Second la 26 kg/ sqm. he rate inclu- and mason WATER  1.200  1.2+1.6	289.050 squart in sunkernt compoundayer of slurry. This layer addes preparately with poly PROOFING	m @ Rs 213  n portion of d consisting tent compout y of cement will be allow tration of surprise mixed in TOILET  1.000  0.300	WCs, bath of applying and @ 0.253 @ 0.242 kg wed to air curface, treating	room etc., ke : a) First lay 8 kg/sqm. The sure for 4 hours and set 11.520	sqm  5650.45  by applying yer of slurry his layer will d with water ars followed
28	22.5 Providing and laying cement slurry mixed w of cement @ 0.488 kg be allowed to air cure proofing cement comp with water curing for joints, corners, junction TOILET	water prooficith water proofs /sqm mixed for 4 hours. bound @ 0.1 48 hours. Toons of pipes  6 6 6*2 5	Say 1 Ing treatmer pofing cemer with water p b) Second la 26 kg/ sqm. he rate inclu- and mason WATER  1.200  1.2+1.6  2.700	289.050 squart in sunkernt compoundayer of slurry. This layer addes preparately with poly PROOFING	m @ Rs 213  n portion of d consisting tent compout y of cement will be allow ration of surpmer mixed in-TOILET  1.000  0.300  1.000	WCs, bath of applying and @ 0.253 @ 0.242 kg wed to air curface, treating	room etc., ke : a) First lay 8 kg/sqm. The system of the s	sqm  5650.45  by applying yer of slurry his layer will d with water ars followed
28	22.5 Providing and laying cement slurry mixed w of cement @ 0.488 kg be allowed to air cure proofing cement comp with water curing for joints, corners, junction TOILET	water prooficith water proofs /sqm mixed for 4 hours. Dound @ 0.1 48 hours. Tons of pipes 6 6*2 5	Say 1 Ing treatmer pofing cemer with water p b) Second la 26 kg/ sqm. he rate inclu- and mason WATER  1.200  1.2+1.6  2.700  2.7+1.4	289.050 squart in sunkernt compoundayer of slurry. This layer udes preparately with poly PROOFING 1.600	m @ Rs 213  n portion of d consisting tent compout y of cement will be allow ration of surymer mixed 1.000  0.300  1.000  0.300	WCs, bath of applying and @ 0.253 @ 0.242 kg wed to air curface, treating	1289.050  Rs 275  room etc., k : a) First lay 8 kg/sqm. Th y/sqm mixed ure for 4 houment and se  11.520  10.080  18.900  12.300	sqm  5650.45  by applying yer of slurry his layer will d with water ars followed

		1*2	1+1.7		0.300		1.620	
	TOILET	1	1.200	3.180	1.000		3.816	
		1*2	1.2+3.18		0.300		2.628	
	TOILET	1	1.200	5.300	1.000		6.360	
		1*2	1.2+5.3		0.300		3.900	
	TOILET	1	4.000	1.400	1.000		5.600	
		1*2	4+1.4		0.300		3.240	
	TOILET	1	5.300	2.300	1.000		12.190	
		1*2	5.3+2.3		0.300		4.560	
	TOILET	5	7.400	0.150	1.000		5.551	
		5*2	7.4+0.15	1/6	0.300		22.651	
			£.1		Tota	al Quantity	138.349 s	qm
		6	N. A	To	otal Deducte	d Quantity	0.000 sqm	1
					Net Tota	al Quantity	138.349 s	qm
		11/55	Say	138.349 sqi	m @ Rs 443	3.60 / sqm	Rs 61	371.62
29	22.6 Providing and laying water proofing cemen of cement @ 0.488	it compound kg/ sqm mix	consisting of ed with water	f applying : er proofing	a) after surf	ace prepara	ation, first lay	er of slurr
29	Providing and laying water proofing cemen	at compound kg/ sqm mix glass cloth vm. c) third lay ofing cemen cure for 4 hoparapet wall	consisting of ed with water when the first wer of 1.5 mm t compound ours followed and tucked in	f applying : er proofing layer is stil thickness @ 0.670 kg by water conto groove i	a) after surf cement co I green. Ove consisting o g/sqm and c uring for 48 n parapet al	ace preparampound @ erlaps of join f slurry of ce coarse sand hours. The I around. d)	ation, first lay 0.253 kg/s nts of fibre cement @ 1.2 0 0 1.289 kg entire treatr fourth and f	ver of slurr sqm. layin sloth shoul 889 kg/ sqr g/sqm. Thi nent will b
	Providing and laying water proofing cemen of cement @ 0.488 second layer of fibre not be less than 10 cr mixed with water prowill be allowed to air taken upto 30 cm on p	at compound kg/ sqm mix glass cloth vm. c) third lay ofing cemen cure for 4 hoparapet wall ent mortar (v	consisting of ed with wate then the first ver of 1.5 mm t compound ours followed and tucked in thich will be	f applying : er proofing layer is stil thickness @ 0.670 kg by water conto groove i	a) after surf cement co I green. Ove consisting o g/sqm and c uring for 48 n parapet al	ace preparampound @ erlaps of join f slurry of ce coarse sand hours. The I around. d)	ation, first lay 0.253 kg/s nts of fibre cement @ 1.2 0 0 1.289 kg entire treatr fourth and f	ver of slurr sqm. layin sloth shoul 889 kg/ sqr g/sqm. Thi nent will b
29	Providing and laying water proofing cemen of cement @ 0.488 second layer of fibre not be less than 10 cr mixed with water prowill be allowed to air taken upto 30 cm on porick tilling with cements.	at compound kg/ sqm mix glass cloth vm. c) third lay ofing cemen cure for 4 hoparapet wall ent mortar (v	consisting of ed with wate then the first ver of 1.5 mm t compound ours followed and tucked in thich will be	f applying : er proofing layer is stil thickness @ 0.670 kg by water conto groove i	a) after surf cement co I green. Ove consisting o g/sqm and c uring for 48 n parapet al	ace preparampound @ erlaps of join f slurry of ce coarse sand hours. The I around. d)	ation, first lay 0.253 kg/s nts of fibre cement @ 1.2 0 0 1.289 kg entire treatr fourth and f	ver of slurr sqm. layin sloth shoul 889 kg/ sqr g/sqm. Thi nent will b
29	Providing and laying water proofing cemen of cement @ 0.488 second layer of fibre not be less than 10 cr mixed with water prowill be allowed to air taken upto 30 cm on phrick tilling with cementire treated surface	at compound kg/ sqm mix glass cloth vm. c) third lay ofing cemen cure for 4 hoparapet wall ent mortar (we will be mea	consisting of ed with water when the first ver of 1.5 mm t compound ours followed and tucked in which will be asured)	f applying: er proofing layer is stil thickness 0.670 kg by water conto groove in	a) after surf cement co I green. Ove consisting o g/sqm and couring for 48 n parapet al	ace preparampound @ erlaps of join f slurry of ce coarse sand hours. The I around. d)	ation, first lay 0.253 kg/s nts of fibre of ement @ 1.2 0 1.289 kg entire treatr fourth and f se of measu	ver of slurr sqm. layin sloth shoul 889 kg/ sqr g/sqm. Thi nent will b
29	Providing and laying water proofing cemen of cement @ 0.488 second layer of fibre not be less than 10 cr mixed with water prowill be allowed to air taken upto 30 cm on phrick tilling with cementire treated surface	of compound kg/ sqm mix glass cloth vm. c) third lay ofing cemen cure for 4 ho carapet wall ent mortar (ver will be mea	consisting of ed with water hen the first ver of 1.5 mm t compound ours followed and tucked in which will be asured)  46.650	f applying: er proofing layer is still thickness @ 0.670 kg by water conto groove in paid for sep	a) after surf cement co I green. Ove consisting o g/sqm and couring for 48 n parapet al	ace preparampound @ erlaps of join f slurry of ce coarse sand hours. The I around. d)	ation, first lay 0.253 kg/s nts of fibre of ement @ 1.2 0 1.289 kg entire treatr fourth and f se of measu	ver of slurr sqm. layin sloth shoul 889 kg/ sqr g/sqm. Thi nent will b
29	Providing and laying water proofing cemen of cement @ 0.488 second layer of fibre not be less than 10 cr mixed with water prowill be allowed to air taken upto 30 cm on phrick tilling with cementire treated surface	of compound kg/ sqm mix glass cloth vm. c) third lay offing cemen cure for 4 hor coarapet wall ent mortar (ver will be mean to the coarapet wall to the coarapet wall be mean to the coarapet	consisting of ed with water hen the first ver of 1.5 mm t compound ours followed and tucked in which will be asured)  46.650  7.000	f applying: er proofing layer is still thickness @ 0.670 kg by water conto groove in paid for sep  26.000  8.000	a) after surf cement co I green. Ove consisting o g/sqm and couring for 48 n parapet al	ace preparampound @ erlaps of join f slurry of ce coarse sand hours. The I around. d)	ation, first lay 0.253 kg/s nts of fibre of ement @ 1.2 0 1.289 kg entire treatr fourth and f se of measu 1212.900 56.000	ver of slurr sqm. layin sloth shoul 889 kg/ sqr g/sqm. Thi nent will b
29	Providing and laying water proofing cemen of cement @ 0.488 second layer of fibre not be less than 10 cr mixed with water prowill be allowed to air taken upto 30 cm on phrick tilling with cementire treated surface	of compound kg/ sqm mix glass cloth vm. c) third lay ofing cemen cure for 4 hoparapet wall ent mortar (we will be mean to the compound of the	consisting of ed with water hen the first ver of 1.5 mm t compound ours followed and tucked in which will be assured)  46.650  7.000  9.000	f applying: er proofing layer is still thickness © 0.670 kg by water conto groove in paid for sep  26.000  8.000  5.800	a) after surf cement co I green. Ove consisting o g/sqm and couring for 48 n parapet al	ace preparampound @ erlaps of join f slurry of ce coarse sand hours. The I around. d)	ation, first lay 0.253 kg/s nts of fibre of ement @ 1.2 0.289 kg entire treatr fourth and f se of measu 1212.900 56.000 -52.199	ver of slurr sqm. layin sloth shoul 889 kg/ sqr g/sqm. Thi nent will b
29	Providing and laying water proofing cement @ 0.488 second layer of fibre not be less than 10 cr mixed with water prowill be allowed to air taken upto 30 cm on phrick tilling with cemeentire treated surface	t compound kg/ sqm mix glass cloth v m. c) third lay ofing cemen cure for 4 ho parapet wall ent mortar (v e will be mea	consisting of ed with water hen the first ver of 1.5 mm t compound ours followed and tucked in which will be assured)  46.650  7.000  9.000  1.400	f applying: er proofing layer is still thickness © 0.670 kg by water conto groove in paid for sep  26.000  8.000  5.800	a) after surf cement co I green. Ove consisting of g/sqm and curing for 48 in parapet all parately. For	ace preparampound @ erlaps of join f slurry of ce coarse sand hours. The I around. d)	ation, first lay 0.253 kg/s nts of fibre of ement @ 1.2 0.289 kg entire treatr fourth and f se of measu 1212.900 56.000 -52.199 -2.940	ver of slurr sqm. layin sloth shoul s89 kg/ sqr g/sqm. Thi nent will b inal layer of trement th
29	Providing and laying water proofing cement @ 0.488 second layer of fibre not be less than 10 cr mixed with water prowill be allowed to air taken upto 30 cm on phrick tilling with cemeentire treated surface	t compound kg/ sqm mix glass cloth v m. c) third lay ofing cemen cure for 4 ho parapet wall ent mortar (v e will be mea	consisting of ed with water hen the first ver of 1.5 mm t compound ours followed and tucked in which will be assured)  46.650  7.000  9.000  1.400	f applying : er proofing layer is still thickness © 0.670 kg by water conto groove in paid for sep  26.000  8.000  5.800  2.100	a) after surf cement co I green. Ove consisting of g/sqm and curing for 48 in parapet all parately. For	ace preparampound @ erlaps of join of slurry of coarse sand hours. The I around. d) r the purpose	1212.900 56.000 -2.940 46.620	ver of slurr sqm. layin sloth shoul s89 kg/ sqr g/sqm. Thi nent will b inal layer of rement th
29	Providing and laying water proofing cement @ 0.488 second layer of fibre not be less than 10 cr mixed with water prowill be allowed to air taken upto 30 cm on phrick tilling with cemeentire treated surface	t compound kg/ sqm mix glass cloth v m. c) third lay ofing cemen cure for 4 ho parapet wall ent mortar (v e will be mea	consisting of ed with water hen the first ver of 1.5 mm t compound ours followed and tucked in which will be assured)  46.650  7.000  9.000  1.400	f applying : er proofing layer is still thickness © 0.670 kg by water conto groove in paid for sep  26.000  8.000  5.800  2.100	a) after surficement cool green. Over consisting or desiring for 48 in parapet all parately. For the consisting of the consistency of the consiste	ace preparampound @ erlaps of join of slurry of coarse sand hours. The I around. d) r the purpose	1212.900 56.000 1260.381	yer of slurr sqm. laying sloth should 89 kg/ sqm. Thi ment will be inal layer of irement the
29	Providing and laying water proofing cement @ 0.488 second layer of fibre not be less than 10 cr mixed with water prowill be allowed to air taken upto 30 cm on phrick tilling with cemeentire treated surface	t compound kg/ sqm mix glass cloth v m. c) third lay ofing cemen cure for 4 ho parapet wall ent mortar (v e will be mea	consisting of ed with water hen the first ver of 1.5 mm t compound ours followed and tucked in which will be assured)  46.650  7.000  9.000  1.400  155.400	f applying : er proofing layer is still thickness @ 0.670 kg by water conto groove in paid for sep  26.000  8.000  5.800  2.100	a) after surficement cool green. Over consisting or desiring for 48 in parapet all parately. For the consisting of the consistency of the	ace preparampound @ erlaps of join of slurry of coarse sand hours. The I around. d) r the purpose al Quantity d Quantity al Quantity	1212.900 56.000 1260.381 0.005 kg/s  1.289 kg   yer of slurr sqm. laying sloth should 89 kg/ sqm. Thi ment will be inal layer of irement the	

Mat polished finish on concrete surface by flooring the process "DENSIFIED FLOOR" Vid. as Grinding the concrete floor using Coarse, Medium diamond grinding tools for removing the latency and minor level difference and opening up the pores in concrete, Densification of the floor using hybrid densifier, Densifier reacts with the UN-hydrated lime present in concrete and makes the concrete surface dense and hard. It offers many benefits such as reduced dusting, higher gloss readings, increased abrasion resistance, and a longer lifespan of the concrete floor. For this to achieve, the concrete floor is allowed to be saturated with densifier, sealing with external grade sealer is applied on the floor after polishing to protect the floor from the effects of weather and to make the floor water repellent and stain resistant, burnishing the floor using a floor burnisher to bring about more shine and remove excess sealer from the floor etc in compliance to ASTM C-779 - Standard test method for abrasion resistance on horizontal floor surfaces. This item shall be executed only by the agency which has all required manufacturing machinery and necessary expertise. MMV WORKSHOP 17.223 1 4.150 4.150 1 27.100 10.850 294.035 1 2.900 5.100 14.790 WIREMAN 1 6.500 10.850 70.525 WORKSHOP 1 5.700 8.000 45.600 **Total Quantity** 442.173 sqm **Total Deducted Quantity** 0.000 sqm **Net Total Quantity** 442.173 sqm Say 442.173 sqm @ Rs 599.89 / sqm Rs 265255.16 31 11.36 Providing and fixing I st quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer -in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement: 3 coarse sand) and jointing with grey cement slurry @ 3.3 kg per sqm, including pointing in white cement mixed with pigment of matching shade complete. **TOILET** 6 5.600 2.100 70.560 **TOILET** 2 7.800 2.100 32.760 2 **TOILET** 8.800 2.100 36.961 -16.800 DEDUCTION, D3 -10 0.800 2.100 **Total Quantity** 123.481 sqm **Total Deducted Quantity** 0.000 sqm **Net Total Quantity** 123.481 sqm Say 123.481 sqm @ Rs 1107.59 / sqm Rs 136766.32 32 11.38 Providing and laying Ceramic glazed floor tiles of size 300x300 mm (thickness to be specified by the

	manufacturer), of 1st qu White, Ivory, Grey, Fu Coarse sand), including	me Red B	rown, laid o	n 20 mm th	nick bed of cement r	nortar 1:4 ( 1 c	ement
	TOILET	6	1.200	1.600		11.520	
	"	5	2.700	1.400		18.900	
	"	1	3.570	2.300		8.211	
	"	1	1.000	1.700		1.700	
	п	1	1.200	3.180		3.816	
	"	1	1.200	5.300		6.360	
	п	1	4.000	1.400		5.600	
	"	1	5.300	2.300		12.190	
	"	2	2.400	1.500		7.200	
	n .	2	2.000	2.400	2	9.600	
		PL"	N AR	51/1	Total Quantit	y 85.097 sqm	1
		14		To	tal Deducted Quantit	y 0.000 sqm	
			v 85.097 sgm	85.097 sqm			
		, l	Rs 94644.88				
33	11.41.2 Providing and laying vi	trified floor	No. Hall	a and	Net Total Quantit  Rs 1112.20 / sqn	Rs 946	44.88
33	Providing and laying vi with water absorption le shades, laid on 20 mm	ess than 0.0 thick ceme	tiles in diffe 8% and con ent mortar 1	rent sizes ( forming to l :4(1 cement	Rs 1112.20 / sqm hickness to be speci S : 15622, of approve : : 4 coarse sand), in	Rs 946 fied by the man d make, in all co	44.88 nufactu
33	Providing and laying vi with water absorption le	ess than 0.0 thick ceme	tiles in diffe 8% and con ent mortar 1	rent sizes ( forming to l :4(1 cement	Rs 1112.20 / sqm hickness to be speci S : 15622, of approve : : 4 coarse sand), in	Rs 946 fied by the man d make, in all co	44.88 nufactu
33	Providing and laying vi with water absorption le shades, laid on 20 mm with white cement and	ess than 0.0 thick ceme matching p	tiles in diffe 18% and con ent mortar 1 pigments etc	rent sizes () forming to l :4(1 cement	Rs 1112.20 / sqm hickness to be speci S : 15622, of approve : : 4 coarse sand), in	Rs 946 fied by the man d make, in all co cluding grouting 0 mm.	44.88 nufactu
33	Providing and laying vi with water absorption le shades, laid on 20 mm with white cement and PASSAGE	ess than 0.0 thick ceme matching p	tiles in diffe 18% and con ent mortar 1 nigments etc 52.600	rent sizes () forming to l :4(1 cement	Rs 1112.20 / sqm hickness to be speci S: 15622, of approve :: 4 coarse sand), in Size of Tile 600 x 60	Rs 946 fied by the man d make, in all co cluding grouting 0 mm.	44.88 nufactu
33	Providing and laying vi with water absorption le shades, laid on 20 mm with white cement and PASSAGE	thick ceme matching p 1	tiles in diffe 18% and con ent mortar 1 ligments etc 52.600 52.6+3	rent sizes (1 forming to I :4(1 cement ., complete 3.000	Rs 1112.20 / sqm hickness to be speci S: 15622, of approve :: 4 coarse sand), in Size of Tile 600 x 60	Rs 946d field by the man d make, in all cool cluding grouting 0 mm.	44.88 nufactu
33	Providing and laying vi with water absorption to shades, laid on 20 mm with white cement and PASSAGE " PRINCIPAL ROOM	thick ceme matching p 1 1*2	tiles in diffe 18% and con ent mortar 1 sigments etc 52.600 52.6+3 7.000	rent sizes (1 forming to I :4(1 cement ., complete 3.000	Rs 1112.20 / sqm  hickness to be species: 15622, of approve :: 4 coarse sand), in Size of Tile 600 x 60	Rs 9464 fied by the man d make, in all cooluding grouting 0 mm.  157.800  11.121  39.200	44.88 nufactu
33	Providing and laying vi with water absorption le shades, laid on 20 mm with white cement and PASSAGE  " PRINCIPAL ROOM " VICE PRINCIPAL	thick ceme matching p 1 1*2 1 1*2	tiles in diffe 18% and con ent mortar 1 bigments etc 52.600 52.6+3 7.000 7+5.6	rent sizes (1) forming to 1:4(1 cement complete 3.000	Rs 1112.20 / sqm  hickness to be species: 15622, of approve :: 4 coarse sand), in Size of Tile 600 x 60	Rs 9464 fied by the man d make, in all cooluding grouting 0 mm.  157.800  11.121  39.200  2.520	44.88 nufactu
33	Providing and laying vi with water absorption le shades, laid on 20 mm with white cement and PASSAGE  " PRINCIPAL ROOM " VICE PRINCIPAL ROOM	thick ceme matching p 1 1*2 1 1*2 1	tiles in diffe  8% and cone ent mortar 1  bigments etc  52.600  52.6+3  7.000  7+5.6  7.000	rent sizes (1) forming to 1:4(1 cement complete 3.000	Rs 1112.20 / sqm  chickness to be species: 15622, of approve :: 4 coarse sand), inc. Size of Tile 600 x 60  0.100	Rs 9464 fied by the man d make, in all cooluding grouting 0 mm.  157.800  11.121  39.200  2.520  39.200	44.88 nufactu
33	Providing and laying vi with water absorption le shades, laid on 20 mm with white cement and PASSAGE  " PRINCIPAL ROOM " VICE PRINCIPAL ROOM "	thick ceme matching p 1 1*2 1 1*2 1 1*2	tiles in diffe 18% and consent mortar 1 10 igments etc 52.600 52.6+3 7.000 7+5.6 7.000	rent sizes () forming to I :4(1 cement ., complete 3.000 5.600	Rs 1112.20 / sqm  chickness to be species: 15622, of approve :: 4 coarse sand), inc. Size of Tile 600 x 60  0.100	Rs 9464 fied by the man d make, in all cooluding grouting 0 mm.  157.800  11.121  39.200  2.520  39.200	44.88 nufactu
33	Providing and laying vi with water absorption le shades, laid on 20 mm with white cement and PASSAGE  " PRINCIPAL ROOM " VICE PRINCIPAL ROOM " PASSAGE	thick ceme matching p 1 1*2 1 1*2 1 1*2	tiles in diffe 18% and consent mortar 1 10 igments etc 52.600 52.6+3 7.000 7+5.6 7.000 7+5.6 1.500	rent sizes () forming to I :4(1 cement ., complete 3.000 5.600	Rs 1112.20 / sqm  chickness to be species: 15622, of approve :: 4 coarse sand), inc. Size of Tile 600 x 60  0.100  0.100	Rs 9464 fied by the man d make, in all cooluding grouting 0 mm.  157.800 11.121 39.200 2.520 39.200 2.520 18.000	44.88 nufactu
33	Providing and laying vi with water absorption le shades, laid on 20 mm with white cement and PASSAGE  " PRINCIPAL ROOM " VICE PRINCIPAL ROOM " PASSAGE "	thick ceme matching p 1 1*2 1 1*2 1 1*2 1 1*2	tiles in diffe 18% and consent mortar 1 10 igments etc 52.600 52.6+3 7.000 7+5.6 7.000 7+5.6 1.500 1.5+12	rent sizes (1 forming to 1 :4(1 cement :, complete :, complete :, 5.600	Rs 1112.20 / sqm  chickness to be species: 15622, of approve :: 4 coarse sand), inc. Size of Tile 600 x 60  0.100  0.100	Rs 9464 fied by the man d make, in all cooluding grouting 0 mm.  157.800 11.121 39.200 2.520 39.200 2.520 18.000 2.700	44.88 nufactu
33	Providing and laying vi with water absorption le shades, laid on 20 mm with white cement and PASSAGE  " PRINCIPAL ROOM " VICE PRINCIPAL ROOM " PASSAGE " STAFF ROOM	thick ceme matching p 1 1*2 1 1*2 1 1*2 1 1*2	tiles in diffe 18% and consent mortar 1 10 igments etc 52.600 52.6+3 7.000 7+5.6 7.000 7+5.6 1.500 1.5+12 10.100	rent sizes (1 forming to 1 :4(1 cement :, complete :, complete :, 5.600	Rs 1112.20 / sqm  hickness to be species: 15622, of approve	Rs 9464 fied by the man d make, in all cool cluding grouting 0 mm.  157.800 11.121 39.200 2.520 39.200 2.520 18.000 2.700 66.660	44.88 nufactu

STAFF DINING	1	6.800	3.300			22.440	
II .	1	1.600	1.650			2.640	
"	1*2	6.8+3.3+1. 6+1.65		0.100		2.670	
PASSAGE	1	3.000	12.130			36.390	
п	1*2	3+12.13		0.100		3.027	
P L U M B E R W O R K S H O P	1	12.200	11.800			143.960	
п	1*2	12.2+11.8		0.100		4.801	
GI CABIN	1	2.800	2.500			7.000	
п	1	2.500	2.700			6.750	
п	1	2.400	2.500			6.000	
ıı .	1*2	15.400	B 24	0.100		3.080	
STORE	11	2.400	3.200	1 1 1		7.680	
ıı .	1	2.900	5.800	10	<b>S</b>	16.820	
"	1	2.800	3.000			8.400	
"	1	3.000	2.700	5%		8.101	
"	1*2	25.800	4 310	0.100		5.160	
ENTRANCE	ther El	1.600	11.750	amsauo	IIS	18.800	
STEPS	3	5.500	0.300			4.950	
"	4	5.500	0.150			3.300	
MAIN STAIR RISE	28	0.150	2.000			8.400	
ıı .	31	0.300	2.000			18.600	
"	2	2.000	2.000			8.000	
FIRE STAIR RISE	28	0.150	2.000			8.400	
ıı .	31	0.300	2.000			18.600	
п	2	2.000	2.000			8.000	
TERRACE STAIR AREA	2	3.200	5.800			37.120	
п	2*2	3.2+5.8		0.100		3.600	
				Tota	al Quantity	782.805 s	qm
			To	otal Deducte	d Quantity	0.000 sqm	ı
				Net Tota	al Quantity	782.805 s	qm
		Say 7	82.805 sqm	n @ Rs 1664	.66 / sqm	Rs 130	3104.17

34	od250158/2019_2020 Supply and install exterior cladding, tile shall be larger jointing as directed by joint filler matching the	aid and fixe engineer u	ed to pre- placed to pre-	astered wall	ls in pattern	ıs, style and	d forms of g	routing an
	PLANTER BOX AT WINDOWS	9	2.000		1.080		19.440	
	ENTRANCE	2	8.300		1.080		17.929	
					Tota	al Quantity	37.369 sq	m
				То	tal Deducte	d Quantity	0.000 sqm	1
					Net Tota	al Quantity	37.369 sq	m
			Say	37.369 sqm	@ Rs 1215	5.47 / sqm	Rs 45	420.90
	similar different colours grouting and jointing a approved tile joint filler ENTRANCE	s directed l	oy engineer	using appro			-	
	C O L U M N	ther En	3.1+3.1+2 gi*67eri	0.300 ng Orga	anisatio	ns	5.880	
	,, BEAM OUTER SIDE	1 1	8+7+7		0.450	7	9.900	
	" INSIDE	1	7.4+6.7+6. 7		0.300		6.240	
	FINWALL	18	1.350		5.450		132.435	
	CORNER FINWALL	4	1.850		5.450		40.331	
							221 796 6	
					Tota	al Quantity	221.786 s	qm
				То	Tota tal Deducte		0.000 sqm	•
				То	ital Deducte			)
			Say 2	To 21.786 sqm	tal Deducte Net Tota	d Quantity	0.000 sqm 221.786 s	)
36	13.43.1 Applying one coat of surface:Water thinnab		nable ceme	21.786 sqm	ntal Deducte  Net Tota  @ Rs 1204	d Quantity al Quantity 6.61 / sqm	0.000 sqm 221.786 s Rs 267	qm <b>7165.63</b>
36	Applying one coat of	ole cement	nable ceme	21.786 sqm nt primer o	Net Tota  @ Rs 1204  of approved	d Quantity al Quantity l.61 / sqm l brand and	0.000 sqm 221.786 s Rs 267	qm <b>7165.63</b>
36	Applying one coat of	ole cement	nable ceme primer	21.786 sqm nt primer o	Net Tota  @ Rs 1204  of approved	d Quantity al Quantity l.61 / sqm l brand and	0.000 sqm 221.786 s Rs 267	qm <b>7165.63</b>
36	Applying one coat of surface:Water thinnab	ole cement GRO	nable ceme primer UND FLOO	21.786 sqm nt primer o	Net Tota  @ Rs 1204  of approved  AL PLASTE	d Quantity al Quantity l.61 / sqm l brand and	0.000 sqm 221.786 s Rs 267	qm <b>7165.63</b>

ıı .	12	0.150		0.300	0.540
FDONT					
FRONT	1	8.030		4.500	36.135
"	-2	1.580		4.050	-12.798
	-2	4.510		4.650	-41.943
11	-2	3.100		4.650	-28.830
W4	-8.5	2.000	1.500		-25.500
D2	-0.5	1.200	2.100		-1.260
V	-7	1.000	0.500		-3.500
RS	-1	4.000	2.400		-9.600
MD	-1	3.000	2.100		-6.300
SUNSHADES, W4	32	2.300	0.600		44.160
V	2	6.300	0.600	1	7.560
II .	2	4.200	0.600	7 13	5.040
n	2	4.900	0.600	121	5.880
PLANTER BOX	9	2.200	0.750	LAILL	14.851
	4	3.100	0.750		9.300
DESIGN SIDE WINDOW	36 ther En	0.600 gineeri	5.850	anisations	126.360
"	8	0.700	5.850	<u> </u>	32.760
	GRC	UND FLOO	R-INTERN	AL PLASTERING	
MMV WORKSHOP	1	93.600		4.500	421.200
CABIN	1	10.600		4.500	47.700
STORE	1	11.590		4.500	52.155
W I R E M A N W O R K S H O P	1	46.400		4.500	208.800
G I CABIN	1	10.420		4.500	46.890
STORE	1	11.400		4.500	51.301
PRINCIPAL ROOM	1	29.790		4.500	134.055
VICE PRINCIPAL	1	30.600		4.500	137.701
TOILET	2	8.800		4.500	79.200
STAFF ROOM	1	33.900		4.500	152.550
RECORD ROOM	1	16.140		4.500	72.630
STAFF DINING		23.620		4.500	106.290

TOILET	2	7.800		4.500	70.200
P L U M B E R W O R K S H O P	1	49.220		4.500	221.490
STORE	1	11.300		4.500	50.850
GI CABIN	1	9.800		4.500	44.100
STORE	1	17.400		4.500	78.300
CHANGE ROOM	5	8.600		4.500	193.500
TOILET	6	2.800		4.500	75.600
TOILET PASSAGE	1	59.950		4.500	269.776
FRONT PASSAGE	1	38.000		4.500	171.000
STAFF ROOM PASSAGE	1	25.700		4.500	115.650
PASSAGE	1	85.000	B 75	4.500	382.500
FIRE STAIR ROOM	/ 1 °	26.000	57/1	4.500	117.000
PORCH	1	20.000		0.450	9.000
COLUMNS	2	1.800		4.500	16.200
W4	-15.5	2.000	1.500		-46.500
D2	-4	1.200	2.100	. , .	-10.080
D1	ther En	1.000	ng Org 2.100	anisations	-11.550
D3	-7	0.800	2.100		-11.760
RS1	-1	2.400	2.400		-5.760
MD	-0.5	3.000	2.100		-3.150
V	-7	1.000	0.500		-3.500
RS	-1	4.000	2.400		-9.600
		TERRACE	E FLOOR-II	NTERNAL	
STAIR ROOM 1	1	28.800		2.100	60.481
STAIR ROOM 2	1	28.520		2.100	59.892
 DUCT ROOM	1	7.200		2.100	15.121
PARAPET	1	127.600		0.600	76.560
DEDUCE,D2	-1	1.200		2.100	-2.520
		GROUN	D FLOOR-	CEILING	
MMV WORKSHOP	1	4.150	4.150		17.223
 п	1	27.100	10.850		294.035

"	1	2.900	5.100		14.790
W I R E M A N W O R K S H O P	1	6.500	10.850		70.525
п	1	5.700	8.000		45.600
PASSAGE	1	52.600	3.000		157.800
PRINCIPAL ROOM	1	7.000	5.600		39.200
VICE PRINCIPAL	1	7.000	5.600		39.200
PASSAGE	1	1.500	12.000		18.000
STAFF ROOM	1	10.100	6.600		66.660
RECORD ROOM	1	3.100	4.980		15.439
STAFF DINING	1	6.800	3.300		22.440
 "	1	1.600	1.650		2.640
 PASSAGE	1	3.000	12.130	1	36.390
P L U M B E R W O R K S H O P		12.200	11.800	1	143.960
 GI CABIN	1	2.800	2.500	是些沙	7.000
II .	1	2.500	2.700		6.750
 "	1 1	2.400	2.500	. , .	6.000
STORE	ther Er	2.400	ng Org 3.200	anisatio	7.680
n n	<b>D</b> 1	2.900	5.800		16.820
"	L 1 J	2.800	3.000		8.400
 "	1	3.000	2.700		8.101
 MAIN STAIR FLIGHT	2	9.520	2.000		38.080
 LANDING	2	2.000	2.000		8.000
FIRE STAIR FLIGHT	2	9.520	2.000		38.080
LANDING	2	2.000	2.000		8.000
TOILET	6	1.200	1.600		11.520
n .	5	2.700	1.400		18.900
ıı .	1	3.570	2.300		8.211
п	1	1.000	1.700		1.700
п	1	1.200	3.180		3.816
n .	1	1.200	5.300		6.360
"	1	4.000	1.400		5.600

38	13.52.1									
			Sa	/ 151.165 s	qm @ Rs 43			540.91		
						al Quantity	151.165 s			
				Τα	otal Deducte	<u> </u>	0.000 sqn			
	MD, COLLAPSIBLE	1	2.950		4.000	1.5 al Quantity	17.701 151.165 s	am		
	RS1	2*2	2.400	2.400	4.000	1.1	25.344			
	RS RS1	1*2	4.000	2.400		1.1	21.120			
	V GRILLS	15	0.600	0.500		4.4	4.500			
	W4 GRILLS	25	2.000	1.500			75.000			
	W2 GRILLS	5	1.000	1.500			7.500			
37	Applying priming coamanufacture on stee	t:With rea	dy mixed re	d oxide zi			f approved	brand a		
	Say 5788.752 sqm @ Rs 54.95 / sqm Rs 318091.92 13.50.3 Other Engineering Organisations									
		200F			Net Tota	al Quantity	5788.752	sqm		
		152	14	To	otal Deducte	d Quantity	-101.900	sqm		
		12	1		Tota	al Quantity	5890.652	sqm		
	п	4	11.400	0.300	7 13		13.680			
	11	4	5.200	0.300	-		6.240			
	II .	2	5.700	0.300			3.420			
	II .	2	6.700	0.450			6.030			
	11	2	5.300	0.300			3.180			
	"	2	4.000	0.300			2.400			
	ıı .	2	11.300	0.300			6.780			
	ıı .	2	11.700	0.300			7.020			
	п	2	7.500	0.450			6.750			
	п	2	25.400	0.300			15.240			
	"	2	11.800	0.300			7.080			
	ISOLATED BEAMS	2	10.200	2.300 0.300			12.190 6.120			

	Painting	50mmx50m	nmx16 g thic	k Galvanized square h	ollow section	member	
		4*2	4.570	0.200		7.313	
		4*2	7.000	0.200		11.201	
			•	То	tal Quantity	18.514 sq	m
				Total Deduct	ed Quantity	0.000 sqn	า
				Net To	tal Quantity	18.514 sq	m
			Sa	/ 18.514 sqm @ Rs 18	32.17 / sqm	Rs 33	372.70
39	13.82.2 Wall painting with acryl grams/ litre, of approve achieve even shade an	d brand and	d manufactu				
		GRO	OUND FLOC	R-INTERNAL PLASTE	RING	1	Τ
	MMV WORKSHOP	1	93.600	4.500		421.200	
	CABIN	61 9	10.600	4.500	1	47.700	
	STORE	1	11.590	4.500		52.155	
	W I R E M A N W O R K S H O P		46.400	4.500		208.800	
	G I CABIN	1	10.420	4.500		46.890	
	STORE (	thet Er	g11,400	ng Organ4500i	ons	51.301	
	PRINCIPAL ROOM	1 1	29.790	4.500		134.055	
	VICE PRINCIPAL	1	30.600	4.500		137.701	
	TOILET	2	8.800	4.500		79.200	
	STAFF ROOM	1	33.900	4.500		152.550	
	RECORD ROOM	1	16.140	4.500		72.630	
	STAFF DINING ROOM	1	23.620	4.500		106.290	
	TOILET	2	7.800	4.500		70.200	
	P L U M B E R W O R K S H O P	1	49.220	4.500		221.490	
	STORE	1	11.300	4.500		50.850	
	GI CABIN	1	9.800	4.500		44.100	
	STORE	1	17.400	4.500		78.300	
	CHANGE ROOM	5	8.600	4.500		193.500	
	TOILET	6	2.800	4.500		75.600	
	TOILET PASSAGE	1	59.950	4.500		269.776	

FRONT PASSAGE	1	38.000		4.500	171.000
STAFF ROOM PASSAGE	1	25.700		4.500	115.650
PASSAGE	1	85.000		4.500	382.500
FIRE STAIR ROOM	1	26.000		4.500	117.000
PORCH	1	20.000		0.450	9.000
COLUMNS	2	1.800		4.500	16.200
W4	-15.5	2.000	1.500		-46.500
D2	-4	1.200	2.100		-10.080
D1	-5.5	1.000	2.100		-11.550
D3	-7	0.800	2.100		-11.760
RS1	-1	2.400	2.400		-5.760
MD	-0.5	3.000	2.100	4	-3.150
V	-7	1.000	0.500	44	-3.500
RS	-1	4.000	2.400	1 500	-9.600
	144	TERRAC	E FLOOR-II	NTERNAL	
STAIR ROOM 1	1	28.800	a a Par	2.100	60.481
STAIR ROOM 2	the <sup>1</sup> Er	28.520	no Oro	2.100	59.892
DUCT ROOM	1	7.200		2.100	15.121
PARAPET	1	127.600		0.600	76.560
D2	-1	1.200		2.100	-2.520
		GROUN	ID FLOOR-	CEILING	
MMV WORKSHOP	1	4.150	4.150		17.223
	1	27.100	10.850		294.035
	1	2.900	5.100		14.790
W I R E M A N W O R K S H O P	1	6.500	10.850		70.525
	1	5.700	8.000		45.600
PASSAGE	1	52.600	3.000		157.800
PRINCIPAL ROOM	1	7.000	5.600		39.200
VICE PRINCIPAL	1	7.000	5.600		39.200
PASSAGE	1	1.500	12.000		18.000
STAFF ROOM	1	10.100	6.600		66.660

RECORD ROOM	1	3.100	4.980		15.439
STAFF DINING	1	6.800	3.300		22.440
	1	1.600	1.650		2.640
PASSAGE	1	3.000	12.130		36.390
P L U M B E R W O R K S H O P	1	12.200	11.800		143.960
GI CABIN	1	2.800	2.500		7.000
	1	2.500	2.700		6.750
	1	2.400	2.500		6.000
STORE	1	2.400	3.200		7.680
	1	2.900	5.800		16.820
	1	2.800	3.000		8.400
	1	3.000	2.700	4	8.101
MAIN STAIR FLIGHT	2	9.520	2.000	4	38.080
LANDING	2	2.000	2.000	3 501	8.000
FIRE STAIR FLIGHT	2	9.520	2.000		38.080
LANDING	2	2.000	2.000	100	8.000
TOILET	the6 Er	1.200	1.600	anisation	11.520
	5	2.700	1.400		18.900
	1	3.570	2.300	, H	8.211
	1	1.000	1.700		1.700
	1	1.200	3.180		3.816
	1	1.200	5.300		6.360
	1	4.000	1.400		5.600
	1	5.300	2.300		12.190
ISOLATED BEAMS	2	10.200	0.300		6.120
	2	11.800	0.300		7.080
	2	25.400	0.300		15.240
	2	7.500	0.450		6.750
	2	11.700	0.300		7.020
	2	11.300	0.300		6.780
	2	4.000	0.300		2.400
	2	5.300	0.300		3.180

		2	6.700	0.450			6.030	
		2	5.700	0.300			3.420	
		4	5.200	0.300			6.240	
		4	11.400	0.300			13.680	
			•		Tota	al Quantity	4824.222	sqm
				To	otal Deducte	d Quantity	-101.900	sqm
					Net Tota	al Quantity	4722.322	sqm
			Say 4	722.322 sq	m @ Rs 109	9.90 / sqm	Rs 518	8983.19
40	13.84.2 Painting with syntheti grams/ litre, of approve achieve even shade a	ed brand an	d manufactui		g applying a	• •		
	W2 GRILLS	-	15/ 19	31	W GRILLS		7.500	
	W2 GRILLS W4 GRILLS	5	1.000	1.500	4		7.500	
		25	2.000	1.500	3 50	t.	75.000	
	V GRILLS	15	0.600	0.500		4.4	4.500	
	RS	1*2	4.000	2.400	10%	1.1	21.120	
	RS1	2*2 Other E	2.400 ngincoil	2.400	<u> </u> പ്രദ്യാദ്യാ	1.1 ONS	25.344	
	MD COLLAPSIBLE	1	2.950		4.000	1.5	17.701	
			STRU	JCTURAL S	STEEL	4		
	MAINSTAIR	1	10.000	7.000	5.000	0.03	10.500	
	FIRE STAIR	1	9.740	7.320	5.000	0.03	10.695	
					Tota	al Quantity	172.360 s	qm
				To	otal Deducte	d Quantity	0.000 sqn	า
					Net Tota	al Quantity	172.360 s	qm
			Say	172.360 sq	m @ Rs 111	I.61 / sqm	Rs 19	237.10
41	13.46.1 Finishing walls with Ac @ 1.67 ltr/10 sqm ove	•	•	-		,		
		GRO	OUND FLOO	R-EXTERN	AL PLASTE	RING	1	
	WALLS	1	172.600		5.250		906.150	
	STEP	3	5.500		0.300		4.950	
	"	3	5.500		0.150		2.475	

ıı .	12	0.150		0.300		0.540
FRONT	1	8.030		4.500		36.135
п	-2	1.580		4.050		-12.798
п	-2	4.510		4.650		-41.943
п	-2	3.100		4.650		-28.830
W4	-8.5	2.000	1.500			-25.500
D2	-0.5	1.200	2.100			-1.260
V	-7	1.000	0.500			-3.500
RS	-1	4.000	2.400			-9.600
MD	-1	3.000	2.100			-6.300
SUNSHADES, W4	32	2.300	0.600			44.160
V	2	6.300	0.600	-		7.560
п	2	4.200	0.600	7 13		5.040
п	2	4.900	0.600	1-2		5.880
PLANTER BOX	9	2.200	0.750		L	14.851
n	4	3.100	0.750			9.300
DESIGN SIDE WINDOW	36 ther Fr	0.600 Igineeri	5.850	anisatio	ns	126.360
"	8	0.700	5.850			32.760
	$P \mid$	TERRACE	FLOOR-E	XTERNAL	4	
STAIR ROOM 1	1	29.600		2.100		62.161
STAIR ROOM 2	1	29.320		2.100		61.572
DUCT ROOM	1	6.400		2.100		13.441
PARAPET	1	127.600		0.600		76.560
DEDUCTION,D2	-1	1.200		2.100		-2.520
				Tota	al Quantity	1277.644 sqm
			To	tal Deducte	d Quantity	0.000 sqm
				Net Tota	al Quantity	1277.644 sqm
		Sav 1	 277.644 saı	m @ Rs 142	2.84 / sam	Rs 182498.6

Providing and fixing factory made uPVC white colour casement/casement cumfixed glazed windows comprising of uPVC multi-chambered frame, sash and mullion (where ever required) extruded profiles duly reinforced with 1.60 +/- 0.2mm thick galvanized mild steel section made from roll forming process of requiredlength (shape & size according to uPVC profile), uPVC extruded glazing beads ofappropriate dimension, EPDM gasket, stainless steel (SS 304 grade) frictionhinges, zinc alloy (white powder coated)

casement handles, G.I fasteners 100 x 8mm size for fixing frame to finished wall, plastic packers, plastic caps andnecessary stainless steel screws etc. Profile of frame & sash shall be mitred cutand fusion welded at all corners, mullion (if required) shall be also fusion weldedincluding drilling of holes for fixing hardware's and drainage of water etc. Afterfixing frame the gap between frame and adjacent finished wall shall be filled withweather proof silicon sealant over backer rod of required size and of approvedquality, all complete as per approved drawing & direction of Engineer-in-Charge.(Single / double glass panes and silicon sealant shall be paid separately)<br/>  $\frac{1}{2}$  br>Note: For uPVC frame, sash and mullion extruded profiles minus 5% tolerancein dimension i.e. in depth & width of profile shall be acceptable. Casement window double panels with S.S. friction hinges (350 x 19 x 1.9 mm)made of (big series) frame 67 x 60 mm & sash / mullion 67 x 80 mm both havingwall thickness of 2.3  $\pm$  0.2 mm and single glazing bead/ double glazing bead of appropriate dimension. (Area of window above 1.50 sqm).

W2	5	1.000	1.500			7.500	
W4	25	2.000	1.500			75.000	
		JAM	59A)	Tota	al Quantity	82.500 sqi	m
		C.L 11	To	tal Deducte	d Quantity	0.000 sqm	1
	6,0	W. B	S. N	Net Tota	l Quantity	82.500 sqi	m
	10	Say 8	2.500 sqm	@ Rs 12451	.79 / sqm	Rs 102	7272.68

## 43 9.147B.1

543SUB HEAD: 9 - WOOD & PVC WORK9.147BProviding and fixing factory made uPVC white colour fixed glazed windows/ventilators comprising of uPVC multi-chambered frame and mullion (where everrequired) extruded profiles duly reinforced with 1.60  $\pm$  0.2 mm thick galvanizedmild steel section made from roll forming process of required length (shape &size according to uPVC profile), , uPVC extruded glazing beads of appropriatedimension, EPDM gasket, G.I fasteners 100 x 8 mm size for fixing frame to finishedwall, plastic packers, plastic caps and necessary stainless steel screws etc.Profile of frame shall be mitred cut and fusion welded at all corners, mullion (ifrequired) shall be also fusion welded including drilling of holes for fixinghardware's and drainage of water etc. After fixing frame the gap between frameand adjacent finished wall shall be filled with weather proof silicon sealant overbacker rod of required size and of approved quality, all complete as per approveddrawing & direction of Engineer-in-Charge. (Single / double glass panes and silicon sealant shall be paid separately).<br/>
be paid separately).<br/>
cbr>Note: For uPVC frame, sash and mullion extruded profiles minus 5% tolerancein dimension i.e. in depth & width of profile shall be acceptable.<br/>Fixed window / ventilator made of (small series) frame 47 x 50 mm & mullion 47x 68 mm both having wall thickness of 1.9  $\pm$  0.2 mm and single glazing bead ofappropriate dimension. (Area upto 0.75 sqm.)

V	15	0.600	0.500			4.500	
				Tota	al Quantity	4.500 sqm	ı
			To	tal Deducte	d Quantity	0.000 sqm	1
				Net Tota	al Quantity	4.500 sqm	1
		Say	y 4.500 sqm	@ Rs 8029	.89 / sqm	Rs 36	134.51

## 44 21.3.2

Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of Engineer -

	mm thickness							
	W2	5	1.000	1.500			7.500	
	W4	25	2.000	1.500			75.000	
	V	15	0.600	0.500			4.500	
					Tota	al Quantity	87.000 sq	m
				To	tal Deducte	d Quantity	0.000 sqm	
					Net Tota	al Quantity	87.000 sq	m
			Say	87.000 sqm	@ Rs 1492	2.97 / sqm	Rs 129	9888.39
	Providing and fixing round bars etc. include frames with rawl plug	ling priming c	0.1550					
	W4	25	2.000	1.500	4	16.0	1200.000	
	V	15	0.600	0.500	3 50	16.0	72.000	
		李仲			Tota	al Quantity	1392.000	kg
		0.000 kg						
		1392.000 kg						
		Jiner En	igineeri	ng ()rg:	an Net Lota	al Quantity	1392.000	kg
	1050450/0040 0000	Other En	0		Net Tota kg @ Rs 10			kg 2 <b>770.24</b>
46	od250150/2019_2020 Supply and fixing real laminate painted stern Cylindrical lock, high operated with a single and locking system a fittings like security locking security lock	ady made ga eel doors wit security lock e key), honey as per satisfac	Ivanized wo h steel jam king systems ycomb pape ction of site	oden textur b,SS hinge s (Multi lock r Infilling ma	e Powder c s & door si models had aterial, five y charge.The	oating/Hea II ,sheet th ving 11 lock vears warra	Rs 232 t transfer/Flickness of king points, nty on all the e included a	uorocarl 1to 1.4n and can e hardw
46	Supply and fixing real laminate painted stee Cylindrical lock, high operated with a single and locking system a	ady made ga eel doors wit security lock e key), honey as per satisfac	Ivanized wo h steel jam king systems ycomb pape ction of site	oden textur b,SS hinge s (Multi lock r Infilling ma	e Powder c s & door si models had aterial, five y charge.The	oating/Hea II ,sheet th ving 11 lock vears warra	Rs 232 t transfer/Flickness of king points, nty on all the e included a	uorocarl 1to 1.4r and can e hardw
46	Supply and fixing real laminate painted stee Cylindrical lock, high operated with a single and locking system a fittings like security locking.	ady made galeel doors with security locke key), honey as per satisfactocks, hinges,	Ivanized wo h steel jam king systems ycomb pape ction of site hardware it	oden textur b,SS hinge s (Multi lock r Infilling ma	e Powder c s & door si models hav aterial, five y charge.The uirass/I-leaf	oating/Hea II ,sheet th ving 11 lock vears warra	Rs 232  t transfer/Fluickness of king points, nty on all the included a roved equiv	uorocarl 1to 1.4r and can e hardw
46	Supply and fixing real laminate painted stee Cylindrical lock, high operated with a single and locking system a fittings like security to MD	ady made galeel doors with security locke key), honey as per satisfactocks, hinges,	lvanized wo h steel jam king systems ycomb pape ction of site hardware it	oden textur b,SS hinge s (Multi lock r Infilling ma	e Powder c s & door si models have aterial, five y charge.The uirass/I-leaf 2.100	oating/Hea II ,sheet th ving 11 lock vears warra	Rs 232 t transfer/Flickness of king points, nty on all the included a roved equiv	uorocarl 1to 1.4r and can e hardw Il fixing a alent.)
46	Supply and fixing real laminate painted stee Cylindrical lock, high operated with a single and locking system a fittings like security to MD	ady made galeel doors with security locke key), honey as per satisfactocks, hinges,	lvanized wo h steel jam king systems ycomb pape ction of site hardware it	oden textur b,SS hinge s (Multi lock r Infilling ma Engineer in ems etc.( C	e Powder c s & door si models have aterial, five y charge.The uirass/I-leaf 2.100	oating/Hea II ,sheet th ving 11 lock years warra e above rate /GM or app	t transfer/Fluickness of king points, into on all the included a roved equivariate 6.301  12.600  18.901 sq	uorocarl 1to 1.4r and can e hardw Il fixing a alent.)
46	Supply and fixing real laminate painted stee Cylindrical lock, high operated with a single and locking system a fittings like security to MD	ady made galeel doors with security locke key), honey as per satisfactocks, hinges,	lvanized wo h steel jam king systems ycomb pape ction of site hardware it	oden textur b,SS hinge s (Multi lock r Infilling ma Engineer in ems etc.( C	e Powder c s & door si models have aterial, five y charge.The uirass/I-leaf 2.100 2.100 Tota	oating/Hea II ,sheet th ving 11 lock years warra e above rate /GM or app	t transfer/Flickness of king points, nty on all the included a roved equiv  6.301  12.600  18.901 sq area  0.000 sqm	uorocark 1to 1.4n and can e hardw Il fixing a alent.)  m of door

	Supply and fix fully fin etc) vertical grains Flus side Architraves and or side PVC Lipping / Lo Sauerland core / Hone applicable taxes to the lock, hinges,hardware	sh door with ther side Ta ock Hole Bo by comb cor satisfaction	matching V ckers, all w ring (using e filling. as of site Engi	eneer Wrap ith specialis mortise loc per drawing ineer in chai	ped Engine ed Lacquer k) / Hinge I g and agree rge.The abo	ered wood o Polish. Doo Rebate cutt d schedule	Jamb (Frame or of 35 mm ing (4 Nos. of rates inc	e) with front thick with 4 ) /Extruded lusive of all	
	D1	12	1.000		2.100		25.201		
					Tota	al Quantity	25.201 sq	m	
				Тс	tal Deducte	d Quantity	ty 0.000 sqm		
	Net Total Quantity 25.201 sqm								
			Say	25.201 sqm	@ Rs 9307	7.72 / sqm	Rs 234	1563.85	
	matching PVC wrapped 4 side edges painted / 100 mm. Latch with Le .Tower Bolt 6" SS Finis	Lock Hole E ver handles	Boring (Using without Key acsons or Ap	g mortise lo	ck)/ Hinge F - 1 No, Hing iivalent)	Rebate Cutti	ng (4 Nos) , 3mm SS fir	Jamb width	
	D3	15	0.800		2.100		25.201		
		ther En	gineeri	na Ora	Tota	al Quantity	25.201 sq area	m of door	
				To	otal Deducte	d Quantity	25,201 sgm of do		
	Say 25	5.201 sqm o	f door area	@ Rs 8764.	14 / sqm of	door area	Rs 220	0865.09	
49	Supplying and fixing rolling shutters of approved make, made of required size M.S. laths, interlocked together through their entire length and jointed together at the end by end locks, mounted on specially designed pipe shaft with brackets, side guides and arrangements for inside and outside locking with push and pull operation complete, including the cost of providing and fixing necessary 27.5 cm long wire springs manufactured from high tensile steel wire of adequate strength conforming to IS: 4454 - part and M.S. top cover of required thickness for rolling shutters.80x1.20 mm M.S. laths with 1.20 mm thickness cover								
		T	R	olling Shutte	ers	I	T		
	RS	1	4.000		2.400		9.600		
	RS1	2	2.400		2.400		11.520		
					Tota	al Quantity	21.120 sq	m	
				To	tal Deducte	d Quantity	0.000 sqm	1	
							1	I	

					Net Tota	al Quantity	21.120 sq	m
			Say	21.120 sqm	@ Rs 2738	3.35 / sqm	Rs 57	833.95
50	10.7 Providing and fixing b	all bearing for	r rolling shut	tters.				
		6					6.000	
					Tota	al Quantity	6.000 no	
				To	otal Deducte	d Quantity	0.000 no	
					Net Tota	al Quantity	6.000 no	
				Say 6.000	no @ Rs 56	64.06 / no	Rs 33	384.36
	including welding, gri same with necessar accessories & stainle floor or the side of w payment purpose o accessories such a	y stainless s ss steel dash vaist slab wit nly weight c	steel nuts a fasteners, h suitable a of stainless	nd bolts co stainless sta arrangemen steel men	omplete, i/c eel bolts etc t as per ap	fixing the ., of require proval of E	railing with d size on th ngineer-in-c	necessar e top of the charge, (fo
		79/47		Handrails		5	T	
	FRONT AREA	1	4.000	In 01 12/		16.0	64.000	
	MAIN STAIR	Other En	14.120	ng Orga	anisatio	ns <sup>16.0</sup>	225.920	
	FIRE STAIR	1	14.120			16.0	225.920	
		P = 1			Tota	al Quantity	515.840 k	g
				То	otal Deducte	d Quantity	0.000 kg	
					Net Tota	al Quantity	515.840 k	g
				Say 515.840	) ka @ Rs 7	00.54 / 1 -	Rs 362	202 70
					ng © no r	J2.51 / kg	113 002	2382.76
52	od16516/2019_2020 Supply and install 100 1163-2009 Grade m vertically and anchore approved by Enginee be submitted by the o	in C350L0 A ed to RC para r-in-charge ar	S/NZS 479: apet and baind painted v	5.00 m long 0 2 Galvanise se up stand vith two or n	Galvanized ed coatings , will be givenore coats o	square hollo on ferrous en a primino of epoxy pai	ow section medical hollow section of Zing coat of Zing the Cing the coat of Zing the Cing the Cin	nember (AS tions) fixed c primer as
52	Supply and install 100 1163-2009 Grade m vertically and anchore approved by Enginee	in C350L0 A ed to RC para r-in-charge ar	S/NZS 479: apet and baind painted v	5.00 m long 0 2 Galvanise se up stand vith two or n	Galvanized ed coatings , will be givenore coats o	square hollo on ferrous en a primino of epoxy pai	ow section medical hollow section of Zing coat of Zing the Cing the coat of Zing the Cing the Cin	nember (AS tions) fixed c primer as
52	Supply and install 100 1163-2009 Grade m vertically and anchore approved by Enginee be submitted by the o	in C350L0 Aled to RC para r-in-charge ar	S/NZS 479 apet and band painted whe Engineer	5.00 m long 0 2 Galvanise se up stand vith two or n	Galvanized ed coatings , will be givenore coats o	square hollo on ferrous en a primino of epoxy pai	ow section methollow section for the control of the	nember (AS tions) fixed c primer as
52	Supply and install 100 1163-2009 Grade m vertically and anchore approved by Enginee be submitted by the o	in C350L0 Aled to RC para r-in-charge ar contractor to the	S/NZS 479. apet and baind painted vhe Engineer 5.100	5.00 m long 0 2 Galvanise se up stand vith two or n	Galvanized ed coatings , will be givenore coats o	square hollo on ferrous en a primino of epoxy pai	bw section methollow section of Zing coat of Zing the Cing the coat of Zing the Cing the coat of Zing the Cing the coat of Zing the Cing the Cin	nember (AS tions) fixed c primer as
52	Supply and install 100 1163-2009 Grade m vertically and anchore approved by Enginee be submitted by the of	in C350L0 Aled to RC parar-in-charge arcontractor to the second of the s	S/NZS 479.  apet and bached painted volume Engineer  5.100	5.00 m long 0 2 Galvanise se up stand vith two or n	Galvanized ed coatings , will be give nore coats cor approval	square hollo on ferrous en a primino of epoxy pai	bw section methollow section of Zing coat of Zing the cution).  51.000	nember (AS tions) fixed c primer a wings sha
52	Supply and install 100 1163-2009 Grade m vertically and anchore approved by Enginee be submitted by the of	in C350L0 Aled to RC parar-in-charge arcontractor to the second of the s	S/NZS 479.  apet and bached painted volume Engineer  5.100	5.00 m long (2 Galvanise se up stand with two or no in-charge for	Galvanized ed coatings , will be give nore coats cor approval	square hollo on ferrous en a primino of epoxy pain before exect	bw section manufacturing coat of Zing the Cing the coat of Zing the Cing the coat of Zing the Cing the Ci	nember (Astions) fixed c primer a swings sha

			Say 212	4.200 metre	@ Rs 675.	o//metre	KS 144	4707.09
53	od267439/2019_202 Supply and install 50 Grade min C350L0 anchored to RC slab painted with two or submitted by the con-	0mmx50mmx AS/NZS 4792 will be given more coats o	2 Galvanised a priming co	I coatings o pat of Zinc p t (painting r	on ferrous he primer as ap measured s	ollow section proved by leparately)(\$	ons) fixed ve Engineer-in- Shop drawir	ertically a charge a
	PORCH AREA	4*2	4.570				36.560	
	II .	4*2	7.000				56.000	
					Tota	al Quantity	92.560 m	etre
				To	tal Deducte	d Quantity	0.000 met	tre
			Con.	:27	Net Tota	al Quantity	92.560 m	etre
			Say 92	2.560 metre	@ Rs 336.8	33 / metre	Rs 31	176.98
	Supply Cor-Ten A gr spacing in the hidder		ension moun	97 13 /	A.A. 175. I			astered v
		8	2.000			Libert L	28.800	
		0	0.000		4 000			
		2	2.000	10 D 2	1.800		7.200	
		2	4.570	ng Orga	0.880	nc	8.044	
			PROPERTY.	ng Orga	0.880 ano.880io		8.044 12.320	m
		2	4.570	ng Orga	0.880 0.880 Tota	al Quantity	8.044 12.320 56.364 sq	'
		2	4.570	ng Orga	0.880 Total Deducte	al Quantity d Quantity	8.044 12.320 56.364 sq 0.000 sqn	า
		2	4.570 gi7.0001i		0.880 Total Deducte Net Total	al Quantity d Quantity al Quantity	8.044 12.320 56.364 sq 0.000 sqn 56.364 sq	n m
55	10.2 Structural steel work	2 Othe2 En	4.570 Say ed or welded and applying	56.364 sqm d in built up	0.880  Total Deducte  Net Total  @ Rs 2630  sections, to good of approximately a coat of a coat	d Quantity d Quantity al Quantity 0.44 / sqm	8.044 12.320 56.364 sq 0.000 sqn 56.364 sq Rs 148	m <b>3262.12</b> k, includ
55	Structural steel work cutting, hoisting, fixi	2 Othe2 En	4.570 Say ed or welded and applying	56.364 sqm d in built up ng a priming OVER STA	0.880  Total Deducte  Net Total  @ Rs 2630  sections, to good of approximately a coat of a coat	d Quantity d Quantity al Quantity 0.44 / sqm	8.044 12.320 56.364 sq 0.000 sqn 56.364 sq Rs 148	m <b>3262.12</b> k, includ
55	Structural steel work cutting, hoisting, fixi	2 Othe2 En	4.570 Say ed or welded and applyin ROOFING	56.364 sqm d in built up ng a priming OVER STA	0.880  Total Deducte  Net Total  @ Rs 2630  sections, to good of approximately a coat of a coat	d Quantity d Quantity al Quantity 0.44 / sqm russes and proved stee	8.044 12.320 56.364 sq 0.000 sqn 56.364 sq Rs 148 framed worel primer all	m <b>3262.12</b> k, includ
55	Structural steel work cutting, hoisting, fixi	2 Othe2 En	4.570 Say ed or welded and applyin ROOFING	56.364 sqm d in built up ng a priming OVER STA	0.880 Total Deducte Net Total @ Rs 2630 sections, to	d Quantity d Quantity al Quantity 0.44 / sqm russes and proved stee	8.044 12.320 56.364 sq 0.000 sqn 56.364 sq Rs 146 framed wor primer all 350.000 356.485	m B262.12 k, includi complete
55	Structural steel work cutting, hoisting, fixi	2 Othe2 En	4.570 Say ed or welded and applyin ROOFING	56.364 sqm d in built up g a priming OVER STA 7.000 7.320	0.880  Total Deducte  Net Total  Rections, to good of applications  AIR ROOM	d Quantity d Quantity al Quantity 0.44 / sqm russes and proved stee	8.044 12.320 56.364 sq 0.000 sqn 56.364 sq Rs 144 framed worel primer all 350.000 356.485 706.485 k	m B262.12 k, includi complete
55	Structural steel work cutting, hoisting, fixi	2 Othe2 En	4.570 Say ed or welded and applyin ROOFING	56.364 sqm d in built up g a priming OVER STA 7.000 7.320	0.880  Total Deducte  Net Total  Rections, to great of applications  AIR ROOM  Total Deducte  Total Deducte	d Quantity d Quantity al Quantity 0.44 / sqm russes and proved stee 5.0 5.0 al Quantity d Quantity	8.044 12.320 56.364 sq 0.000 sqn 56.364 sq Rs 148 framed worel primer all 350.000 356.485 706.485 k 0.000 kg	m 3262.12 k, includ complete
55	Structural steel work cutting, hoisting, fixi	2 Othe2 En	4.570 Say ed or welded and applyin ROOFING 10.000 9.740	56.364 sqm d in built up ng a priming OVER STA 7.000 7.320	0.880  Total Deducte  Net Total  Rections, to great of applications  AIR ROOM  Total Deducte  Total Deducte	d Quantity d Quantity al Quantity 0.44 / sqm russes and proved stee 5.0 5.0 al Quantity d Quantity al Quantity	8.044 12.320 56.364 sq 0.000 sqn 56.364 sq Rs 146 framed worel primer all 350.000 356.485 706.485 k 0.000 kg 706.485 k	m 3262.12 k, includi complete

	MD	1	2.950		4.000		11.800	
					Tota	al Quantity	11.800 sq	m
				Т	otal Deducte	d Quantity	0.000 sqn	า
					Net Tota	al Quantity	11.800 sq	m
			Say	11.800 sqr	m @ Rs 7971	1.82 / sqm	Rs 94	067.48
57	12.1.3 Providing corrugate hooks, bolts and nufilled with white lead overlapping of sheet	its 8 mm dian id, including	neter with bitual coat of app	umen and oroved ste	G.I. limpet well el primer an	ashers or w	vith G.I. limps s of approve	et was ed pair
57	Providing corrugate hooks, bolts and nu	its 8 mm diand, including its complete (ers and trusse	neter with bitual coat of appure to any pitoles and including	umen and coroved stech in horizoning cutting	G.I. limpet well primer an ontal / vertica	ashers or well two coats	vith G.I. limps of approve surfaces), ex	et was ed pair cluding
57	Providing corrugate hooks, bolts and nu filled with white lead overlapping of sheet cost of purlins, rafte	its 8 mm diand, including its complete (ers and trusse	neter with bitual coat of appuper to any pitoles and includinan 275 gm/n	umen and oroved stech in horizoning cutting	G.I. limpet well primer an ontal / vertica	ashers or well two coats	vith G.I. limps of approve surfaces), ex	et was ed pair cluding
57	Providing corrugate hooks, bolts and nu filled with white lead overlapping of sheet cost of purlins, rafte	its 8 mm diand, including its complete (ers and trusse	neter with bitual coat of appuper to any pitoles and includinan 275 gm/n	umen and oroved stech in horizoning cutting	G.I. limpet well primer an ontal / verticato to size and	ashers or well two coats	vith G.I. limps of approve surfaces), ex	et was ed pair cluding
57	Providing corrugate hooks, bolts and nu filled with white lead overlapping of sheet cost of purlins, rafter thick with zinc coations.	ats 8 mm dian ad, including ts complete ( ers and trusse ng not less th	neter with bitual coat of appup to any pitoles and including an 275 gm/n	umen and oroved stech in horizoting cutting n2	G.I. limpet well primer an ontal / verticato to size and	ashers or well two coats	vith G.I. limps of approve surfaces), extending the control of the	et was ed pair cluding
57	Providing corrugate hooks, bolts and nu filled with white lead overlapping of sheet cost of purlins, rafter thick with zinc coate MAINSTAIR	ats 8 mm dianal, including ts complete (ers and trusseing not less the	neter with bitual coat of appup to any pitoles and including nan 275 gm/n  ROOFING	oroved steph in horizoning cutting n2 OVER ST	G.I. limpet well primer an ontal / vertica to size and	ashers or well two coats	vith G.I. limps of approve surfaces), exert required 70.000	et was ed pair ccluding ed.0.63

<sup>58</sup> 12.59.1

Providing and fixing false ceiling at all height including providing & fixing of framework made of special section, power pressed from M.S. sheets and galvanised with zinc coating of 120 gms/ sqm (both side inclusive) as per IS: 277 and consisting of angle cleat of size 25 mm wide x 1.6 mm thick with flanges of 27 mm and 37 mm, at 1200mm c/c, one flange fixed to the ceiling with dash fastener 12.5mm dia x 50mm long with 6mm dia bolts, other flanged of cleat fixed to the angle hangers of 25x10x0.50mm of required length with nuts & bolts of required size and other end of angle hanger fixed with intermediate G.I chanels 45x15x0.90mm running at the spacing of 1200 mm c/c, to which the ceiling section 0.5 mm thick bottom wedge of 80mm with tapered flanges of 26mm each having lips of 10.5mm, at 450mm c/c, shall be fixed in a direction perpendicular to G.I intermediate channel with connecting clip made out of 2.64mm dia x 230mm long G.I wire at every junction, including fixing perimeter channels 0.50mm thick 27 mm high having flages of 20mm and 30mm long, the perimeter of ceiling fixed to wall/ partitions with the help of Rawl plugs at 450mm centre, with 25mm long dry wall screws @ 230mm interval, including fixing of Calcium Silicate Board to ceiling section and perimeter channels with the help of day wall screws of size 3.5x25mm at 230mm c/c, including jointing & finishing to a flush finish of tapered and square edges of the board with recommended jointing compounds, jointing tapes, finishing with jointing compounds in three layers covering up to 150mm on both sides of joints and two coats of primer suitable for boards, all as per manufacture's specification and also including the cost of making opening for light fittings, grills,

	diffusers, cut outs r specification and di Calcium Silicate B manufactured thro	rection of the loard made w	Engineer in dith Calcared	charge but e	excluding the	cost of pai	nting with.a	.8 mm th
	TOILETS	6	1.200	1.600			11.520	
	TOILET	1	5.300	2.300			12.190	
	TOILET	1	4.000	1.400			5.600	
	TOILET	1	1.000	1.700			1.700	
	TOILET	1	1.600	1.700			2.720	
					Tota	al Quantity	33.730 sq	m
			0	To	otal Deducte	d Quantity	0.000 sqn	า
			JAM	1991 <u> </u>	Net Tota	al Quantity	33.730 sq	m
		-	Say	33.730 sqn	n @ Rs 1363	.30 / sqm	Rs 45	984.11
	and lid		Million	in of Par	J. pan with i	Si illaikeu	Willie Solid	plastic s
	Water Closet	Other En	ngineeri	Water Close	anisatio	ns al Quantity	10.000 10.000 ea	ch
		Other E	ngineeri	Water Close	Total Deducted	ns al Quantity d Quantity	10.000 10.000 eac	ch h
		Other E	R	Water Close	Total Deducted	nS al Quantity d Quantity al Quantity	10.000 10.000 eac 0.000 eac	ch h
60		ng white vitre and 340x410x2 brass spreads, cutting and	Say 1  ous china flee to the same sizes with brash making good	0.000 each at back or s respective as unions a d the walls stern	Total Deducted Net Total @ Rs 5083. wall corner ely with autor	Al Quantity al Quantity 95 / each type lippe matic flushir	10.000 10.000 eac 0.000 eac 10.000 eac Rs 50 d front uring cistern wing cistern winge, including	h ch 839.50 al basin th standa
60	Water Closet  17.4.1 Providing and fixin 430x260x350 mm a flush pipe and C.P. fittings and brackets with 5 litre white P.	ng white vitre and 340x410x2 brass spreads, cutting and V.C. automati	Say 1  ous china flee to the same sizes with brash making good	Water Close  0.000 each  at back or s respective ss unions a	Total Deducted Net Total @ Rs 5083. wall corner ely with autor	Al Quantity al Quantity 95 / each type lippe matic flushir	10.000  10.000 eac  10.000 eac  10.000 eac  Rs 50  d front uring cistern wire, including quired:One	ch ch 839.50 al basin th standa
60	17.4.1 Providing and fixin 430x260x350 mm a flush pipe and C.P. fittings and brackets	ng white vitre and 340x410x2 brass spreads, cutting and	Say 1  ous china flee to the same sizes with brash making good	0.000 each at back or s respective as unions a d the walls stern	Total Deducted Net Total @ Rs 5083.  wall corner bly with autor and G.I. clam and floors w	d Quantity d Quantity el Quantity 95 / each type lippe matic flushir ups complet	10.000  10.000 eac  10.000 eac  10.000 eac  Rs 50  d front uring cistern wine, including quired:One	ch h ch 839.50 al basin th stand painting urinal ba
60	Water Closet  17.4.1 Providing and fixin 430x260x350 mm a flush pipe and C.P. fittings and brackets with 5 litre white P.	ng white vitre and 340x410x2 brass spreads, cutting and V.C. automati	Say 1  ous china flee to the same sizes with brash making good	0.000 each at back or s respective ss unions a d the walls stern Urinal	Total Deducted Net Total @ Rs 5083.  wall corner ely with autor and G.I. clam and floors w	d Quantity d Quantity el Quantity 95 / each type lippe matic flushir ups complet wherever reco	10.000  10.000 eac  10.000 eac  10.000 eac  Rs 50  d front urin ng cistern wire, including quired:One  5.000  5.000 eac	ch h ch 839.50 al basin th stand painting urinal ba
60	Water Closet  17.4.1 Providing and fixin 430x260x350 mm a flush pipe and C.P. fittings and brackets with 5 litre white P.	ng white vitre and 340x410x2 brass spreads, cutting and V.C. automati	Say 1  ous china flee to the same sizes with brash making good	0.000 each at back or s respective ss unions a d the walls stern Urinal	Total Deducted Net Total @ Rs 5083.  wall corner bly with autor and G.I. clam and floors we total Deducted total Deducted	d Quantity d Quantity el Quantity 95 / each type lippe matic flushir ups complet wherever reco	10.000  10.000 eac  10.000 eac  10.000 eac  Rs 50  d front uring cistern wine, including quired:One	ch h ch 839.50 al basin th stand painting urinal ba

61	17.7.1 Providing and fixing w of standard pattern, wherever require:Whi pillar taps	including pa	ainting of fi	ttings and b	rackets, cutti	ng and n	naking goo	d the wall
				Wash Basin				
	Wash Basin	20					20.000	
					Total (	Quantity	20.000 ea	ch
				Tot	tal Deducted	Quantity	0.000 eac	h
					Net Total	Quantity	20.000 ea	ch
			Say 2	20.000 each	@ Rs 3418.17	/ each	Rs 68	363.40
62	17.8 Providing and fixing wreception of pipes and		s china pede	stal for wash	basin comple	tely reces	ssed at the	oack for th
		20	TY A	51/1			20.000	
		1 15-	100	30911	Total	Quantity	20.000 ea	ch
		10h	Ma	Tot	tal Deducted	Quantity	0.000 eac	h
					Net Total	Quantity	20.000 ea	ch
					@ Rs 1450.29		Rs 29	005.80
63	18.50.1 Providing and fixing 0 weighing not less tha	C.P brass lo	ng nose bib 15 mm nomi	cock of app	H		ng to IS sta	ndards an
	Long Body bib cock	10		Body bib c	OUK		10.000	
	Long Body bib book	10			Total	Quantity	10.000 ea	ch
				Tot	tal Deducted		0.000 eac	
					Net Total	-	10.000 ea	
			Sav	10.000 each	@ Rs 825.79	-		257.90
64	50.17.1.5 Supplying and fixing materials and labour		Faucet supe	erior quality (	Jagur or equ	uvalent m	ake ) includ	ding cost
			<u> </u>	Health Fauce	t		Ι	
	Health Faucet	10					10.000	
					Total	Quantity	10.000 no	l
				Tot	tal Deducted	Quantity	0.000 no	

			S	ay 10.000 r	no @ Rs 128	30.63 / no	Rs 12	806.30		
65	17.71 Providing and fixing PT wall of standard shape colour, weighing not le	with brac	ket of the sa			_				
			Liquic	Soap Cont	ainer					
	Liquid Soap Container	1	15.000	·			15.000			
					Tota	al Quantity	15.000 ea	ch		
				То	tal Deducte	d Quantity	0.000 eac	n		
	Net Total Quantity 15.000 each									
			Say	15.000 each	n @ Rs 205.	00 / each	Rs 30	75.00		
66	50.17.1.3 Supplying and fixing C labour charges etc cor		per the direc	ction of site		_	cost of ma	terials a		
				Towel Rod	1-21					
	Towel Rod	10	132			1	10.000			
					000	al Quantity	10.000 no			
			PROPERTY.	То	tal Deducte	<u> </u>	0.000 no			
	0	ther Er	ngineerii		Net Tota 11152110 no @ Rs 12		10.000 no	279.60		
67	od250186/2019_2020 Supply & Fixing stainless steel square cockroach proof traps with Gratings MAT finish. Unloading materials supplied at site and storing it in safe place provided in the site. (Make:CHILLY/ ACO/SGS)									
				roach Proof	тар		47.000			
	Cockroach Proof Trap	17	1.000		T-11	10 - 10	17.000	-1-		
				<b></b>		al Quantity	17.000 ea			
				10	tal Deducte	a Quantity	0.000 eac			
					INEL TOLO	ai Quaritity	17.000 ea	CI I		
			Sav	17.000 each	n @ Rs 826	04 / each	Rs 14	042.68		
68	18.53.1 Providing and fixing C conforming to IS: 893		angle valve	for basin r	n @ Rs 826.			<b>042.68</b> ved qua		
68	Providing and fixing C		angle valve ominal bore	for basin r	nixer and g					
68	Providing and fixing C		angle valve ominal bore	for basin r	nixer and g					

							0.000	
				10	tal Deducte		0.000 eac	
						al Quantity	30.000 ea	
			Say	30.000 each	n @ Rs 707.	.41 / each	Rs 21	222.30
69	18.17.3 Providing and fixing g nominal bore	jun metal ga	ate valve wi	th C.I. whee	el of approv	ved quality	(screwed er	nd) :40 mm
		1					1.000	
					Tota	al Quantity	1.000 eac	h
				То	tal Deducte	d Quantity	0.000 eac	h
					Net Tota	al Quantity	1.000 eac	h
			Say	y 1.000 each	n @ Rs 869.	.51 / each	Rs 8	69.51
70	18.17.4 Providing and fixing good nominal bore	jun metal ga	ate valve wi	th C.I. whee	el of approv	ved quality	(screwed er	nd) :50 mr
		1		W/W	1-2		1.000	
		155	儿婆	15 A	Tota	al Quantity	1.000 eac	h
		4		То	tal Deducte	d Quantity	0.000 eac	h
			M Com	me PE	Net Tota	al Quantity	1.000 eac	h
		ther En	gineSay	1.000 each	@ Rs 1115	18 / each	Rs 11	15.18
71	18.17.2 Providing and fixing gonominal bore	jun metal ga	ate valve wi	th C.I. whee	el of approv	ved quality	(screwed er	nd) :32 mr
		3					3.000	
					Tota	al Quantity	3.000 eac	h
				То	tal Deducte	d Quantity	0.000 eac	h
					Net Tota	al Quantity	3.000 eac	h
			Sa	y 3.000 each	n @ Rs 744.	.67 / each	Rs 22	234.01
72	18.17.1 Providing and fixing gonominal bore	jun metal ga	ate valve wi	th C.I. whee	el of approv	ed quality	(screwed er	nd) :25 mr
		1					1.000	
					Tota	al Quantity	1.000 eac	h
						-		
				То	tal Deducte	d Quantity	0.000 eac	h
				To		d Quantity	0.000 eac	

73	50.18.9.9.1 Providing and fixing PV refilling & testing of Joi			•		-		
		1	35.000				35.000	
		1			Tota	al Quantity	35.000 m	etre
				To	tal Deducte	d Quantity	0.000 met	tre
					Net Tota	al Quantity	35.000 m	etre
			Say 3	5.000 metre	@ Rs 451.8	30 / metre	Rs 15	813.00
74	50.18.9.19.1 Providing and fixing P includes jointing of pi direction of Engineer-	pes with or	ne step PV0	C solvent c	ement and	testing of j	oints comp	lete as
		1	41.000				41.000	
		1	45 9	\$ W	Tota	al Quantity	41.000 m	etre
		11		To	otal Deducte	d Quantity	0.000 met	tre
		18	DE		Net Tota	al Quantity	41.000 m	etre
		16/42	Say 4	1.000 metre	@ Rs 351.8	36 / metre	Rs 14	426.26
75	50.18.9.8.1 Providing and fixing PV refilling & testing of joir	4				•		
					Tota	al Quantity	6.000 met	tre
				To	otal Deducte	d Quantity	0.000 met	tre
					Net Tota	al Quantity	6.000 met	tre
			Say	6.000 metre	@ Rs 304.2	21 / metre	Rs 18	825.26
76	50.18.9.7.1 Providing and fixing PV & testing of joints comp			•	•			ning refil
		1	18.000				18.000	
					Tota	al Quantity	18.000 m	etre
				To	tal Deducte	d Quantity	0.000 met	tre
					Net Tota	al Quantity	18.000 m	etre
			Say 18	3.000 metre	@ Rs 290.8	31 / metre	Rs 52	234.58
77	50.18.8.6.2 Providing and fixing P includes jointing of pip		•			•	•	_

		40					40.000	
					Tota	al Quantity	40.000 m	etre
				To	otal Deducte	d Quantity	0.000 me	etre
					Net Tota	al Quantity	40.000 m	netre
			Say	40.000 metre	@ Rs 350.9	93 / metre	Rs 1	4037.20
78	50.18.9.6.2 Providing and fixing PV refilling & testing of join		• •	•		•		
		1	6.000	(0)			6.000	
			M	1909	Tota	al Quantity	6.000 me	etre
		1	E. 8 1	To	otal Deducte	d Quantity	0.000 me	etre
		61	W. A	AS N	Net Tota	al Quantity	6.000 me	etre
79	50.18.8.2.2 Providing and fixing P includes jointing of pip per direction of Engine etc. 20 mm pipe 10 Kg	es & fitting er-in-Charg	fittings incl s with one ge. Conceal	step PVC so led work, incl	the pipe wit Ivent cemer uding cuttino	h clamps a nt and testin g chases an	at 1.00 m sp	complete
79	Providing and fixing P includes jointing of pip per direction of Engine	es & fitting er-in-Charg	fittings incl s with one ge. Conceal	luding fixing step PVC so led work, incl	the pipe wit lvent cemer uding cutting anisatio	h clamps a at and testin g chases an	at 1.00 m spag of joints and making g	pacing. T complete good the v
79	Providing and fixing P includes jointing of pip per direction of Engine	es & fitting er-in-Charg f/ cm2 E1	fittings incl s with one ge. Conceal	luding fixing step PVC so led work, incl	the pipe wit lvent cemer uding cutting anisatio	h clamps a at and testin g chases an ns	at 1.00 m sp ng of joints nd making g	pacing. T complete good the v
79	Providing and fixing P includes jointing of pip per direction of Engine	es & fitting er-in-Charg f/ cm2 E1	fittings incl s with one ge. Conceal	luding fixing step PVC so led work, incl	the pipe wit lvent cemer uding cutting anisatio	h clamps a at and testin g chases an ns	at 1.00 m spag of joints and making group 70.000 m	pacing. To complete wood the value was netre
79	Providing and fixing P includes jointing of pip per direction of Engine	es & fitting er-in-Charg f/ cm2 E1	fittings incl s with one ge. Conceal	luding fixing step PVC so led work, incl	the pipe wit lvent cemer uding cutting anisatio Tota tal Deducte	h clamps a at and testing chases and ns al Quantity d Quantity al Quantity	70.000 me 70.000 me 70.000 me	pacing. To complete wood the ventere
79	Providing and fixing P includes jointing of pip per direction of Engine	es & fitting er-in-Charg ft cm2 E1 70  PVC pipes, es & fitting	fittings included by several section of the section	luding fixing step PVC so led work, incling Org	the pipe with lvent cemer uding cutting anisation.  Total Deducte  Net Total  e @ Rs 305.6  the pipe with lvent cemer	h clamps and testing chases and Sal Quantity al Quanti	70.000 ms of the following of joints and making growth of the following specific strength of the following of joints are specific strength of the following of joints are specific strength of the following of joints are specific strength of joints are spe	pacing. To complete value of the value of th
	Providing and fixing P includes jointing of pip per direction of Engine etc. 20 mm pipe 10 Kg  50.18.9.16.2 Providing and fixing P includes jointing of pip	es & fitting er-in-Charg ft cm2 E1 70 70 VC pipes, es & fitting eer-in-Charg	fittings included by settings in settings	luding fixing step PVC so led work, incling Org	the pipe wit lvent cemer uding cutting anisation.  Total Deducte  Net Total e @ Rs 305.6  the pipe wit lvent cemer e - External version of the pipe wit livent cemer e - External version of the pipe wit livent cemer e - External version of the pipe wit livent cemer e - External version of the pipe wit livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent e - External version of the pipe with livent e - External version of the pipe with livent e - External version of the pipe with livent e - External version of the - Externa	h clamps and testing chases and Sal Quantity al Quanti	70.000 ms of the following of joints	pacing. To complete pood the verte petre pacing. To complete ll
	Providing and fixing P includes jointing of pip per direction of Engine etc. 20 mm pipe 10 Kg  50.18.9.16.2 Providing and fixing P includes jointing of pip	es & fitting er-in-Charg ft cm2 E1 70 70 VC pipes, es & fitting eer-in-Charg	fittings included by settings in settings	luding fixing step PVC so led work, incling Org	the pipe wit lvent cemer uding cutting anisation.  Total Deducte  Net Total e @ Rs 305.6  the pipe wit lvent cemer e - External version of the pipe wit livent cemer e - External version of the pipe wit livent cemer e - External version of the pipe wit livent cemer e - External version of the pipe wit livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent cemer e - External version of the pipe with livent e - External version of the pipe with livent e - External version of the pipe with livent e - External version of the pipe with livent e - External version of the - Externa	h clamps a at and testing chases and IS and Quantity d Quantity al Quantity al Quantity at and testing work - Expo	70.000 ms of normal representation of the second representation of the sec	pacing. To complete pood the value of the va
	Providing and fixing P includes jointing of pip per direction of Engine etc. 20 mm pipe 10 Kg  50.18.9.16.2 Providing and fixing P includes jointing of pip	es & fitting er-in-Charg ft cm2 E1 70 70 VC pipes, es & fitting eer-in-Charg	fittings included by settings in settings	luding fixing step PVC so led work, incling Org	the pipe with livent cemer uding cutting anisation.  Total Deducte  Net Total Deducte  Rs 305.6  the pipe with livent cemer contains anisation.  Total Deducte cemer contains anisation.	h clamps a at and testing chases and IS and Quantity d Quantity al Quantity al Quantity at and testing work - Expo	70.000 me	pacing. To complete pood the value of the va

	per direction of Engine	er-in-Charg	ge 32 mm di	ia 10 Kgf/cn	n2 - Externa	ıl work- Exp	osed on w	all
		14					14.000	
					Tota	al Quantity	14.000 m	etre
				To	otal Deducte	d Quantity	0.000 me	etre
					Net Tota	al Quantity	14.000 m	etre
			Say 1	4.000 metre	@ Rs 263.2	22 / metre	Rs 3	685.08
82	50.18.9.15.1 Providing and fixing P includes jointing of pipper direction of Engine	es & fittings er-in-Charg	s with one s	tep PVC so	lvent cemer	nt and testin	g of joints sed on wal	complete
		22	1/93	MAY.			22.000	
		_	6.0		Tota	al Quantity	22.000 m	etre
		6	X	To	otal Deducte	d Quantity	0.000 me	etre
			1800		Net Tota	al Quantity	22.000 m	etre
		155	Say 2	2.000 metre	@ Rs 335.4	42 / metre	Rs 7	379.24
				LED PVC SO	ivent cemer	nt and testin	id of loints	complete
	per direction of Engine			•		nt and testin	•	•
		er-in-Charg		•	2 - External		osed on w	all
		er-in-Charg		ia 10Kgf/cm	2 - External	work - Exp	24.000	netre
		er-in-Charg		ia 10Kgf/cm	2 - External Tota  tal Deducte	work - Exp	24.000 m	etre
		er-in-Charg	ge 50 mm di	ia 10Kgf/cm	Total Deducte	work - Exp  al Quantity  d Quantity  al Quantity	24.000 m 0.000 me 24.000 m	all netre
84		VC pipes, thes & fittings er-in-Charg	Say 2 fittings inclusive with one s	To 4.000 metre  iding fixing tep PVC so	Total Deducte  Net Total  @ Rs 343.4  the pipe with livent cements.	al Quantity d Quantity al Quantity 47 / metre th clamps and testing	24.000 m  24.000 m  0.000 me  24.000 m  Rs 8	netre etre netre netre netre netre netre netre complete
84	50.18.8.3.2 Providing and fixing Pincludes jointing of pipper direction of Engine	VC pipes, thes & fittings er-in-Charg	Say 2 fittings inclusive with one s	To 4.000 metre  iding fixing tep PVC so	Total Deducte  Net Total  @ Rs 343.4  the pipe with livent cements.	al Quantity d Quantity al Quantity 47 / metre th clamps and testing	24.000 m  24.000 m  0.000 me  24.000 m  Rs 8	netre etre netre netre netre netre netre netre complete
84	50.18.8.3.2 Providing and fixing Pincludes jointing of pipper direction of Engine	VC pipes, fes & fittingser-in-Charg	Say 2 fittings inclus with one se. Conceale	To 4.000 metre  iding fixing tep PVC so	Total Deducte Net Total @ Rs 343.4 the pipe with livent cemer uding cutting	al Quantity d Quantity al Quantity 47 / metre th clamps and testing	24.000 me 24.000 me 24.000 me 24.000 m  Rs 8  t 1.00 m sp ag of joints d making g	netre etre etre eacing. T complete ood the v
84	50.18.8.3.2 Providing and fixing Pincludes jointing of pipper direction of Engine	VC pipes, fes & fittingser-in-Charg	Say 2 fittings inclus with one se. Conceale	4.000 metre	Total Deducte Net Total @ Rs 343.4 the pipe with livent cemer uding cutting	al Quantity al Quantity al Quantity th clamps a at and testing chases an	24.000 m  24.000 m  0.000 me  24.000 m  Rs 8  t 1.00 m sp  g of joints d making g  53.000	netre etre etre eacing. T complete ood the v
84	50.18.8.3.2 Providing and fixing Pincludes jointing of pipper direction of Engine	VC pipes, fes & fittingser-in-Charg	Say 2 fittings inclus with one se. Conceale	4.000 metre	Total Deducte  Net Total  Res 343.4  The pipe with livent cemer uding cutting  Total Deducte  Total Deducte	al Quantity al Quantity al Quantity th clamps a at and testing chases an	24.000 m  24.000 m  0.000 me  24.000 m  Rs 8  t 1.00 m sp  g of joints d making g  53.000 m	netre etre etre eacing. T complete ood the v netre

	Providing and fixing P includes jointing of pip per direction of Engine etc. 32 mm pipe 10Kgf.	es & fittings er-in-Charg	s with one step	PVC solvent	cement and testi	ng of joints complete	
	oter o <u>u</u> num pipo nontgii	1	33.000			33.000	
			1	<u>'</u>	Total Quantity	33.000 metre	
				Total De	ducted Quantity	0.000 metre	
				Ne	et Total Quantity	33.000 metre	
		Say 33.000 metre @ Rs 358.48 / metre					
	Providing and fixing P includes jointing of pip per direction of Engine etc. 40 mm pipe 10 kgf	es & fittings er-in-Charg // cm2	s with one step e. concealed v	PVC solvent	cement and testi	ng of joints complete	
		1	25.000	AM	1 1	25.000	
		14			Total Quantity	25.000 metre	
		164		DOY THAT	ducted Quantity	0.000 metre	
			0- 05 (	013227	et Total Quantity	25.000 metre	
		41a a n Ta			387.18 / metre	Rs 9679.50	
87	od250191/2019_2020 Providing and fixing Fincludes jointing of pidirection of Engineer-	PVC pipes pes with o	including fixin ne step PVC	g the pipe with solvent cemen	clamps/ clip at t and testing of	joints complete as p	
		1	12.000			12.000	
					Total Quantity	12.000 metre	
				Total De	ducted Quantity	0.000 metre	
				Ne	et Total Quantity	12.000 metre	
			Say 12.0	000 metre @ Rs	312.46 / metre	Rs 3749.52	
88	od250192/2019_2020 Providing and fixing Fincluded jointing of pidirection of Engineer-	pes with o	ne step PVC	solvent cemen	t and testing of	joints complete as p	
		1	12.000			12.000	
					Total Quantity	1	
					Total Quantity	12.000 metre	
				Total De	ducted Quantity	0.000 metre	
					<u> </u>		

	19.4.3.2 Providing and fixing sq	uare-mouth	n S.W. gully	trap class S	SP -1 compl	ete with C.I	. grating brid	k mason
	chamber with water tigless than 4.50 kg and typeWith sewer bricks	frame to b	e not less t	nan 2.70 kg	•	•	•	
	71	1	4.000				4.000	
					Tota	al Quantity	4.000 each	า
				Тс	tal Deducte	d Quantity	0.000 each	า
					Net Tota	al Quantity	4.000 each	า
			Say	4.000 each	@ Rs 2563	.24 / each	Rs 102	252.96
SI No	Description	No	L	В	D	CF	Quantity	Remark
		ONT GATE	WITH SEC	JRITY CAB	IN CIVIL W	ORKS		
1	2.8.1 Earth work in excavat trenches or drains (no ramming of bottoms, li excavated soil as directions)	t exceeding ft up to 1.5	g 1.5 m in w 5 m, includir	ridth or 10 s	sqm on plar ut the exca	n), including	dressing of	sides a
		104	L. CE	XCAVATIO	N	Same		
	CENTRE PILLAR RUBBLE	1	3.200	1.800	0.700		4.032	
	GAURD ROOM	thez En	gi <del>7</del> .90611	ng.200g	anisotic	ns	13.272	
	CHRYED NAME		8.300	1.200	0.700		6.972	
	CURVED NAME BOARD	<u> </u>		233		1		
		1	1.500	1.600	0.700		1.681	
	BOARD	1 4			0.700 0.700		1.681 3.277	
	BOARD SHOW WALL		1.500	1.600	0.700	al Quantity		n
	BOARD SHOW WALL		1.500	1.600	0.700	-	3.277	
	BOARD SHOW WALL		1.500	1.600	0.700 Total Deducte	-	3.277 29.234 cur	ı
	BOARD SHOW WALL		1.500	1.600	0.700 Total Deducte Net Total	d Quantity	3.277 29.234 cur 0.000 cum	n
2	BOARD SHOW WALL	4 ted earth (e	1.500 0.900 Sa	1.600 1.300 To y 29.234 cur	0.700  Total Deducte  Net Tota  m @ Rs 247  es, plinth, s	d Quantity al Quantity 7.45 / cum	3.277 29.234 cur 0.000 cum 29.234 cur Rs 72	m 33.95 n layers i
2	BOARD SHOW WALL  ,,  2.25 Filling available excava exceeding 20 cm in dep	4 ted earth (e	1.500 0.900 Sar excluding roo	1.600 1.300 To y 29.234 cur	0.700  Total Deducte  Net Tota  m @ Rs 247  es, plinth, s	d Quantity al Quantity 7.45 / cum	3.277 29.234 cur 0.000 cum 29.234 cur Rs 72	m 33.95 n layers i
2	BOARD SHOW WALL  ,,  2.25 Filling available excava exceeding 20 cm in dep	4 ted earth (e	1.500 0.900 Sar excluding roo	1.600 1.300 To y 29.234 cur ck) in trench deposited la	0.700  Total Deducte  Net Tota  m @ Rs 247  es, plinth, s	d Quantity al Quantity 7.45 / cum	3.277 29.234 cur 0.000 cum 29.234 cur Rs 72	m 33.95 n layers r

			•	1			•	
	CURVED NAME BOARD	1	8.300	1.200	0.700		6.972	
	SHOW WALL	1	1.500	1.600	0.700		1.681	
	,,	4	0.900	1.300	0.700		3.277	
			D	EDUCE PC	С			
	CENTRE PILLAR	1	2.800	1.400	0.100		-0.391	
	GAURD ROOM	2	7.900	0.800	0.100		-1.264	
	CURVED NAME BOARD	1	8.300	0.800	0.100		-0.664	
	SHOW WALL	1	1.500	1.200	0.100		-0.180	
	,,	4	0.900	0.900	0.100		-0.324	
			D	EDUCE RR	М			
	C E N T R E RUBBLEFOUNDATIO N	1	2.600	1.200	0.600		-1.872	
	GAURD ROOM	2	7.900	0.600	0.600	2	-5.688	
	C U R V E D NAMEBOARD		8.300	0.600	0.600		-2.988	
	SHOW WALL	ther En	1.500	1.000	0.600	C	-0.899	
	,,	4	0.900	0.700	0.600	2	-1.512	
			GAURD R	OOM PLINT	H FILLING			
		2	1.450	1.350	0.350	1	1.371	
					Total (	Quantity	30.605 cu	m
				To	otal Deducted (	Quantity	-15.782 cı	ım
					Net Total (	Quantity	14.823 cu	m
			Say	y 14.823 cui	m @ Rs 187.0	0 / cum	Rs 27	771.90
3	4.1.8 Providing and laying in shuttering - All work up nominal size)	-		-	=	_		- 1
	CENTRE PILLAR	1	2.800	1.400	0.100		0.392	
	GAURD ROOM	2	7.900	0.800	0.100		1.265	
	CURVED NAME BOARD	1	8.300	0.800	0.100		0.665	
	AT GAURD ROOM FLOORS	2	1.500	1.350	0.100		0.406	

	SHOW WALL	1	1.500	1.200	0.100		0.180		
	,,	4	0.900	0.900	0.100		0.325		
					Tota	al Quantity	3.233 cum	1	
				To	otal Deducte	d Quantity	0.000 cum	1	
					Net Tota	al Quantity	3.233 cum	1	
			Say	/ 3.233 cum	n @ Rs 6659	9.46 / cum	Rs 21	530.03	
4	4.3.1 Centering and shuttering footings, bases for columns	•	ng strutting, p	propping et	tc. and rem	oval of form	n work for:Fo	oundat	
	CENTRE PILLAR	1*2	2.600+.8		0.100		0.681		
	GAURD ROOM	2*2	7.900+.8	B.	0.100		3.481		
	CURVED NAME BOARD	1*2	8.300+.8		0.100		1.821		
	SHOW WALL	2	1.500	5. 1	0.100		0.301		
	"	4	2.700		0.100		1.080		
		(1)	L		Tota	al Quantity	7.364 sqm	1	
	**			To	otal Deducte	d Quantity	0.000 sqm	1	
					Net Tota	al Quantity	7.364 sqm	1	
	Net Total Quantity 7.364 sqm Other Engineersay 7.364 sqm @ Rs 288.42 / sqm Rs 2123.92								
	01	ther E	ngineers	ay 7.364 sq				23.92	
5	4.11 Providing and laying da sand : 4 graded stone	amp-proof	course 50 m	nm thick wi	m @ Rs 288	3.42 / sqm	Rs 21	123.92	
5	4.11 Providing and laying da	amp-proof	course 50 m	nm thick wi	m @ Rs 288	3.42 / sqm	Rs 21	123.92	
5	4.11 Providing and laying da	amp-proof	course 50 m	nm thick win	m @ Rs 288	3.42 / sqm	Rs 21	123.92	
5	4.11 Providing and laying dasand: 4 graded stone CENTRE RUBBLE	amp-proof	course 50 m 20 mm nom	nm thick wininal size).  DPC	m @ Rs 288	3.42 / sqm	Rs 21	123.92	
5	4.11 Providing and laying da sand: 4 graded stone CENTRE RUBBLE FOUNDATION	amp-proof aggregate	course 50 m 20 mm nom 2.600	nm thick wind size).  DPC  1.200	m @ Rs 288	3.42 / sqm	Rs 21	123.92	
5	4.11 Providing and laying da sand: 4 graded stone  CENTRE RUBBLE FOUNDATION  GAURD ROOM  C U R V E D	amp-proof aggregate 1	2.600 7.900	DPC 1.200 0.300	m @ Rs 288	3.42 / sqm	Rs 21	123.92	
5	4.11 Providing and laying da sand: 4 graded stone  CENTRE RUBBLE FOUNDATION  GAURD ROOM  C U R V E D N A M E B O A R D	amp-proof aggregate 1 2	2.600 7.900 8.300	DPC 1.200 0.300 0.600	m @ Rs 288	3.42 / sqm	Rs 21 2:4(1 cement 3.120 4.740 4.980	123.92	
5	4.11 Providing and laying da sand: 4 graded stone  CENTRE RUBBLE FOUNDATION  GAURD ROOM  C U R V E D N A M E B O A R D SHOW WALL	amp-proof aggregate 1 2 1	2.600 7.900 8.300	nm thick windinal size).  DPC  1.200  0.300  0.600  1.000	m @ Rs 288	3.42 / sqm	3.120 4.740 4.980 1.500	t : 2 co	
5	4.11 Providing and laying da sand: 4 graded stone  CENTRE RUBBLE FOUNDATION  GAURD ROOM  C U R V E D N A M E B O A R D SHOW WALL	amp-proof aggregate 1 2 1	2.600 7.900 8.300	nm thick wirinal size).  DPC  1.200  0.300  0.600  1.000  0.700	m @ Rs 288	al Quantity	3.120 4.740 4.980 1.500 2.520	t: 2 co	
5	4.11 Providing and laying da sand: 4 graded stone  CENTRE RUBBLE FOUNDATION  GAURD ROOM  C U R V E D N A M E B O A R D SHOW WALL	amp-proof aggregate 1 2 1	2.600 7.900 8.300	nm thick wirinal size).  DPC  1.200  0.300  0.600  1.000  0.700	Total Deducte	al Quantity	3.120 4.740 4.980 1.500 2.520 16.860 sq	m	

	Centering and shuttering landings, balconies and	•		, etc. and i	removal of	101111 101.50	spended flo	5013, 100			
	GAURD ROOM ROOF SLAB	2	2.500	2.550			12.750				
					Tota	al Quantity	12.750 sq	m			
				To	otal Deducte	d Quantity	0.000 sqm	1			
					Net Tota	al Quantity	12.750 sq	m			
			Sa	y 12.750 sq	m @ Rs 628	3.00 / sqm	Rs 80	007.00			
7	5.9.5 Centering and shutterin girders bressumers and	-	•	etc. and ren	noval of forr	n for:Lintels	, beams, pl	inth bea			
	LINTELS	2*2	7.900		0.150		4.740				
	CURVED NAME BOARD TOP BAND	1	8.200		0.800		6.560				
		1	DAG	30/1	Tota	al Quantity	11.300 sq	m			
		15	DE	To	otal Deducte	d Quantity	0.000 sqm	1			
		عة الحال		160 X 3	Net Tota	al Quantity	11.300 sq	m			
							11.300 sqm				
			Sa	y 11.300 sq	m @ Rs 509	).93 / sqm	Rs 57	762.21			
8	5.9.16.1 Centering and shutterin floors and wallsUnder 2		gineeri g strutting, e	a ana		·					
8	Centering and shuttering		gineeri g strutting, e	a ana		·					
8	Centering and shutterin floors and wallsUnder 2	0 cm wid	g strutting, e e 2.500+2.5	a ana	noval of form	·	of slabs an	d break			
8	Centering and shutterin floors and wallsUnder 2	0 cm wid	g strutting, e e 2.500+2.5	etc. and ren	noval of form	n for:Edges	of slabs an	d breaks			
8	Centering and shutterin floors and wallsUnder 2	0 cm wid	g strutting, e e 2.500+2.5	etc. and ren	Total Deducte	n for:Edges	of slabs an 20.200 me	d break			
8	Centering and shutterin floors and wallsUnder 2	0 cm wid	g strutting, e e 2.500+2.5 5	etc. and ren	Total Deducte	n for:Edges al Quantity d Quantity al Quantity	20.200 met 20.200 met	d break			
9	Centering and shutterin floors and wallsUnder 2	0 cm wid 2*2 R.C.C w	g strutting, e e 2.500+2.5 5 Say 2 ork including	To 0.200 metre	Total Deducte  Net Total  @ Rs 181.7	al Quantity al Quantity al Quantity 72 / metre	of slabs an  20.200  20.200 met  0.000 met  20.200 me	d breaks etre etre etre 670.74			
	Centering and shuttering floors and wallsUnder 2 GAURD ROOM ROOF SLAB  5.22A.6 Steel reinforcement for	0 cm wid 2*2 R.C.C w	g strutting, e e 2.500+2.5 5 Say 2 ork including	To 0.200 metre	Total Deducte  Net Total  @ Rs 181.7	al Quantity al Quantity al Quantity 72 / metre	of slabs an  20.200  20.200 met  0.000 met  20.200 me	d breaks etre etre etre 670.74			
	Centering and shuttering floors and wallsUnder 2 GAURD ROOM ROOF SLAB  5.22A.6 Steel reinforcement for binding all complete about CURVED NAME	2*2  R.C.C wove plinth	g strutting, e 2.500+2.5 5 Say 2 ork including level.Therm	To 0.200 metre g straighter to - Mechan	Total Deducte  Net Total  @ Rs 181.7	al Quantity d Quantity al Quantity 72 / metre , bending, ed bars of g	of slabs an  20.200  20.200 me  0.000 met  20.200 me  placing in parade Fe-50	d breaks etre etre etre 670.74			
	Centering and shuttering floors and wallsUnder 2 GAURD ROOM ROOF SLAB  5.22A.6 Steel reinforcement for binding all complete about CURVED NAME BOARD TOP BAND GAURD ROOM	2*2  R.C.C wove plinth	g strutting, 6 e 2.500+2.5 5  Say 2 ork including level.Therm 8.300	To 0.200 metre g straighter to - Mechan 0.600	Total Deducte Net Total @ Rs 181.3	al Quantity d Quantity al Quantity 72 / metre , bending, ed bars of g	20.200 met	d breaks etre etre 670.74			

				To	otal Deducted (	Quantity	0.000 kg	
					Net Total (		247.089 k	g
				Say 247.08	39 kg @ Rs 84.	.17 / kg	Rs 20	797.48
10	5.33.2  Providing and laying in concrete for reinforced including pumping of coand reinforcement, incretard setting of concret Engineer - in-charge. No cement used as per design of V level	d cement of concrete to soluding admite, improve lote:- Ceme	concrete wo site of laying nixtures in re workability ent content	ork, using or g but exclude ecommend without impo considered	ement contending the cost of ed proportions airing strength in this item is	nt as per f centering as per and dura @ 330 k	approved ong, shuttering, shuttering is 9103 to ability as per ag/ cum. Exc	design mix, ag, finishing accelerate, direction of ess or less
	CURVED NAME BOARD TOP BAND	1	8.300	0.600	0.200		0.997	
	GAURD ROOM LINTEL	2	7.900	0.200	0.150		0.474	
	GAURD ROOM ROOF SLAB	2	2.500	2.550	0.100	3	1.276	
	100				Total (	Quantity	2.747 cum	า
			M Gam	To	otal Deducted (	Quantity	0.000 cum	า
	O1	ther En	gineeri	ng Org	an Net Total (	Quantity	2.747 cum	า
	7		Say	2.747 cum	@ Rs 10781.5	5 / cum	Rs 29	616.92
11	7.1.1 Random rubble mason concrete 1:6:12 (1 cemelevel with:Cement mortal	ent : 6 coar	se sand : 12	graded sto	•	•	• .	
	C E N T R E RUBBLEFOUNDATIO N	1	2.600	1.200	0.600		1.872	
	GAURD ROOM	2	7.900	0.600	0.600		5.688	
		2	7.900	0.300	0.350		1.659	
	C U R V E D NAMEBOARD	1	8.300	0.600	0.600		2.988	
	SHOW WALL	1	1.500	1.000	0.600		0.900	
	11	4	0.900	0.700	0.600		1.512	
					Total (	Quantity	14.619 cu	m
				To	otal Deducted (	Quantity	0.000 cum	1
					Net Total (	Quantity	14.619 cu	m

			Say	14.619 cum	n @ Rs 5897.6	2 / cum	Rs 862	217.31	
12	50.6.1.5 Solid block masonry us size confirming to IS 2 above in: CM 1:6 ( 1 c	185 Part I	of 1979 for	super struc	ture up to floo				
	CENTRE PILLAR	1	2.200	0.800	8.100		14.257		
	GAURD ROOM	2	7.900	0.200	2.250		7.110		
	DEDUCE DOOR	-2	0.900	0.200	2.100		-0.756		
	DITTO WINDOW	-2	1.200	0.200	1.000		-0.480		
	CURVED NAME BOARD	1	8.900	0.200	2.700		4.807		
	DITTO SHORT PILLARS	7	0.200	0.200	0.300		0.085		
	SHOW WALL	2	1.130	0.300	7.000		4.746		
	,,	2	0.370	0.300	4.300		0.955		
	,,	2	0.700	0.300	5.850		2.457		
	,,	2	0.400	0.300	3.150	50	0.756		
	,,	4	0.900	0.300	6.000		6.480		
	0	ther Er	ngineeri		Total ( anisation otal Deducted (		40.417 cur		
			D		Net Total (		40.417 cur		
			Sav	40.417 cum		1			
13	Say 40.417 cum @ Rs 5883.33 / cum								
				EXTERNAL	_				
	GUARD ROOM EXTERNAL	2	8.200		2.700		44.280		
	SLAB EXTERNAL	4	2.500		2.550		25.500		
		2*2	2.5+2.55		0.100		2.020		
		-2	1.800		1.900		-6.840		
		-2*.5	0.900		2.100		-1.890		
		-2*.5	1.200		1.000		-1.200		
	CURVED NAME BOARD SIDES	2	8.500		2.800		47.600		
	DITTO TOP BAND	1	8.200		1.000		8.200		

	DITTO SMALL PILLARS	7	0.800		0.300		1.680	
	CENTRE PILLAR	1	2*(2.2+.8)		8.100		48.600	
	SHOW WALL BOTH SIDES	2	0.700		7.000		9.800	
	,,	2	0.400		4.300		3.440	
	,,	2	0.300		4.300		2.580	
	"	2	0.300		3.150		1.890	
	"	2	0.400		4.300		3.440	
	,,	2	0.700		7.000		9.800	
	,,	2	0.430	B.	5.850		5.031	
	,,	2	0.300	WY.	5.850		3.510	
	,,	2	0.430	8 5	5.85-2.7		2.709	
	,,	2	1.500	0.300	1 1	1.	0.900	
	,,	2	1.100	0.300	Ta.		0.660	
	,,	4*2	0.900		6.000		43.200	
		4	0.300	in of	6.000		7.200	
		4 _	0.300	0.900	. , .		1.080	
	U	ther Er	igineerii	ng Org	anisatior Total	1S Quantity	263.190 s	qm
				To	otal Deducted	Quantity	0.000 sqm	า
					Net Total	Quantity	263.190 s	qm
			Say 2	263.190 sq	m @ Rs 268.9	94 / sqm	Rs 70	782.32
14	13.4.2 12 mm cement plaster	of mix:1:6 (	1 cement : 6	coarse sa	nd)			
			INT	ERNAL W	ALL			
		2	6.600		2.200		29.040	
	DEDUCE DOOR D	-2*.5	0.900		2.100		-1.890	
	DITTO W	-2*.5	1.200		1.000		-1.200	
					Total	Quantity	25.950 sq	m
				To	otal Deducted	Quantity	0.000 sqm	1
					Net Total	Quantity	25.950 sq	m
			Say	<sup>,</sup> 25.950 sq	m @ Rs 250.2	20 / sqm	Rs 64	192.69
15	13.16.1 6 mm cement plaster of	f mix:1:3 ( 1	cement : 3 f	ine sand)				

			IN	SIDE CEILII	NG			
	GAURD ROOM INNER CEILING PLASTER	2	1.600	1.700			5.440	
					Tota	al Quantity	5.440 sqm	1
				To	tal Deducte	d Quantity	0.000 sqm	1
					Net Tota	al Quantity	5.440 sqm	1
			S	ay 5.440 sqı	m @ Rs 213	3.84 / sqm	Rs 11	163.29
16	11.41.2 Providing and laying vit with water absorption le shades, laid on 20 mm with white cement and	ess than 0.0 thick ceme	08% and con ent mortar 1	forming to I :4(1 cement	S : 15622, o : : 4 coarse	f approved sand), inclu	make, in all	colours an
		-	G	AURD ROC	M			
	INNER FLOORING	2	1.600	1.700	7 11		5.440	
		18	11516		Tota	al Quantity	5.440 sqm	1
		101		To	otal Deducte	d Quantity	0.000 sqm	า
		200			Net Tota	al Quantity	5.440 sqm	1
	()	ther Er		y 5.440 sqm	@ Rs 1664	I.66 / sqm		) 055.75
17	od250158/2019_2020 Supply and install exterior cladding, tile shall be larger jointing as directed by joint filler matching the	ernally 1st aid and fixe engineer u	quality 600 ed to pre- pl ssing approv	ng Orga x300x8mm astered wal	@ Rs 1664 anisation brick patter	I.66 / sqm IIS III design cons, style and	Rs 90	055.75  nic tile wa routing and
17	Supply and install external cladding, tile shall be la jointing as directed by	ernally 1st aid and fixe engineer u colour of t	quality 600 ed to pre- pl ssing approv	ng Organization of the control of th	@ Rs 1664 anisation brick patter Is in pattern esive materi	I.66 / sqm II.66 / sqm III.66 /	Rs 90	055.75  nic tile wa routing and
17	Supply and install external cladding, tile shall be la jointing as directed by	ernally 1st aid and fixe engineer u colour of t	quality 600 ed to pre- plusing approviatiles.	ng Organization of the control of th	@ Rs 1664 anisation brick patter Is in pattern esive materi	I.66 / sqm II.66 / sqm III.66 /	Rs 90	055.75  nic tile wa routing and
17	Supply and install external cladding, tile shall be la jointing as directed by	ernally 1st aid and fixe engineer u colour of t	quality 600 ed to pre- plusing approviiles.	ng Organization of the control of th	@ Rs 1664 anisatio brick patte Is in patterresive materi	I.66 / sqm II.66 / sqm III.66 /	Rs 90 colour cerand forms of g	nic tile wa routing and oproved tile
17	Supply and install external cladding, tile shall be la jointing as directed by	ernally 1st aid and fixe engineer u colour of t	quality 600 ed to pre- plusing approviiles.	ng Organizations of the control of t	@ Rs 1664 anisatio brick patte Is in patterresive materi	I.66 / sqm II.66 / sqm III.66 /	Rs 90 colour cerand forms of g nted with ap	nic tile wa routing and oproved tile
17	Supply and install external cladding, tile shall be la jointing as directed by	ernally 1st aid and fixe engineer u colour of t	quality 600 ed to pre- plusing approviiles.	ng Organizations of the control of t	© Rs 1664 anisatio brick patte Is in patterresive materi  E CLADDIN 2.700  Tota otal Deducte	I.66 / sqm II.66 / sqm III.66 /	Rs 90 colour cerand forms of g nted with ap 19.576	nic tile wa routing and oproved tile
17	Supply and install external cladding, tile shall be la jointing as directed by	ernally 1st aid and fixe engineer u colour of t	quality 600 ed to pre- plusing approviiles.  AME BOARI  7.250	ng Organizations of the control of t	© Rs 1664 anisatio brick patte Is in patterresive materi  E CLADDIN 2.700  Tota otal Deducte  Net Tota	I.66 / sqm II.66 / sqm III.66 /	Rs 90 colour cerand forms of gonted with agonted with a solution and agonted with a solution agonted wi	nic tile wa routing and oproved tile
17	Supply and install external cladding, tile shall be la jointing as directed by	ernally 1st aid and fixe engineer u colour of t N 1	quality 600 ed to pre- plusing approviiles.  AME BOARI 7.250  Say	ng Organization (19.576 sqm)	brick patterls in patternesive material 2.700  Total Deducte  Net Total @ Rs 1215	I.66 / sqm II.66 / sqm III.66 /	Rs 90 colour cerand forms of gonted with approximately 19.576 19.576 sq 0.000 sqm 19.576 sq Rs 23	m m 794.04
	Supply and install exterior cladding, tile shall be la jointing as directed by joint filler matching the  13.43.1 Applying one coat of	ernally 1st aid and fixe engineer u colour of t N 1	quality 600 ed to pre- plusing approviiles.  AME BOARI 7.250  Say	ng Organization (19.576 sqm)	© Rs 1664 anisation brick patte Is in patterresive materia  E CLADDIN 2.700  Total Deducte Net Total © Rs 1215	I.66 / sqm II.66 / sqm III.66 /	Rs 90 colour cerand forms of gonted with approximately 19.576 19.576 sq 0.000 sqm 19.576 sq Rs 23	m m 794.04
	Supply and install exterior cladding, tile shall be la jointing as directed by joint filler matching the  13.43.1 Applying one coat of	ernally 1st aid and fixe engineer u colour of t N 1	quality 600 ed to pre- plusing approviiles.  AME BOARI 7.250  Say	ng Organizations of the content of t	© Rs 1664 anisation brick patte Is in patterresive materia  E CLADDIN 2.700  Total Deducte Net Total © Rs 1215	I.66 / sqm II.66 / sqm III.66 /	Rs 90 colour cerand forms of gonted with approximately 19.576 19.576 sq 0.000 sqm 19.576 sq Rs 23	m m 794.04

	2*2	2.5+2.55		0.100		2.020	
	-2	1.800		1.900		-6.840	
	-2*.5	0.900		2.100		-1.890	
	-2*.5	1.200		1.000		-1.200	
CURVED NAME BOARD SIDES	2	8.500		2.800		47.600	
DITTO TOP BAND	1	8.200		1.000		8.200	
DITTO SMALL PILLARS	7	0.800		0.300		1.680	
CENTRE PILLAR	1	2*(2.2+.8)		8.100		48.600	
SHOW WALL BOTH	2	0.700	6	7.000		9.800	
"	2	0.400		4.300		3.440	
,,	2	0.300	S N	4.300		2.580	
,,	2	0.300		3.150		1.890	
,,	2	0.400		4.300	<u></u>	3.440	
,,	2	0.700		7.000		9.800	
,,	2	0.430	a and	5.850		5.031	
,,	thez Er	gio.30011	ng Org	an <u>i.85</u> 010	ns	3.510	
,,	2	0.430		5.85-2.7	7	2.709	
,,	2	1.500	0.300			0.900	
,,	2	1.100	0.300			0.660	
,,	4*2	0.900		6.000		43.200	
	4	0.300		6.000		7.200	
	4	0.300	0.900			1.080	
		INT	ERNAL W	ALL	ı		
	2	6.600		2.200		29.040	
DEDUCE DOOR D	-2*.5	0.900		2.100		-1.890	
DITTO W	-2*.5	1.200		1.000		-1.200	
		IN:	SIDE CEILI	NG	1		
GAURD ROOM INNER CEILING PLASTER	2	1.600	1.700			5.440	
	N/	AME BOARI	D BRICK TI	LE CLADDIN	NG		

		1	7.250		2.700		-19.576	
					Tota	al Quantity	294.580 s	qm
				To	otal Deducte	d Quantity	-19.576 so	mp
					Net Tota	al Quantity	275.004 s	qm
			Say	/ 275.004 s	qm @ Rs 54	.95 / sqm	Rs 15	111.47
19	13.82.2 Wall painting with acryli grams/ litre, of approved achieve even shade and	d brand and	d manufactur					
				EXTERNAL	<u>.</u>	Г	1	
	GUARD ROOM EXTERNAL	2	8.200	A	2.700		44.280	
	SLAB EXTERNAL	4	2.500	II A	2.550		25.500	
		2*2	2.5+2.55	S. W	0.100		2.020	
		-2	1.800	TANA	1.900		-6.840	
		-2*.5	0.900		2.100	L	-1.890	
	1	-2*.5	1.200		1.000		-1.200	
	CURVED NAME BOARD SIDES	2 ther Er	8.500	no Oro	2.800	ne	47.600	
	DITTO TOP BAND	1	8.200	ing Orga	1.000		8.200	
	DITTO SMALL PILLARS	7	0.800		0.300		1.680	
	CENTRE PILLAR	1	2*(2.2+.8)		8.100		48.600	
	SHOW WALL BOTH SIDES	2	0.700		7.000		9.800	
	,,	2	0.400		4.300		3.440	
	,,	2	0.300		4.300		2.580	
	"	2	0.300		3.150		1.890	
	"	2	0.400		4.300		3.440	
	,,	2	0.700		7.000		9.800	
	"	2	0.430		5.850		5.031	
	,,	2	0.300		5.850		3.510	
	"	2	0.430		5.85-2.7		2.709	
	,,	2	1.500	0.300			0.900	
	,,	2	1.100	0.300			0.660	

	,,	4*2	0.900		6.000		43.200	
		4	0.300		6.000		7.200	
		4	0.300	0.900			1.080	
			IN	TERNAL W	ALL			
		2	6.600		2.200		29.040	
	DEDUCE DOOR D	-2*.5	0.900		2.100		-1.890	
	DITTO W	-2*.5	1.200		1.000		-1.200	
			IN	SIDE CEILI	NG			
	GAURD ROOM INNER CEILING PLASTER	2	1.600	1.700			5.440	
		N.	AME BOARI	D BRICK TI	LE CLADDIN	NG		
		1	7.250	8 2	2.700		-19.576	
		11	N A	57/1	Tota	al Quantity	294.580 s	qm
		12	103	To	otal Deducte	d Quantity	-19.576 s	qm
				7.3462-3.73	-3 VCA /	2.0		
					Net Tota	al Quantity	275.004 s	qm
20	13.62.1		Say	275.004 sq	Net Tota m @ Rs 109	•		eqm 1222.94
20	13.62.1 Painting with synthetic even shade:Two or mor approved brand and ma	re coats or	aint of appro	ved brand over an und	m @ Rs 109 and manufa er coat of su	0.90 / sqm	Rs 30	<b>1222.94</b>
20	Painting with synthetic even shade:Two or mor approved brand and ma	re coats or anufacture	aint of appro	ved brand	m @ Rs 109 and manufa er coat of st	0.90 / sqm	Rs 30	<b>1222.94</b>
20	Painting with synthetic even shade:Two or mor	re coats or	aint of appro new work o W	ved brand over an und	m @ Rs 109 and manufa er coat of st	0.90 / sqm	Rs 30	<b>1222.94</b>
20	Painting with synthetic even shade:Two or mor approved brand and ma	re coats or anufacture 2	aint of appro new work o W 1.200 FRONT	ved brand over an und	m @ Rs 109 and manufa er coat of su  ILL  1.000 E GATE	0.90 / sqm	Rs 30 quired colou le with ordin	<b>1222.94</b>
20	Painting with synthetic even shade:Two or mor approved brand and ma	re coats or anufacture	aint of appro new work o W	ved brand over an und	m @ Rs 109 and manufa er coat of su  ILL  1.000 E GATE  1.700	0.90 / sqm cture of requitable shad	Rs 30 guired colou le with ordin 2.400 40.800	r to give
20	Painting with synthetic even shade:Two or mor approved brand and ma	re coats or anufacture 2	aint of appro new work o W 1.200 FRONT	oved brand over an und INDOW GR	m @ Rs 109 and manufa er coat of su  ILL  1.000 E GATE  1.700 Tota	2.0	Rs 30 guired colou le with ordin 2.400 40.800 43.200 sq	r to give nary paint
20	Painting with synthetic even shade:Two or mor approved brand and ma	re coats or anufacture 2	aint of appro new work o W 1.200 FRONT	oved brand over an und INDOW GR	m @ Rs 109 and manufa er coat of su  ILL  1.000  E GATE  1.700  Total	2.0 al Quantity d Quantity	2.400 40.800 43.200 sq	r to give nary paint
20	Painting with synthetic even shade:Two or mor approved brand and ma	re coats or anufacture 2	aint of appro n new work of W 1.200 FRONT 6.000	oved brand over an und INDOW GR	m @ Rs 109 and manufa er coat of su  ILL  1.000  E GATE  1.700  Total otal Deducte  Net Total	2.0 al Quantity d Quantity al Quantity	2.400 40.800 43.200 sq 43.200 sq	r to give nary paint
20	Painting with synthetic even shade:Two or mor approved brand and ma	re coats or anufacture  2  2  2  S. Grills of g priming of	aint of appronue work of the second s	ved brand over an und INDOW GR ENTRANC  To y 43.200 sq	m @ Rs 109 and manufa er coat of su  ILL  1.000  E GATE  1.700  Total Deducte  Net Tota  m @ Rs 167	2.0 al Quantity d Quantity al Quantity 7.00 / sqm	2.400  40.800 43.200 sq 0.000 sqn 43.200 sq	r to give paint mm m214.40
	Painting with synthetic even shade:Two or mor approved brand and ma  W  9.48.2  Providing and fixing M.: round bars etc. including	re coats or anufacture  2  2  2  S. Grills of g priming of	aint of appronue work of the second s	ved brand over an und INDOW GR ENTRANC  To y 43.200 sq	m @ Rs 109 and manufa er coat of su  ILL  1.000  E GATE  1.700  Total Deducte  Net Tota  m @ Rs 167	2.0 al Quantity d Quantity al Quantity 7.00 / sqm	2.400  40.800 43.200 sq 0.000 sqn 43.200 sq	r to give hary paint

				To	tal Deducte	d Quantity	0.000 kg	
					Net Tota	al Quantity	38.400 kg	
				Say 38.400	kg @ Rs 10	67.22 / kg	Rs 64	121.25
22	9.147.5 Providing and fixing far comprising of uPVC multiple duly reinforced with 1.6 requiredlength (shape dimension, EPDM gask casement handles, G.I caps andnecessary standardware's and drainages hall be filled withweat all complete as per app silicon sealant shall be minus 5% tolerancein double panels with S.S / mullion 67 x 80 mm b bead ofappropriate dim	ulti-chambe 0 +/- 0.2mn & size acco set, stainless fasteners 1 ainless stee nullion (if re pe of water of her proof si roved drawi paid separ dimension i friction hin-	ered frame, in thick galva ording to ulter steel (SS 00 x 8mm seel screws en equired) shadetc. Afterfixilicon sealaring & directivately) te. in depthages (350 x yall thickness	sash andmanized mild selected	ullion (wheresteel section, uPVC extrictionhingers frame to find the section welded a gap between rod of receiver-in-Charger VC frame, section profile shall made of (b.2 mm and section)	re ever requal made from ruded glazir s, zinc alloy hished wall, ash shall be lincluding den frame an quired size are. (Single / cosash and mobe acceptatig series) fra	uired) extruction roll forming beads of a plastic packer mitred currilling of hold adjacent finand of approduble glass ullion extructions able. Casement of x 60	ded profiles process of appropriate der coated) kers, plastic tand fusion es for fixing inished wall evedquality, panes and ded profiles ent window mm & sash
	bead diappropriate diff	2	1.200	W dbove 1.0	1.000		2.400	
			Van Hei	व अवि	Tota	al Quantity	2.400 sqm	1
	0	ther En	gineeri	ng Orga	tal Deducte	ns d Quantity	0.000 sqm	1
					Net Tota	al Quantity	2.400 sqm	1
			Say	2.400 sqm	@ Rs 12451	.79 / sqm	Rs 29	884.30
23	21.3.2 Providing and fixing glarubber / neoprene gask in -Charge. ( Cost of almm thickness	et etc. com	plete as pei	r the archited	tural drawin	igs and the	directions of	f Engineer -
		2	1.200		1.000		2.400	
					Tota	al Quantity	2.400 sqm	ı
				To	tal Deducte	d Quantity	0.000 sqm	ı
					Net Tota	al Quantity	2.400 sqm	ı
			Sa	y 2.400 sqm	@ Rs 1492	2.97 / sqm	Rs 35	583.13
24	od250152/2019_2020 Supply and fix fully finis matching PVC wrapped 4 side edges painted / 100 mm. Latch with Lev	l WPC Jaml Lock Hole E	b with front Boring (Usin	side Architra g mortise lo	ove other sid	le tackers. [ Rebate Cutti	Door of 35ming (4 Nos),	m thick with Jamb width

		2	0.900	2.100		3.781	
				Tota	al Quantity	3.781 sqr area	n of door
				Total Deducte	d Quantity	0.000 sqr area	n of door
				Net Tota	al Quantity	3.781 sqr area	n of door
	Say	3.781 sqm	of door area @ Rs	8764.14 / sqm of	door area	Rs 33	3137.21
25	10.25.2  Item Shifted to head cutting, hoisting, fixing steel etc. as required.	g in position	n and applying a p	riming coat of app	roved steel	primer usir	ng structu
			FRONT ENT	RANCE GATE			
		2	6.000	1.700	45.0	918.000	
		18	1000	Tota	al Quantity	918.000 k	κg
		10%	Lkair	Total Deducte	d Quantity	0.000 kg	
				Net Tota	al Quantity	918.000 k	κg
26	od308017/2010, 2020	Other E		18.000 kg @ Rs 1 Organisatio		Rs 11	7338.76
26	od308917/2019_2020 Supply and install 100 1163-2009 Grade min vertically and anchore approved by Engineer be submitted by the co	mmx100mr n C350L0 and to RC particles	ngineering mx14g thick 6.00 m AS/NZS 4792 Ga rapet and base up and painted with to	Organisation long Galvanized lyanised coatings stand, will be given or more coats of	square hollo on ferrous en a primino of epoxy pai	ow section r hollow sec g coat of Zir nt (Shop dra	member ( <i>i</i> ctions) fix
26	Supply and install 100 1163-2009 Grade min vertically and anchore	mmx100mm n C350L0 and to RC pate- in-charge and contractor to	ngineering nx14g thick 6.00 n AS/NZS 4792 Ga rapet and base up and painted with to the Engineer in-cl	Organisation long Galvanized lyanised coatings stand, will be given or more coats of	square hollo on ferrous en a primino of epoxy pai	bw section response hollow section ground to the hollow section of	member ( <i>i</i> ctions) fix
26	Supply and install 100 1163-2009 Grade min vertically and anchore approved by Engineer	mmx100mr n C350L0 and to RC particles	ngineering mx14g thick 6.00 m AS/NZS 4792 Ga rapet and base up and painted with to	Organisation long Galvanized evanised coatings a stand, will be give evo or more coats of the grant of the gr	square hollo on ferrous en a primino of epoxy pai before exec	bw section response hollow section of Ziront (Shop dracution).	nember ( ctions) fix nc primer awings sh
26	Supply and install 100 1163-2009 Grade min vertically and anchore approved by Engineer	mmx100mm n C350L0 and to RC pate- in-charge and contractor to	ngineering nx14g thick 6.00 n AS/NZS 4792 Ga rapet and base up and painted with to the Engineer in-cl	Organisation long Galvanized evanised coatings a stand, will be give evo or more coats of the grant of the gr	square hollo on ferrous en a primino of epoxy pai before exect	bw section response hollow section ground to the hollow section of	member (actions) fixanc primer awings sh
26	Supply and install 100 1163-2009 Grade min vertically and anchore approved by Engineer	mmx100mm n C350L0 and to RC pate- in-charge and contractor to	ngineering nx14g thick 6.00 n AS/NZS 4792 Ga rapet and base up and painted with to the Engineer in-cl	Organisation long Galvanized lyanised coatings stand, will be give to or more coats of the coats	square hollo on ferrous en a primino of epoxy pai before exect	bow section response hollow section ground of Ziront (Shop dracution).  46.200	member (actions) fix no primer awings sheetre
26	Supply and install 100 1163-2009 Grade min vertically and anchore approved by Engineer	mmx100mm n C350L0 and to RC pate- in-charge and contractor to	ngineering mx14g thick 6.00 m AS/NZS 4792 Ga rapet and base up and painted with to the Engineer in-cl 3.300	Organisation long Galvanized lyanised coatings stand, will be give to or more coats of the coats	square hollo on ferrous en a priming of epoxy pai before exect al Quantity ad Quantity	ow section r hollow sec g coat of Zir nt (Shop dra cution). 46.200 m 0.000 me	member (actions) fix no primer awings sheetre

core sandwiched between two Alumini um sheets (each0.5mm thick). Thealuminium composite panel cladding sheet shall be coil coated, with Kynar500based PVDF / Lumiflon based fluoropolymer resin coating of approved colourand shade on face # 1 and polymer (Service) coating on face # 2 as specified usingstainless steel screws, nuts, bolts, washers, cleats, weather silicone sealant, backerrods etc.c) The fastening brackets of Aluminium alloy 6005 T5 / MS with Hot Dip Galvanisedwith serrations and serrated washers to arrest the wind load movement, fasteners, SS 316 Pins and anchor bolts of approved make in SS 316, Nylon separators toprevent bi-metallic contacts all complete required to perform as per specification and drawing The item includes cost of all material & labour component, the cost of all mock ups at site, cost of all samples of the individual components for testing inan approved laboratory, field tests on the assembled working curtain wall with aluminium composite panel cladding, cleaning and protection of the curtain wallwith aluminium composite panel cladding till the handing over of the building foroccupation. Base frame work for ACP cladding is payable under the relevantaluminium item.s The Contractor shall provide curtain wall with aluminium composite panel cladding, having all the performance characteristics all complete, as per the Architectural drawings, as per item description, as specified, as per theapproved shop drawings and as directed by the Engineer-in-Charge. However, for the purpose of payment, only the actual area on the external face of the curtain wall with Aluminum Composite Panel Cladding (including width ofgroove) shall be measured in sqm. up to two decimal places.

SI No	Description	No No	Say	66.450 sqm	@ Rs 5064.	91 / sqm <sub>CF</sub>	Rs 336	5563.27 Remark
_	(	Other Er	ngineeri	na Oraz	Net Tota	l Quantity	66.450 sq	m
		70		Tot	al Deducted	I Quantity	0.000 sqm	1
		101	Ka		Tota	I Quantity	66.450 sq	m
		2*2	2.830	2.500	TO.		28.300	
		2	7.630	2.500	1 4 1		38.150	

1 2.8.1

> Earth work in excavation by mechanical means (Hydraulic excavator) /manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift up to 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil

		Е	XCAVATIO	N			
	22	1.800	0.900	0.700		24.948	
				Tota	al Quantity	24.948 cu	m
			To	tal Deducte	d Quantity	0.000 cum	1
				Net Tota	al Quantity	24.948 cu	m
		Sa	y 24.948 cur	m @ Rs 247	7.45 / cum	Rs 61	173.38

2 4.1.8

> Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:4:8 (1 cement : 4 coarse sand : 8 graded stone aggregate 40 nominal size)

				PCC					
		22	1.800	0.900	0.100		3.565		
					Tot	al Quantity	3.565 cun	n	
				To	otal Deducte	d Quantity	0.000 cum		
					Net Tot	al Quantity	3.565 cum		
			Sa	y 3.565 cum	@ Rs 6659	9.46 / cum	Rs 23	740.97	
3	2.25 Filling available excava exceeding 20 cm in depart and lift up to 1.5 m.	,	_	•	•			•	
			(A)	XCAVATIO	N				
		22	1.800	0.900	0.700		24.948		
			D	EDUCE PC	С				
		22	1.800	0.900	0.100		-3.564		
		Di	EDUCE RAN	DOM RUBE	BLE MASON	IRY			
		22	1.800	0.600	0.600	5	-14.256		
		400			Tot	al Quantity	24.948 cu	ım	
			A Paris	To	otal Deducte	d Quantity	-17.820 cum		
	0	ther E	ngineeri	ng Orga	an Net Tot	al Quantity	7.128 cun	n	
			S	ay 7.128 cui	m @ Rs 187	7.00 / cum	Rs 13	332.94	
4	5.12 Providing, hoisting and bands, copings, bed plocentering, shuttering bull!): 3 graded stone age	ates, anch it excluding	or blocks, pla g cost of rein	ain window : forcement, v	sills and the	like, includ	ing the cost	of requi	
			PRECAST R	C SLAB AB	OVE PILLA	R		1	
		22	0.400	0.400	0.050		0.177		
					Tot	al Quantity	0.177 cun	n	
				To	otal Deducte	d Quantity	0.000 cun	n	
					Net Tot	al Quantity	0.177 cun	n	
	Say 0.177 cum @ Rs 10368.21 / cum							· · · · · · · · · · · · · · · · · · ·	
			- Cu,					835.17	
5	5.22A.6 Steel reinforcement fo		ork including	g straighten	ing, cutting	•		osition a	

				To	tal Deducte	d Quantity	0.000 kg	
					Net Tota	al Quantity	24.641 kg	
				Say 24.64	1 kg @ Rs	84.17 / kg	Rs 20	074.03
6	7.1.1 Random rubble masor concrete 1:6:12 (1 cem level with:Cement mort	ent : 6 coar	se sand : 12 ment : 6 coa	2 graded sto	ne aggrega	_	• .	
		22	1.800	0.600	0.600		14.256	
			- SW			al Quantity	14.256 cu	
		1	7 9	10	otal Deducte		0.000 cum	
	Net Total Quantity Say 14.256 cum @ Rs 5897.62 / cum							076.47
	sand: 4 graded stone	aggregate	20 mm nom	ninal size).	los.			t : 2 coarse
	sand : 4 graded stone	ther En	20 mm nom	DPC 0.600	Total Deducte	ns a Quantity	23.760 23.760 sq 0.000 sqm	m
	sand : 4 graded stone	ther En	gineeri	DPC 0.600	Total Deducte	ns a Quantity	23.760 23.760 sq	m n
	sand : 4 graded stone	ther En	gineeri 1.800	DPC 0.600	Total Deducte	Quantity d Quantity al Quantity	23.760 sq 0.000 sqm 23.760 sq	m n
8	50.6.1.5 Solid block masonry us size confirming to IS 2 above in: CM 1:6 ( 1 o	sing pre cast	Say	DPC 0.600 To y 23.760 squ s ( Factory r super struc l) etc compl	Total Deducte  Net Total m @ Rs 476 made) of siz ture up to fiete	Quantity d Quantity al Quantity 6.24 / sqm	23.760 sq 0.000 sqm 23.760 sq Rs 11	m m 315.46
8	50.6.1.5 Solid block masonry us size confirming to IS 2 above in: CM 1:6 ( 1 cm)	sing pre cast 2185 Part I o cement : 6 o	Say solid blocks of 1979 for coarse sand	DPC 0.600 To 23.760 squ s ( Factory r super struc l) etc compl BLOCK MA	Total Deducte  Net Total  m @ Rs 476  made) of siz  ture up to fete  SONRY	Quantity d Quantity al Quantity 6.24 / sqm	23.760 sq 0.000 sqm 23.760 sq Rs 11	m m 315.46
8	50.6.1.5 Solid block masonry us size confirming to IS 2	sing pre cast	Say	DPC 0.600 To y 23.760 squ s ( Factory r super struc l) etc compl	Total Deducte  Net Total m @ Rs 476 made) of siz ture up to fiete	Quantity d Quantity al Quantity 6.24 / sqm	23.760 sq 0.000 sqm 23.760 sq Rs 11	m m 315.46
8	50.6.1.5 Solid block masonry us size confirming to IS 2 above in: CM 1:6 ( 1 c	sing pre cast 2185 Part I o cement : 6 o	Say s solid blocks of 1979 for coarse sand SOLID 1.800	DPC 0.600 To y 23.760 squ s ( Factory r super struct) etc compl BLOCK MA	Total Deducte  Net Total  m @ Rs 476  made) of size ture up to frete  SONRY  1.200  0.550	a Quantity d Quantity al Quantity 6.24 / sqm e 30x20x20 loor two lev	23.760 sq 0.000 sqm 23.760 sq Rs 11 cm or neare rel thickness 9.505 0.726	m 315.46 st available 20cm and
8	50.6.1.5 Solid block masonry us size confirming to IS 2 above in: CM 1:6 ( 1 c	sing pre cast 2185 Part I o cement : 6 o	Say s solid blocks of 1979 for coarse sand SOLID 1.800	y 23.760 squ s ( Factory r super struct) etc compl BLOCK MA 0.200 0.200	Total Deducte  Net Total  m @ Rs 476  made) of size ture up to frete  SONRY  1.200  0.550	a Quantity d Quantity al Quantity 6.24 / sqm e 30x20x20 loor two lev	23.760 sq 0.000 sqm 23.760 sq Rs 11 cm or neare rel thickness	m 315.46 st available 20cm and
8	50.6.1.5 Solid block masonry us size confirming to IS 2 above in: CM 1:6 ( 1 c	sing pre cast 2185 Part I o cement : 6 o	Say s solid blocks of 1979 for coarse sand SOLID 1.800	y 23.760 squ s ( Factory r super struct) etc compl BLOCK MA 0.200 0.200	Total Deducte  Net Total  m @ Rs 476  made) of size ture up to frete  SONRY  1.200  0.550  Total  otal Deducte	a Quantity d Quantity al Quantity 6.24 / sqm e 30x20x20 loor two lev	23.760 sq 0.000 sqm 23.760 sq Rs 11 cm or neare rel thickness 9.505 0.726 10.231 cu	m 315.46 st available 20cm and

13.4.1 12 mm cement plaster of	of mix:1:4 (	1 cement : 4	4 coarse sar	nd)			
12 mm comern practic	(		MENT PLAS	,			
BOTTOM WALL	22*2	1.800		1.200		95.040	
BOTTOM WALL TOP	22	1.500	0.200			6.601	
PILLAR SIDES	22	1.000		0.550		12.101	
TOP SLAB,TOP AND BOTTOM	22*2	0.400	0.400			7.041	
TOP SLAB SIDES	22	1.600		0.050		1.761	
DEDUCTION FOR PILLAR	-22	0.300	0.200			-1.319	
		6.03		Total	Quantity	121.225 s	qm
		JY 3	To	otal Deducted	Quantity	0.000 sqm	1
Net Total Quantity							qm
	155	Say	121.225 sq	m @ Rs 268.9	94 / sqm	Rs 32	602.25
Surface:Water thinnable cement primer  Other Engineering Primer  CEMENT PRIMER							
BOTTOM WALL SIDES	22*2	1.800		1.200		95.040	
BOTTOM WALL TOP	22	1.500	0.200			6.601	
PILLAR SIDES	22	1.000		0.550		12.101	
TOP SLAB,TOP AND BOTTOM	22*2	0.400	0.400			7.041	
TOP SLAB SIDES	22	1.600		0.050		1.761	
DEDUCTION FOR PILLAR	-22	0.300	0.200			-1.319	
	-22	0.300	0.200	Total	Quantity	-1.319 121.225 s	qm
	-22	0.300		Total	-		
	-22	0.300			Quantity	121.225 s	1
	-22		To	otal Deducted	Quantity	121.225 s 0.000 sqm 121.225 s	1

	achieve even shade and							
				PAINT ARE	A	I		1
	BOTTOM WALL SIDES	22*2	1.800		1.200		95.040	
	BOTTOM WALL TOP	22	1.500	0.200			6.601	
	PILLAR SIDES	22	1.000		0.550		12.101	
	TOP SLAB,TOP AND BOTTOM	22*2	0.400	0.400			7.041	
	TOP SLAB SIDES	22	1.600		0.050		1.761	
	DEDUCTION FOR PILLAR	-22	0.300	0.200			-1.319	
			JAM.	509	Tota	al Quantity	121.225 s	qm
			E. L 1	To	otal Deducte	d Quantity	0.000 sqn	า
		610	W. B	35 A	Net Tota	al Quantity	121.225 s	qm
		18	Say	121.225 sq	m @ Rs 109	0.90 / sqm	Rs 13	322.63
	and bolted with special	shaped wa			oat of appro ot finished v	•		ing weldii
	and bolted with special	shaped wa	ashers etc.	complete.H	ot finished v	velded type		ing weldir
	and bolted with special	shaped wa	ashers etc. 0x30x2.9MN	complete.H	ot finished v	velded type	tubes	ing weldii
	and bolted with special	shaped wa	ashers etc.	complete.H	ot finished v	velded type		ing weldi
	and bolted with special	shaped wather E <sub>7</sub>	0x30x2.9MN 1.524	complete.H	ot finished v OW SECTIO 4.120 4.120	velded type	138.136	
	and bolted with special	shaped wather E <sub>7</sub>	0x30x2.9MN 1.524	Complete.H	ot finished v OW SECTIO 4.120 4.120	velded type	138.136 293.130	
	and bolted with special	shaped wather E <sub>7</sub>	0x30x2.9MN 1.524	Complete.H	ot finished volume of the other	velded type	138.136 293.130 431.266 k	g
	and bolted with special	shaped wather E <sub>7</sub>	0x30x2.9MM 1.524 0.462	complete.H	ot finished volume of the other	velded type  NS  al Quantity d Quantity al Quantity	138.136 293.130 431.266 k 0.000 kg 431.266 k	g
13	and bolted with special	shaped wather E7	1.524 0.462 0.462	To Say 431.266 VOC (Volatire, including	ot finished v OW SECTIO 4.120  4.120  Total Deducte Net Total 6 kg @ Rs 1	relded type  NS  al Quantity d Quantity al Quantity 34.21 / kg  Compound	138.136 293.130 431.266 k 0.000 kg 431.266 k Rs 57	g 880.21
13	and bolted with special  13.84.2 Painting with synthetic grams/ litre, of approved	enamel pad brand and colour.Tw	1.524 0.462 0.462 0.462	To Say 431.266	ot finished volume of the second of the seco	relded type  NS  al Quantity d Quantity al Quantity 34.21 / kg  Compound	138.136 293.130 431.266 k 0.000 kg 431.266 k Rs 57 content les	g 880.21
13	and bolted with special  13.84.2 Painting with synthetic grams/ litre, of approved	enamel pad brand and colour.Tw	1.524 0.462 0.462 0.462 0.462 0.462 0.462 0.462 0.462	To Say 431.266 VOC (Volatire, including	ot finished volume of the second of the seco	relded type  NS  al Quantity d Quantity al Quantity 34.21 / kg  Compound	138.136 293.130 431.266 k 0.000 kg 431.266 k Rs 57 content less ts wherever	g (880.21
13	and bolted with special  13.84.2 Painting with synthetic grams/ litre, of approved	enamel pad brand and colour.Tw	1.524 0.462 0.462 0.462	To Say 431.266 VOC (Volatire, including	ot finished volume of the second of the seco	velded type  NS  al Quantity d Quantity al Quantity 34.21 / kg  Compound) dditional coa	138.136 293.130 431.266 k 0.000 kg 431.266 k Rs 57 content lesets wherever	g 880.21 ss than 1
13	and bolted with special  13.84.2 Painting with synthetic grams/ litre, of approved	enamel pad brand and colour.Tw	1.524 0.462 0.462 0.462 0.462 0.462 0.462 0.462 0.462	Complete.H  MMS HOLE  To  Say 431.266  VOC (Volatire, including	ot finished volume of the second of the seco	velded type  NS  al Quantity d Quantity al Quantity 34.21 / kg  Compound) dditional coa	138.136 293.130 431.266 k 0.000 kg 431.266 k Rs 57 content less ts wherever	g  880.21  ss than 1st required

			Say	/ 20.936 sqi	m @ Rs 111	.61 / sqm	Rs 23	336.67	
14	od250158/2019_2020 Supply and install externally 1st quality 600x300x8mm brick pattern design colour ceramic tile wal cladding, tile shall be laid and fixed to pre- plastered walls in patterns, style and forms of grouting and jointing as directed by engineer using approved tile adhesive materials and pointed with approved tile joint filler matching the colour of tiles.								
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		11.880						
					Tota	al Quantity	11.880 sq	m	
				To	otal Deducte	d Quantity	0.000 sqn	า	
					Net Tota	al Quantity	11.880 sq	m	
			Say	11.880 sqm	@ Rs 1215	5.47 / sqm	Rs 14	439.78	
SI No	Description	No	L/100	В	D	CF	Quantity	Remark	
		5 ROA	DS AND AN	ICILLARY V	WORKS				
	excavating earth to a including making goo lead upto 50 metres.  Road	230 (6,600)	1 1 7 2 79	the state of	T 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	e and dispos	•		
	Parking		271.000				271.000	LENGTH = AREA	
					Tota	al Quantity	572.000 s	qm	
				To	otal Deducte	d Quantity	0.000 sqn	า	
					Net Tota	al Quantity	572.000 s	qm	
			Say	572.000 sqı	m @ Rs 133	3.99 / sqm	Rs 76	642.28	
2	16.78.3  Construction of granular sub- base by Providing close graded Material conforming to specifications mixing in a mechanical mix plant at OMC, Carriage of mixed material by tippers to work site, for all leads & lifts, spreading in uniform layers of specified thickness with motor grader on prepared surface and compacting with vibratory power roller to achieve the desired density, complete as per specifications and directions of Engineer-in- Charge. With material conforming to Grade - III ( size range 26.5 mm to 0.075)								
	& lifts, spreading in compacting with vibra	uniform laye atory power re er-in- Charge	rs of specific oller to achie	riage of mix ed thicknes ve the desi	ed material s with moto red density,	by tippers to r grader on complete as	prepared s s per specifi	surface an	
	& lifts, spreading in compacting with vibra directions of Engineer	uniform laye atory power re er-in- Charge	rs of specific oller to achie	riage of mix ed thicknes ve the desi	ed material s with moto red density,	by tippers to r grader on complete as	prepared s s per specifi	surface an cations an m to 0.07	
	& lifts, spreading in compacting with vibra directions of Engineermm) having CBR Va	uniform laye atory power re er-in- Charge. lue - 20	rs of specifications of specifications of specifications of specifications of the specification of the specificati	riage of mix ed thicknes ve the desi	ed material s with moto red density, ng to Grade	by tippers to r grader on complete as	prepared s s per specifi ange 26.5 m	cations and to 0.079	

				Total Deducted Quantity	/ 0.000 cur	n		
				Net Total Quantity				
			Say 57.	200 cum @ Rs 2872.33 / cum	Rs 16	4297.28		
3	wet mix macadam mix plant, carriag mechanical pave	n (WMM) specificate of mixed mate of mixed mate of mixed mate of the first of the f	cation including perial by tipper to a base / base capacity to achie	ed stone aggregate (size rangoremixing the material with was site, for all leads & lifts, layiourse on well prepared surface the desired density, comp	ter at OMC in ng in uniform ace and comp	mechanical layers with pacting with		
	Road	1	301.000	0.150	45.150	LENGTH = AREA		
	Parking	1	271.000	0.150	40.650	LENGTH = AREA		
			CF 59	Total Quantity	/ 85.800 cu	ım		
			LIME	Total Deducted Quantity	0.000 cur	n		
	Net Total Quantity 85.800 cum							
		49/92	Say 85.	800 cum @ Rs 3170.87 / cum	Rs 27	2060.65		
	Providing and app	plying primer co	at with bitumen and spraying p	cked Bitumen Rates emulsion (SS-1) on prepared imer at the rate of 0.70 - 1.0 (low porosity).	_	LENGTH = AREA		
	Parking	1	271.000		271.000	LENGTH = AREA		
				Total Quantity	/ 572.000 s	sqm		
				Total Deducted Quantity  Net Total Quantity				
			Sav 57	2.000 sqm @ Rs 61.90 / sqm		5406.80		
5	size respectively pand 11.2 mm size with road roller of	rpet surfacing wo per 100 sqm and respectively, in 6 6 to 9 tonne ca - 10 heated and	d 52 kg and 56 kg cluding a tack co pacity etc. comp	1.12 cum of stone chippings of hot bitumen per cum of strate with hot straight run bitumen lete ( tack coat to be paid for a solvent at the rate of 70 gran	one chippings n, including c separately):	of 13.2 mm onsolidation With paving		

	Road	1	301.000				301.000	LENGTI = AREA
	Parking	1	271.000				271.000	LENGTI = AREA
					Tota	al Quantity	572.000 s	qm
				To	tal Deducte	d Quantity	0.000 sqm	า
					Net Tota	al Quantity	572.000 s	qm
			Say	572.000 sqı	m @ Rs 252	2.25 / sqm	Rs 144	4287.00
	Tack Coat - RS Bitumer Providing and applyin pressure distributor in 1. With Rapid Setting B 2. On bituminous surface	g tack coa cluding pre itumen Emi	t using bitu eparing the ulsion	men emuls	ion conform	ning to IS:		
	Road	1	301.000	30/4	W		301.000	= ARE
	Parking	101	271.000				271.000	LENGT = ARE
				n 01	Tota	al Quantity	572.000 s	qm
		ther Er	oineeri	To	tal Deducte	d Quantity	0.000 sqm	า
		uici Ei	igineeri	ng Oigo	Net Tota	al Quantity	572.000 s	qm
			Sa	y 572.000 so	qm @ Rs 11	.57 / sqm	Rs 66	618.04
7	od16391/2019_2020 Providing and laying se sieve) with bitumen using cum of fine aggregate complete.(DSR ITEM Road	ng 128 kg o per 100 so NO 16.40)	f bitumen of qm of road s 301.000	grade VG -	10 bitumen	per cum of t	fine aggrega ning with roa 301.000	ite and 0.
	Parking	1	271.000		<u> </u>		271.000	= ARE
						al Quantity	572.000 s	•
				<u> </u>	tal Deducte		0.000 sqm	
			C	, 572 000 as		al Quantity	572.000 s	qm <b>604.84</b>
			Sa	y 312.000 SC	qm @ Rs 88	o.47 / SQM	KS 30	UU4.04
8	od16396/2019_2020 Providing and laying a stone aggregate mixed	_		•	•			

	smooth etc. all complete as per direction of Engineer-in-charge.	01 000	
	1 91.000 1.000	91.000	
	Total Quantity	91.000 sqm	
	Total Deducted Quantity	0.000 sqm	
	Net Total Quantity	91.000 sqm	
	Say 91.000 sqm @ Rs 291.60 / sqm	Rs 26535.60	
9	16.42 Cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 4 pavements, laid to required slope and camber in panels as required including cortamping complete	•	
	1 91.000 1.000 0.100	9.100	
	Total Quantity	9.100 cum	
	Total Deducted Quantity	0.000 cum	
	Net Total Quantity	9.100 cum	
	Say 9.100 cum @ Rs 8184.70 / cum	Rs 74480.77	
10	16.45 Providing and fixing in position pre- moulded joint filler in expansion joints.		
	4 1.000 1.000 15.000	60.000	
	Other Engineering Organisations Total Quantity	60.000 per cm dep per cm width per meter length	
	Total Deducted Quantity	0.000 per cm dept per cm width per meter length	
	Net Total Quantity	60.000 per cm dep per cm width per meter length	
	Say 60.000 per cm depth per cm width per meter length @ Rs 3.27 / per cm depth per cm width per meter length	Rs 196.20	
11	16.90 Providing and laying tactile tile (for vision impaired persons as per standards) of having with water absorption less than 0.5% and conforming to IS: 15622 of approand shades in for outdoor floors such as footpath, court yard, multi modals local thick base of cement mortar 1:4 (1 cement: 4 coarse sand) in all shapes & pattern	oved make in all colo tion etc., laid on 20r as including grouting	
	joints with white cement mixed with matching pigments etc. complete as per dicharge.	irection of Engineer	
		rection of Engineer	

				To	tal Deducte	d Quantity	0.000 sqn	า
					Net Tota	al Quantity	91.000 sc	m
			Say	91.000 sqm	@ Rs 2156	6.96 / sqm	Rs 19	6283.36
12	16.69 Providing and laying at position to the required sand), including making to more than 5 mm), industriance of Engineer-in-charge kerb stone shall be ap	d line, leveng joints with cluding make (length of	I and curvate n or without g king drainage finished kerb	ure jointed grooves (this opening wood edging sh	with cemen ckness of jo herever req	t mortar 1:3 pints except uired compl	3(1 cemen at sharp cu ete etc. as p	t: 3 coarse ve shall no per direction
		2	91.000	A_	0.075		13.650	DEPTH = AREA CR.SEC OF KERE
			43 6	8 54	Tota	al Quantity	13.650 cu	m
		( L"	N Ale	To	tal Deducte	d Quantity	0.000 cun	า
		12			Net Tota	al Quantity	13.650 cu	m
			Say	13.650 cum	@ Rs 7454	1.31 / cum	Rs 10	1751.33
	two coats after filling surfaces		with synthe gineeri 91.000		o.200		36.400 36.400 so	
				To	tal Deducte		0.000 sqn	<u> </u>
				10		al Quantity	36.400 sq	
			Say	, 26 400 ca	m @ Rs 100			666.57
14	od16452/2019_2020 Providing and fixing P\ kgf/cm2	/C pipe pie	•	·		·		
		60	0.110				6.600	
					Tota	al Quantity	6.600 me	tre
				To	tal Deducte	d Quantity	0.000 me	tre
					Net Tota	al Quantity	6.600 me	tre
			Say 6	6.600 metre	@ Rs 225.	21 / metre	Rs 1	486.39
15	od250248/2019_2020 Construct foundation M20x75cm long anch specification.							

		8					8.000	
					To	tal Quantity	8.000 ead	ch
				To	otal Deduct	ed Quantity	0.000 ead	ch
					Net To	tal Quantity	8.000 ead	ch
			Say 8	8.000 each	@ Rs 1170	1.63 / each	Rs 93	3613.04
16	od16461/2019_2020 Construct RC drain us x 60cm deep covered	_				_		
		1	117.000				117.000	
		1			To	tal Quantity	117.000 r	metre
			100	2A) То	otal Deduct	ed Quantity	0.000 me	tre
				W	Net To	tal Quantity	117.000 r	netre
				7.000 metre	@ Rs 6066	5.96 / metre	Rs 70	9834.32
SI No	Description	No	TYL #	В	D	CF	Quantity	Remark
			6 LAND DE	VELOPMEN	VT .			
	-	Ither E	ang meet	T C	anisati	tal Quantity	2000.000	sqm
			D		To	tal Quantity	2000.000	sqm
			K	To	otal Deduct	ed Quantity	0.000 sqr	n
					MILL T	tal Quantity		
	-				Net 10	nai Quarinty	2000.000	sqm
			Sa	ay 2000.000				sqm 0860.00
2	2.31 Clearing jungle includi to 30 cm measured at m outside the periphe	a height o	ng of rank ve	getation, gr	sqm @ Rs	5.43 / sqm wood, trees	Rs 10	<b>0860.00</b> s of girth
2	Clearing jungle includi to 30 cm measured at	a height o	ng of rank ve	getation, grage	sqm @ Rs	5.43 / sqm wood, trees	Rs 10	<b>0860.00</b> s of girth
2	Clearing jungle includi to 30 cm measured at	a height or	ng of rank ve of 1 m above rea cleared	getation, grage	sqm @ Rs ass, brush I and remo	5.43 / sqm wood, trees	Rs 10	s of girth
2	Clearing jungle includi to 30 cm measured at	a height or	ng of rank ve of 1 m above rea cleared	getation, grage	sqm @ Rs ass, brush I and remo	5.43 / sqm wood, trees a	Rs 10 and sapling to up to a dis	s of girth stance of
2	Clearing jungle includi to 30 cm measured at	a height or	ng of rank ve of 1 m above rea cleared	getation, grage	sqm @ Rs ass, brush I and remo Too	5.43 / sqm wood, trees aval of rubbish	Rs 10 and sapling a up to a dis	s of girth stance of sqm
2	Clearing jungle includi to 30 cm measured at	a height or	ng of rank ve of 1 m above rea cleared 2000.000	getation, grage	sqm @ Rs ass, brush I and remo Too tal Deduct	5.43 / sqm wood, trees aval of rubbished Quantity atal Quantity	Rs 10 and sapling n up to a dis 2000.000 2000.000 0.000 sqr 2000.000	s of girth stance of sqm

	1 3.000			3.000	
	1 0.000	Tota	al Quantity	3.000 eac	 h
		Total Deducte	-	0.000 eac	
		Net Tota	al Quantity	3.000 eac	h
	Say	3.000 each @ Rs 325.	97 / each	Rs 9	77.91
4	2.33.2 Felling trees of the girth (measured at a height of branches, removing the roots and stacking of material.Beyound 60 cm girth up to and incl	of serviceable materi	•	-	
	1 1.000			1.000	
		Tota	al Quantity	1.000 eac	h
	1100	Total Deducte	d Quantity	0.000 eac	h
	- E. S W	Net Tota	al Quantity	1.000 eac	h
	Say 1	.000 each @ Rs 1446.	50 / each	Rs 14	146.50
5	Earth work in rough excavation, banking exc breaking clods, watering, rolling each layer with every 3rd and top-most layer with power roller of	1/2 tonne roller or wo f minimum 8 tonnes ar	oden or ste nd dressing	el rammers, up in embar	and rolling
	breaking clods, watering, rolling each layer with	1/2 tonne roller or wo f minimum 8 tonnes ar banks or filling up gro	oden or ste nd dressing und depres	rel rammers, up in embarssions, lead 120.000 120.000 c	and rolling nkments for up to 50 m
	breaking clods, watering, rolling each layer with every 3rd and top-most layer with power roller o roads, flood banks, marginal banks and guide and lift up to 1.5 m:All kinds of soil	1/2 tonne roller or wo f minimum 8 tonnes ar banks or filling up gro Total Total Deducte	oden or ste and dressing und depres and depres al Quantity d Quantity	rel rammers, up in embarssions, lead 120.000 120.000 cm	and rolling nkments for up to 50 m
	breaking clods, watering, rolling each layer with every 3rd and top-most layer with power roller or oads, flood banks, marginal banks and guide and lift up to 1.5 m:All kinds of soil.  1 120.000	1/2 tonne roller or wo f minimum 8 tonnes ar banks or filling up gro Total Total Deducte Net Total	oden or steemed dressing und depressing und depressing und depressing under the depression of the depr	120.000 cm	and rolling nkments fo up to 50 m um um
6	breaking clods, watering, rolling each layer with every 3rd and top-most layer with power roller or oads, flood banks, marginal banks and guide and lift up to 1.5 m:All kinds of soil.  1 120.000	Total Deducte  Net Total  20.000 cum @ Rs 636	oden or steemed dressing und depressing und depressing und depressing und Quantity depression depre	120.000 cm	and rolling hkments for up to 50 m  um  um  359.60
	breaking clods, watering, rolling each layer with every 3rd and top-most layer with power roller or roads, flood banks, marginal banks and guide and lift up to 1.5 m:All kinds of soil.  1 120.000  Say 1  2.28.1  Surface dressing of the ground including removes	Total Deducte  Net Total  20.000 cum @ Rs 636	oden or steemed dressing und depressing und depressing und depressing und Quantity depression depre	120.000 cm	and rolling hkments for up to 50 m  um  um  359.60
	breaking clods, watering, rolling each layer with every 3rd and top-most layer with power roller or roads, flood banks, marginal banks and guide and lift up to 1.5 m:All kinds of soil.  1 120.000  Say 1  2.28.1  Surface dressing of the ground including remodeep and disposal of rubbish, lead up to 50 m	Total Deducted  Net Total  20.000 cum @ Rs 636  Diving vegetation and in and lift up to 1.5 m./	oden or steemed dressing und depressing und depressing und depressing und Quantity depression depre	120.000 120.000 c 0.000 cum 120.000 c Rs 76	and rolling nkments for up to 50 m  um  359.60  ding 15 cm
	breaking clods, watering, rolling each layer with every 3rd and top-most layer with power roller or roads, flood banks, marginal banks and guide and lift up to 1.5 m:All kinds of soil.  1 120.000  Say 1  2.28.1  Surface dressing of the ground including remodeep and disposal of rubbish, lead up to 50 m	Total Deducted  Net Total  20.000 cum @ Rs 636  Diving vegetation and in and lift up to 1.5 m./	oden or steemed dressing und depressing und depression und depress	120.000 cm	and rolling nkments for up to 50 m  um  359.60  ding 15 cm
	breaking clods, watering, rolling each layer with every 3rd and top-most layer with power roller or roads, flood banks, marginal banks and guide and lift up to 1.5 m:All kinds of soil.  1 120.000  Say 1  2.28.1  Surface dressing of the ground including remodeep and disposal of rubbish, lead up to 50 m	Total Deducted and lift up to 1.5 m./	oden or steemed dressing und depressing und depression und depress	120.000 cm 120.000 cm 120.000 cm 120.000 cm 120.000 cm 120.000 cm 2000.000 2000.000	and rolling nkments for up to 50 m  um  359.60  ding 15 cm
	breaking clods, watering, rolling each layer with every 3rd and top-most layer with power roller or roads, flood banks, marginal banks and guide and lift up to 1.5 m:All kinds of soil.  1 120.000  Say 1  2.28.1  Surface dressing of the ground including remodeep and disposal of rubbish, lead up to 50 m  1 2000.000	Total Deducted and lift up to 1.5 m./	oden or steemed dressing und depressing und depressing und depressing und depressing und depressing und Quantity al Quantity al Quantity dependent of Quantity al Quantity al Quantity al Quantity al Quantity al Quantity	120.000 120.000 c 120.000 c 120.000 c 120.000 c Rs 76 s not excees soil 2000.000 2000.000 0.000 sqm 2000.000	and rolling nkments for up to 50 m  um  359.60  ding 15 cm

1	50.18.9.6.1 Providing and fixing P\ refilling & testing of join		• •	•		•		_
		1	47.000				47.000	
					Tota	al Quantity	47.000 m	etre
				To	otal Deducte	d Quantity	0.000 met	re
					Net Tota	al Quantity	47.000 m	etre
			Say 4	7.000 metre	@ Rs 238.	56 / metre	Rs 11	212.32
2	od16350/2019_2020 Supply ,Installation tes 2500LPH capacity incl	•	_	of Kirloskar	make Trans	sfer pump 3	HP, 3 phase	,18m hea
		2	//66				2.000	
			C. 13		Tota	al Quantity	2.000 eac	h
		1	37 3	To	otal Deducte	d Quantity	0.000 eac	h
		( k)		30/1	Net Tota	al Quantity	2.000 eac	h
		15	Say 2	2.000 each @	® Rs 16206	.19 / each	Rs 32	412.38
	Extra over for Providin aggregate 40 mm nom		1, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2,		•	ns	1.786	aueu stori
					Tota	al Quantity	1.786 cun	า
				To	otal Deducte	d Quantity	0.000 cun	า
					Net Tota	al Quantity	1.786 cun	า
			Sa	y 1.786 cum	@ Rs 6259	0.29 / cum	Rs 11	179.09
4	18.32.1 Constructing masonry coarse sand) for stop cement concrete slab size), i/c necessary exaggregate 40 mm nom 12 mm thick, finished value burnt clay F.P.S (non reconstruction).	cock, with (1:2:4 mix (1) (1:2:4 mix (1) (1:2:4 mix (1))	C.I. surface I cement: 2 Dundation cound inside plang coat of ne	box 100x1 2 coarse san concrete 1:5 astering with eat cement of	00x75 mm nd: 4 grader 10 (1 ceme cement mo complete as	(inside) with d stone agg ent : 5 fine s rtar 1:3 (1 c	n hinged co regate 20 n and : 10 gr ement : 3 co	ver fixed in mention nominal aded stone carse sand
		1					1.000	
					Tota	al Quantity	1.000 eac	h
				To	otal Deducte	d Quantity	0.000 eac	h
					Net Tota	al Quantity	1.000 eac	 h

	od250255/2019_202 Supply, install and to 1703 with all necess	esting approve		•				_
	as directed and spec							
		2					2.000	
					Tota	al Quantity	2.000 ead	ch
				To	tal Deducte	d Quantity	0.000 ead	ch
					Net Tota	al Quantity	2.000 ead	ch
			Sa	y 2.000 each	@ Rs 2158.	26 / each	Rs 4	316.52
6	18.19.3.1 Providing and fixing boreHorizontal	g gun metal r	non-return	valve of app	roved quali	ty (screwed	d end):40 n	nm nomii
		2	-1				2.000	
			33 6		Tota	al Quantity	2.000 ead	ch
		11		To	tal Deducte	d Quantity	0.000 ead	ch
		1 /2-			Net Tota	al Quantity	2.000 ead	ch
		100	Sa	y 2.000 each	@ Rs 1015.	47 / each	Rs 2	030.94
7	od16374/2019_2020 Supply ,Installation equivalent 5HP, 3 p	testing and	commissi	oning of Kirl	oskar mak	e model K	OS 527+ o	r approv
7	Supply ,Installation	testing and	commissi	oning of Kirl	oskar mak	e model K	OS 527+ o	r approv
7	Supply ,Installation	testing and hase (18m h	commissi	oning of Kirl	oskar mak submersibl	e model K	OS 527+ o	r approv
7	Supply ,Installation	testing and hase (18m h	commissi	oning of Kirl	oskar mak submersibl	e model Ko e pump ind e pump ind	OS 527+ ocluding all a	r approv accessori
7	Supply ,Installation	testing and hase (18m h	commissi	oning of Kirl	oskar mak submersibl Tota tal Deducte	e model Ko e pump ind e pump ind	OS 527+ ocluding all a	r approv accessori ch
7	Supply ,Installation	testing and hase (18m h	commissi ead 13.5 L	oning of Kirl	oskar mak submersibl Tota tal Deducte	e model Kon e pump income al Quantity d Quantity al Quantity	OS 527+ ocluding all a 2.000 2.000 eac 2.000 eac	r approv accessori ch
8	Supply ,Installation	testing and hase 18m h	commissi ead 13.5 L	oning of Kirl PS capacity  To	oskar mak submersibl Tota tal Deducte Net Tota Rs 26882	e model Kore pump incommended and Quantity al Quantity 08 / each	OS 527+ ocluding all a 2.000 2.000 eac 2.000 eac Rs 53	r approvaccessori
	Supply ,Installation equivalent 5HP, 3 p	testing and hase 18m h	commissi ead 13.5 L	oning of Kirl PS capacity  To	oskar mak submersibl Tota tal Deducte Net Tota Rs 26882	e model Kore pump incommended and Quantity al Quantity 08 / each	OS 527+ ocluding all a 2.000 2.000 eac 2.000 eac Rs 53	r approvaccessori
	Supply ,Installation equivalent 5HP, 3 p	testing and hase 18m h	commissi ead 13.5 L	oning of Kirl PS capacity  To	oskar make submersibl Tota tal Deducte Net Tota Rs 26882 roved quali	e model Kore pump incommended and Quantity al Quantity 08 / each	OS 527+ ocluding all a 2.000 2.000 eac 0.000 eac 2.000 eac Rs 53	ch c
	Supply ,Installation equivalent 5HP, 3 p	testing and hase 18m h	commissi ead 13.5 L	oning of Kirl PS capacity  To  2.000 each @	oskar make submersibl Tota tal Deducte Net Tota Rs 26882 roved quali	e model Keepump incoming Quantity d Quantity al Quantity 08 / each ty (screwed	OS 527+ ocluding all a 2.000 2.000 eac 0.000 eac 2.000 eac Rs 53 d end):50 n	r approvaccessori
	Supply ,Installation equivalent 5HP, 3 p	testing and hase 18m h	commissi ead 13.5 L	oning of Kirl PS capacity  To  2.000 each @	oskar make submersible Total Met Total Rs 26882 roved quali	e model Keepump incoming Quantity d Quantity al Quantity 08 / each ty (screwed	OS 527+ ocluding all a 2.000 2.000 eac 0.000 eac 2.000 eac d end):50 n 2.000 2.000 eac	r approvaccessori
	Supply ,Installation equivalent 5HP, 3 p	testing and hase 18m h	commissi ead 13.5 L Say	oning of Kirl PS capacity  To  2.000 each @	oskar make submersible Total Met Total Rs 26882 roved quali Total Met Total	e model Keepump incoming Quantity d Quantity al Quantity 08 / each ty (screwed) al Quantity d Quantity	OS 527+ ocluding all a 2.000 2.000 eac 0.000 eac 2.000 eac d end):50 n 2.000 2.000 eac 0.000 eac 0.000 eac 0.000 eac	r approvaccessori

1	50.18.9.9.1 Providing and fixing PV refilling & testing of Join			•		•		_
		1	94.000				94.000	
					Tota	al Quantity	94.000 me	etre
				To	tal Deducte	d Quantity	0.000 met	re
					Net Tota	al Quantity	94.000 me	etre
			Say 9	4.000 metre	@ Rs 451.8	30 / metre	Rs 42	469.20
2	od16351/2019_2020 Extra over for Providing aggregate 40 mm nominations				•	: 5 coarse	sand : 10 gr	aded stone
		1	94.000	1631	0.058		5.452	
			C.01		Tota	al Quantity	5.452 cum	1
		1	35 3	To	tal Deducte	d Quantity	0.000 cum	1
		(1)		30/2	Net Tota	al Quantity	5.452 cum	1
		155	Sa	y 5.452 cum	@ Rs 6259	).29 / cum	Rs 34	125.65
	Constructing brick mass with 1:2:4 mix (1 ceme concrete 1:4:8 mix (1) plastering 12 mm thick neat cement and making aggregate 20 mm nom design:Inside size 90x internal dimensions, to weight of frame 15 kg):	ont: 2 coars cement: 4 with cemer ng channels inal size) f 80 cm and tal weight of	se sand : 4 coarse sand it mortar 1:; in cement dinished with 45 cm deep f cover and	graded stond: 8 graded 3 (1 cement concrete 1:2 a a floating of including (frame to be	e aggregate stone aggr t: 3 coarse :4 (1 cemel coat of neat C.I. cover w not less that	e 20 mm no egate 40 m sand) finish nt : 2 coarse cement coi ith frame (li an 38 kg (we	minal size), m nominal s ned with floa e sand : 4 gr mplete as p ght duty) 45 eigh of cove	foundation size,) inside ting coat of aded stone er standard 55x610 mm r 23 kg and
	and grade and angle	12			,		12.000	
			I	I .	Tota	al Quantity	12.000 ea	ch
				To	tal Deducte	d Quantity	0.000 eac	h
					Net Tota	al Quantity	12.000 ea	ch
			Say 12	2.000 each @	® Rs 12839	.77 / each	Rs 154	1077.24
4	19.8.1.1 Extra for depth for man designation 7.5	holesSize 9	0x80 cmWit	th common b	ournt clay F.	P.S. ( non n	nodular ) bri	cks of class
		12	0.150				1.800	
					Tota	al Quantity	1.800 met	re
				То	tal Deducte	d Quantity	0.000 met	re

					Net Tota	al Quantity	1.800 met	re
			Say 1	.800 metre (	@ Rs 8504.1	13 / metre	Rs 15	307.43
5	19.33 Constructing soak pit 1.20 m long complete				cluding S.W	. drain pipe	100 mm di	ameter and
		1					1.000	
					Tota	al Quantity	1.000 eac	h
				To	tal Deducte	d Quantity	0.000 eac	h
					Net Tota	al Quantity	1.000 eac	h
			Say	1.000 each	@ Rs 3147.	.30 / each	Rs 31	147.30
6	Supplying and installing the level below ground CC/RCC/Sand/06mm 4. 35 to 50 flush capacity	nd level as aggregate	specified a	s per the di	rection of	engineer in	charge (Pr	
		3		1091	18		3.000	
		104	Ma	FOY.	Tota	al Quantity	3.000 eac	h
		70		То	tal Deducte	d Quantity	0.000 eac	h
			Bas	g (200)		al Quantity	3.000 eac	h
		Other Er	ngineeri Say 3	.000 each @	Rs 41035.	60 / each	Rs 123	3106.80
	Description	No	L	В	D	CF	Quantity	Remark
SI No	Description							
SI No		9	RAIN WATE	R DRAINA	GE			
SI No	50.18.9.9.1 Providing and fixing Prefilling & testing of Jo	VC pipes inc	cludings join	ting of pipes	with one st	•		
	50.18.9.9.1 Providing and fixing P	VC pipes inc	cludings join	ting of pipes	with one st	•		
	50.18.9.9.1 Providing and fixing P	VC pipes indi	cludings join te as per dire	ting of pipes	with one st	•	m dia 6Kgf/c	m2
	50.18.9.9.1 Providing and fixing P	VC pipes indi	cludings join te as per dire	ting of pipes	with one st	arge.110 mi	6.000	re
	50.18.9.9.1 Providing and fixing P	VC pipes indi	cludings join te as per dire	ting of pipes	with one st gineer in cha Tota tal Deducte	arge.110 mi	6.000 met	re
	50.18.9.9.1 Providing and fixing P	VC pipes indi	cludings join te as per dire 6.000	ting of pipes	Total Deducte  Net Total	arge.110 mi	6.000 met  6.000 met  6.000 met	re
	50.18.9.9.1 Providing and fixing P	VC pipes indinits completed in the complete in	cludings join te as per dire 6.000 Say	ting of pipes ection of engage To 6.000 metre ting of pipes	Total tal Deducte  Net Total  @ Rs 451.8	arge.110 minal Quantity al Quantity al Quantity 30 / metre	6.000 met  0.000 met  6.000 met  6.000 met  Rs 27	re re 710.80
1	50.18.9.9.1 Providing and fixing Prefilling & testing of Journal o	VC pipes indinits completed in the complete in	cludings join te as per dire 6.000 Say	ting of pipes ection of engage To 6.000 metre ting of pipes	Total tal Deducte  Net Total  @ Rs 451.8	arge.110 minal Quantity al Quantity al Quantity 30 / metre	6.000 met  0.000 met  6.000 met  6.000 met  Rs 27	re re 710.80
1	50.18.9.9.1 Providing and fixing Prefilling & testing of Journal o	VC pipes incoints completed and the complete incompleted and the completed and the comple	cludings join te as per dire  6.000  Say cludings join e as per dire	ting of pipes ection of engage To 6.000 metre ting of pipes	Total tall Deducte  Net Total  @ Rs 451.8  s with one signeer in Ch	arge.110 minal Quantity al Quantity al Quantity 30 / metre	6.000 met  0.000 met  6.000 met  6.000 met  Rs 27	re re 710.80 trenching

					Net Tot	al Quantity	160.000 n	netre	
			Say 16	0.000 metre	@ Rs 828.	65 / metre	Rs 13	2584.00	
3	od16351/2019_2020 Extra over for Providing and laying cement concrete 1:5:10 (1 cement : 5 coarse sand : 10 graded stone aggregate 40 mm nominal size) all - round underground PVC pipes.								
	110mm dia	1	6.000		0.058		0.349		
	160mm dia	1	30.000		0.076		2.280		
					Tot	al Quantity	2.629 cun	n	
				То	tal Deducte	ed Quantity	0.000 cun	n	
					Net Tot	al Quantity	2.629 cun	n	
			Sa	y 2.629 cum	@ Rs 6259	9.29 / cum	Rs 16	455.67	
	with 1:2:4 mix (1 ceme concrete 1:4:8 mix (1 plastering 12 mm thick neat cement and making aggregate 20 mm non design:Inside size 90% internal dimensions, to weight of frame 15 kg)	cement: 4  with cement  congressions  congre	coarse sand the mortar 1: in cement of inished with 45 cm deep f cover and non burnt cla	d: 8 graded 3 (1 cement concrete 1:2 a a floating of b including 0 frame to be ay F.P.S. (no	stone agging a coarse and a coarse agging and a coarse an	regate 40 m sand) finish nt: 2 coarse cement co with frame (I an 38 kg (w) bricks of clean Quantity and Quantity and Quantity	m nominal shed with floate sand : 4 graph	size,) insi ating coat raded sto er standa 55x610 n er 23 kg a attion 7.5	
5	19.8.1.1 Extra for depth for mar designation 7.5	nholesSize 9	0x80 cmWit	th common b	ournt clay F	.P.S. ( non r	modular ) bri	cks of cla	
		15	0.150				2.250		
					Tot	al Quantity	2.250 me	tre	
				То	tal Deducte	ed Quantity	0.000 me	tre	
					Net Tot	al Quantity	2.250 me	tre	
			Say 2	.250 metre @	® Rs 8504.	13 / metre	Rs 19	134.29	
6	od16381/2019_2020 Supplying and installir placing at the level be Capacity)					_	•		

		13						13.000	
						Total	Quantity	13.000 e	ach
				To	otal Ded		Quantity	0.000 ea	
					Net	Total	Quantity	13.000 e	ach
			Say 1	3.000 each (	@ Rs 47	7120.1	1 / each	Rs 61	2561.43
7	od16385/2019_2020 Supply all material a 7.6x2.40x2.45m using								
		1						1.000	
						Total	Quantity	1.000 ea	ch
			10	To	otal Ded	lucted	Quantity	0.000 ea	ch
			-1		Net	Total	Quantity	1.000 ea	ch
			Say 1.	.000 each @	Rs 485	5863.8	0 / each	Rs 48	5863.80
SI No	Description	No	1/ 1//	В	D		CF	Quantity	Remark
	10 EXISTIN	IG CLASS F	ROOM CON	VERTED TO	SMAR	RT CL	ASS ROO	М	
1	14.46 Removing dry or oil by papering and preparing					•		•	
•	Removing dry or oil by papering and preparing CLASS ROOM WALL	ng the surf		including n		ry rep	airs to so	•	
•	Removing dry or oil to papering and preparing CLASS ROOM WALL	ng the surf	594.000	including n	anisa	ary rep	pairs to so	594.000 288.000	c. comple
	Removing dry or oil by papering and preparing CLASS ROOM WALL	ng the surf	594.000	ing Org	anisa	tion Total	Quantity	594.000 288.000 882.000	c. comple
	Removing dry or oil by papering and preparing CLASS ROOM WALL	ng the surf	594.000	ing Org	anisa anisa otal Ded	Total	Quantity Quantity	594.000 288.000 882.000 0.000 squ	sqm
	Removing dry or oil by papering and preparing CLASS ROOM WALL	ng the surf	594.000 288.000	ing Org	anisa otal Ded	Total	Quantity Quantity Quantity Quantity	594.000 288.000 882.000 squ 882.000 squ	sqm
2	Removing dry or oil by papering and preparing CLASS ROOM WALL	the surf	594,000 288.000 Sa	To ay 882.000 s	ecessa anisa otal Ded Net qm @ F	Total ducted Total Rs 16.0	Quantity Quantity Quantity Quantity Quantity	288.000 288.000 882.000 0.000 squ 882.000	sqm sqm 4164.92
	Removing dry or oil to papering and preparing CLASS ROOM WALL CLASS ROOM CEILING	the surf	594,000 288.000 Sa	To ay 882.000 s	ecessa anisa otal Ded Net qm @ F	Total ducted Total Rs 16.0	Quantity Quantity Quantity Quantity Quantity	288.000 288.000 882.000 0.000 squ 882.000	sqm sqm 4164.92
	Removing dry or oil to papering and preparing CLASS ROOM WALL CLASS ROOM CEILING	c enamel particle coats of	288.000 Saint of appropriate of department of appropriate of appro	To ay 882.000 s	ecessa anisa otal Ded Net qm @ F	Total lucted Rs 16.0	Quantity Quantity Quantity Quantity Quantity	288.000 882.000 0.000 squ 882.000 Rs 1	sqm m sqm 4164.92 ur to an g
	Removing dry or oil to papering and preparing CLASS ROOM WALL CLASS ROOM CEILING	c enamel particle coats of	288.000 Saint of appropriate of department of appropriate of appro	To ay 882.000 so oved brand a	otal Ded Net qm @ F	Total Rs 16.0	Quantity Quantity Quantity Quantity ure of rec	288.000 882.000 0.000 squared color	sqm m sqm 4164.92 ur to an g
	Removing dry or oil to papering and preparing CLASS ROOM WALL CLASS ROOM CEILING	c enamel particle coats of	288.000 Saint of appropriate of department of appropriate of appro	To ay 882.000 so oved brand a	otal Ded And ma	Total lucted rotal Total Total Total	Quantity Quantity Quantity Quantity Of / sqm ure of reco	288.000 288.000 882.000 0.000 squared color 159.300 159.300	sqm m sqm 4164.92 ur to an g sqm m

		1	882.000				882.000	
					Tota	al Quantity	882.000 s	qm
				To	tal Deducte	d Quantity	0.000 sqn	า
					Net Tota	al Quantity	882.000 s	qm
			Sa	y 882.000 s	qm @ Rs 82	2.16 / sqm	Rs 72	465.12
4	Providing and laying water absorption less colours and shade, ir adhesive (water base (Payment for grouting	than 0.08% skirting, rise d) conformin	and conform or of steps, land g to IS : 154	ning to IS : 1 aid with cem 77, in avera	5622, of ap nent based h ge 6 mm th	proved brar nigh polyme ickness, inc	nd & manufa r modified c	acturer,in Juick set
		1	168.000				168.000	
			C.03		Tota	al Quantity	168.000 s	qm
			37 5	To	tal Deducte	d Quantity	0.000 sqn	<b>1</b>
		11		30/2	Net Tota	al Quantity	168.000 s	qm
		15	Say 1	68.000 sqm	@ Rs 1844	.90 / sqm	Rs 30	9943.20
SI No	Description	No	C) L(A)	В	D	CF	Quantity	Remark
	Providing and fixing 1500 mm made out of the best of White Color type Material sheet with an all round mounted or level to the bottom of coat of red oxide paid bands of 30 cm heigh foundation with M15 materials, equipmer satisfactory comple	f Type-XI endoe IV class Burea exceeding two 50 mm the board as and two court. The sign prograde concrete, machinery	retro reflecting 0.9 sqm fixed dia MS Piper approve the coats of 1 structured to 1 stru	ens type retrive sheeting xed over bace with clear ed drawings quality synfirmly fixed it mm x 450m r with all le	o reflective g fixed over ck support fi height of no . br>The sign thetic ename n to the ground mx 600 mn eads and life	sheeting wid 2 mm thick rame of M.S ot less than gn post sho nel paint Bla und by mea n, including ft,loading of	de. Base Shandle. Aluminium S.Angle 35 x 2.1 m from uld be paint ack & white ns of proper cost,conve	eeting sheeting sheeting sheet x 5 x 5 n the groued with one colour welly design yance of
	In driveway	2			9	g :	2.000	
			I	l .	Tota	al Quantity	2.000 eac	:h
				To	tal Deducte	-	0.000 eac	:h
					Net Tota	al Quantity	2.000 eac	h
			Say 2	2.000 each @	② Rs 11770.	.64 / each	Rs 23	541.28
2	od250263/2019_2020 Supply and fixing sticking signage letters shall leading	cker type sig	•	•			•	

	In class rooms	18	35.000	7.600	4788.000
	Labs	8	35.000	7.600	2128.000
	Workshops	12	35.000	7.600	3192.000
				Total Qua	ntity 10108.000 sqcn
				Total Deducted Qua	ntity 0.000 sqcm
				Net Total Qua	ntity 10108.000 sqcn
			Say 10108.0	00 sqcm @ Rs 0.69 / sc	qcm Rs 6974.52
	hooks & chains compl In admin area	ete work.	40.600	10.200	5797.680
			40.600	10.200	5707 690
		6	50.800	20.300	6187.441
				Total Qua	ntity 11985.121 sqcn
			सिर्मित सर्व	Total Deducted Qua	ntity 0.000 sqcm
	O	ther E	ngineering (	Organisations	ntity 11985.121 sqcn
			Say 11985.1	21 sqcm @ Rs 0.70 / so	qcm Rs 8389.58
4	,	eet will be	cut into size as pe	, ,	he required size for bu
			of work.		all material labour 1&i
	façade, grit wash, gyp		of work.	30.000	12000.000
	façade, grit wash, gyprequired for proper co	mpletion o		30.000	
	façade, grit wash, gyprequired for proper co	empletion of	100.000		12000.000 18000.000
	façade, grit wash, gyprequired for proper co	empletion of	100.000	60.000	12000.000 18000.000 ntity 30000.000 sqcn
	façade, grit wash, gyprequired for proper co	empletion of	100.000	60.000 Total Qua	12000.000 18000.000 ntity 30000.000 sqcm
	façade, grit wash, gyprequired for proper co	empletion of	100.000 300.000	60.000  Total Qua  Total Deducted Qua	12000.000  18000.000  ntity 30000.000 sqcm  ntity 30000.000 sqcm

	For main Buildings	4	100.000		30.000	0.9	10800.000	
		1	300.000		60.000	0.9	16200.000	
					Tota	al Quantity	27000.000	sqcm
				To	otal Deducte	d Quantity	0.000 sqci	m
					Net Tota	al Quantity	27000.000	sqcm
			Say 27	7000.000 sq	cm @ Rs 1.	60 / sqcm	Rs 43	200.00
6	od250267/2019_2020 Supply and fixing syn standard sizes as per signage will be either ceiling with the help of	nbol signag conventiona fixed on the	al design/ co e wall with th	lour code one help of s	n 3 mm thic crews & dou	k aluminiun	n composite	panel. T
		15	35.000	1638	7.600		3990.000	
			C.01			al Quantity	3990.000	sqcm
		1	CH 5	To	tal Deducte	d Quantity	0.000 sqci	m
		( k.		70 V A	Net Tota	al Quantity	3990.000	sqcm
		1/5	Say 3	3990.000 sq	cm @ Rs 0.	69 / sqcm	Rs 27	'53.10
7	od250268/2019_2020 Printing of floor plans acrylic sheet and 1" st	on approx. tuds comple	te. The floor	plans will b	e fixed on th	ink framing ne wall with		
7	Printing of floor plans	on approx. tuds comple	te. The floor	plans will b	e fixed on th	ink framing ne wall with		
7	Printing of floor plans acrylic sheet and 1" st double tape etc. to give	on approx. tuds comple ve neat & fin	te. The floor	plans will b	e fixed on the anisation	ink framing ne wall with	the help of	
7	Printing of floor plans acrylic sheet and 1" st double tape etc. to give Academic Building	on approx. tuds comple re neat & fin	te. The floor	plans will b	e fixed on the anisation	ink framing ne wall with ns	1.000 6.000 7.000 each	screws a
7	Printing of floor plans acrylic sheet and 1" st double tape etc. to give Academic Building	on approx. tuds comple re neat & fin	te. The floor	plans will b	Total Deducte	ink framing ne wall with ns	1.000 6.000 7.000 eacl	n
7	Printing of floor plans acrylic sheet and 1" st double tape etc. to give Academic Building	on approx. tuds comple re neat & fin	te. The floor	plans will b	Total Deducte	ink framing ne wall with ns al Quantity d Quantity	1.000 6.000 7.000 eacl 0.000 eacl 7.000 eacl	n n
	Printing of floor plans acrylic sheet and 1" st double tape etc. to give Academic Building  Old buildings	on approx. tuds comple ve neat & fin	te. The floor ished look	plans will bing Org	Total Deducte  Net Tota  @ Rs 1884.	ink framing ne wall with INS  al Quantity d Quantity al Quantity 96 / each	1.000 6.000 7.000 eacl 0.000 eacl 7.000 eacl	n n 194.72
SI No	Printing of floor plans acrylic sheet and 1" st double tape etc. to give Academic Building  Old buildings	on approx. tuds comple ve neat & fin  1  6	te. The floor ished look 1	plans will bing Org	Total Deducte  Net Total  @ Rs 1884.	ink framing ne wall with INS  All Quantity  d Quantity  al Quantity  96 / each  CF	1.000 6.000 7.000 each 7.000 each 7.000 each Rs 13 Quantity	n n n 194.72
SI No	Printing of floor plans acrylic sheet and 1" st double tape etc. to give Academic Building  Old buildings  Description  NEXURE 1 : FURNITUR	on approx. tuds comple ve neat & fin  1  6	Say	plans will bing Org	Total Deducte  Net Total  @ Rs 1884.	ink framing ne wall with INS  al Quantity d Quantity al Quantity 96 / each CF SS ROOMS	1.000 6.000 7.000 each 7.000 each 7.000 each Rs 13 Quantity (EST.NO:20)	n n 194.72 Remark 20/4068)
SI No	Printing of floor plans acrylic sheet and 1" st double tape etc. to give Academic Building  Old buildings  Description  NEXURE 1 : FURNITUR	on approx. tuds comple ve neat & fin  1  6	Say	plans will bing Org	Total Deducte  Net Total  @ Rs 1884.	ink framing ne wall with INS  al Quantity d Quantity al Quantity 96 / each CF SS ROOMS	1.000 6.000 7.000 each 7.000 each 7.000 each Rs 13 Quantity	n n 194.72 Remark 20/4068)
SI No	Printing of floor plans acrylic sheet and 1" st double tape etc. to give Academic Building  Old buildings  Description  NEXURE 1 : FURNITUR	on approx. tuds comple ve neat & fin  1  6  No  RE FOR MAI  ump-Sum To	Say L N BUILDING	To 7.000 each B AND EXIS	Total Deducte  Net Tota  @ Rs 1884.  D  STING CLAS	ink framing ne wall with INS  al Quantity d Quantity al Quantity  96 / each  CF  SS ROOMS  R	1.000 6.000 7.000 each 7.000 each 7.000 each Rs 13 Quantity (EST.NO:20) s 2911361.0	n n 194.72 Remark 20/4068)
SI No	Printing of floor plans acrylic sheet and 1" st double tape etc. to give Academic Building  Old buildings  Description  NEXURE 1 : FURNITUR  SI No Description	on approx. tuds comple ve neat & fin  1  6  No  RE FOR MAI  ump-Sum To	Say  L  N BUILDING  otal  No  AL, ELV, HV	To 7.000 each B AND EXIS	Total Deducte  Net Tota  @ Rs 1884.  D  STING CLAS	ink framing ne wall with INS al Quantity d Quantity al Quantity SROOMS R D	1.000 6.000 7.000 each 7.000 each 7.000 each Rs 13 Quantity (EST.NO:20) s 2911361.0	n n 194.72 Remark 20/4068) Quantity
SI No	Printing of floor plans acrylic sheet and 1" st double tape etc. to give Academic Building  Old buildings  Description  NEXURE 1 : FURNITUR  SI No Description  13 ANNEXURE 2 :	on approx. tuds comple ve neat & fin  1  6  No  RE FOR MAI  ump-Sum To  cription  ELECTRICA	Say  L  N BUILDING  otal  No  AL, ELV, HV	To 7.000 each B AND EXIS	Total Deducte  Net Tota  @ Rs 1884.  D  STING CLAS	ink framing ne wall with INS al Quantity d Quantity al Quantity SROOMS R D	1.000 6.000 7.000 each 7.000 each 7.000 each Rs 13 Quantity (EST.NO:20 CF (EST.NO:20	n 194.72 Remark 20/4068) Quantity 020/4070
SI No	Printing of floor plans acrylic sheet and 1" st double tape etc. to give Academic Building  Old buildings  Description  NEXURE 1 : FURNITUR  SI No Description  13 ANNEXURE 2 :	on approx. tuds comple ve neat & fin  1  6  No RE FOR MAI ump-Sum To cription ELECTRICA ump-Sum To	Say  L  N BUILDING  otal  No  AL, ELV, HV	To 7.000 each  B AND EXIST	Total Deducte Net Total @ Rs 1884. D STING CLAS	ink framing ne wall with INS al Quantity d Quantity al Quantity SS ROOMS CF SS ROOMS R	1.000 6.000 7.000 each 0.000 each 7.000 each Rs 13 Quantity (EST.NO:20 cF (EST.NO:20	n n 194.72 Remark 20/4068) Quantity 020/4070
SI No  12 ANI	Printing of floor plans acrylic sheet and 1" st double tape etc. to give Academic Building  Old buildings  Description  NEXURE 1 : FURNITUR  LI SI No Description  LI SI No Description  LI SI No Description  Description	on approx. tuds comple ve neat & fin  1  6  No RE FOR MAI ump-Sum To cription ELECTRICA ump-Sum To	Say  L  N BUILDING  otal  No  AL, ELV, HV  otal  No  14 C	To 7.000 each  B AND EXIST AC AND FILE	Total Deducte Net Total @ Rs 1884. D STING CLAS	ink framing ne wall with ITS  al Quantity d Quantity al Quantity 96 / each CF SS ROOMS R D IG WORKS	1.000 6.000 7.000 each 0.000 each 7.000 each Rs 13 Quantity (EST.NO:20 cF (EST.NO:20	n n 194.72 Remark 20/4068) Quantity 020/4070 Quantity

Amount reserved for GST payments	6175117.39
Total	57634429.39
Lumpsum for round off	70.61
	TOTAL Rs 57634500.00
	Rounded Total Rs 5,76,34,500
Rupees Five Crore Seventy Six Lakh Thirty	Four Thousand Five Hundred Only

(Cost Index Applied for this estimate is 48.71%)

